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Q.No: 1 In which season Kharif and Rabi Crops are grown respectively?
2426876

TE 3R T Bt BOd HA: [T AgH 7 IS S 72

Winter, rainy

A
wdf, svra
Summer, rainy
B
T, seEE
Rainy, winter
C
T, Ff
Spring, summer
D

Taq, Tt
Correct Ans : C

Subject : General Knowledge

Q.No: 2 When the prize was first created, only novels written by Commonwealth, Irish and South African (and later Zimbabwean) citizens were
2426990 eligible to receive the prize. This statement refers to which of the following awards?

e QREPR UGl IR G T AT, Had APHS, SRR 3R SR0r sipiet (3R a1g & Rnared) TRet gR fifad Iu= € IR U R & U
Ig Fo Fafarad 3 ¥ e R § wefid 82

Grammy Awards

A
prilcice]
Booker Prize
B
P RIPR
Pulitzer Prize
C

IR R

D Right Livelihood Award
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3T AIZANGS 3HATS
Correct Ans : B

Subject : General Knowledge

Q.No: 3 Unnat Jyoti by Affordable LEDs for All (UJALA) was launched in which year?
2427379

T & T APISae Tase! (Iome) gRT Ioid S fbg Iy gR= o1 7 o

2017
A

2017

2015
B

2015

2012
C

2012

2014
D

2014

Correct Ans : B

Subject : General Knowledge

Q.No: 4  Aajeevika - National Rural Livelihood Mission (NRLM) was renamed as Deendayal Antyodaya Yojana in which year?
2427418

freiifaeT - TPtT Trivr Sreifaet fARM (NRLM) &1 M deerax 69 av e siciieg e o= faar mare

2017
A

2017

2018
B

2018

2020
C

2020

2015
D

2015

Correct Ans : D

Subject : General Knowledge

Q.No: 5  Which conference established the International Monetary Fund (IMF) to deal with external surpluses and deficits of its member nations?
2428872



forg THaa 3 ot Tew I & a6 SR SR U e F forw SRl g1 Py (SMETHTw) @ RiTeET F?

United Nations Monetary and Financial Conference

A
g g e SR fafra wwes
G-77
B
S-77
Bretton Woods
C
ELRE Ul
Daniel Andrews
D

e tgaw
Correct Ans : C

Subject : General Knowledge

Q.No: 6  The Great Depression was the worst economic downturn in US history. It began in which year?
2428873

TR Sifke! sfaer &) Ied WRIe anffes wdt oft| T forw 9 = gam?

1932
A

1932

1929
B

1929

1940
C

1940

1931
D

1931

Correct Ans : B

Subject : General Knowledge

Q.No: 7 What is the correct full form of GVA?
2428885

ShidiT &1 9 $a i T 82

Gross valuation addition

I IR TERA

Gross valuable added



PIGKC GG LR

Gross value added

e 3 ISs

Gross value able

7 I Tad
Correct Ans : C

Subject : General Knowledge

Q.No: 8 Sinhala is the official language of which among the following countries?
2428932

Rigd(Sinhala) Fafifad & ¥ g Sz B ISH B2

Nepal
A
ELIG]
Myanmar
B
HHER
Bhutan
C
e
Sri Lanka
D
sfreiet

Correct Ans : D

Subject : General Knowledge

Q.No: 9  Which is the largest tomato producing country in the world?
2429059

%y &1 qo8 ST THIY IUGH SU P T E ?

Russia
A

4

USA
B

..

China
C

Gt

Canada
D



Correct Ans : C

Subject : General Knowledge

Q.No: 10 The Sunda Strait connects which sea to the Indian ocean?
2429060

YT vasHqY 5y 9% &I fig MENIFR  Siedr 8?2

Java Sea
A

ST 9 R

Red Sea
B

ol 9P R

Arabian Sea
C

SRR AR

Bali Sea
D

qreft 9FR

Correct Ans : A

Subject : General Knowledge

Q.No: 11  When was the Environment Protection Act passed?
2432150

TieRY WRevT R Be wid garr?
1945

1945
1956

1956
1937

1937
1986

1986
Correct Ans : D

Subject : General Knowledge

Q.No: 12 For which of the following work, Bhikaji Rustom Cama is known?
2433579

fFofafed & ¥ f5g o & R el S ST BT ST o1 872

A for unfurling the Indian national flag



R T e wEee & Rig

for founding Indian Home rule Society

B
33T 3 o sl I R & forg
for demanding the Bengal division
C
e fauTeE Ft | & g
for supporting the British government
D

fafew TReR &1 90dq w31 & forw

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Hunter Commission of 1919 was constituted to examine which of the following incidents?
2433589

¥ 1919 H geR 3N &1 e+ Fufifad & | 59 g &t S o & forg fan mar ure

Vernacular Press Act

A
TATRIER N Tae
Jallianwala Bagh Massacre
B
SIRAiaTa 91T AREER
Kamagatamaru revolt
C
PHRTEHR fa5ie
Champaran Satyagraha
D

TURYT HATIE
Correct Ans : B

Subject : General Knowledge

Q.No: 14 Rohit Sharma replaced Virat Kohli as India's new captain of which format?
2437129

faRTe Pigell Bt STe AR T URA F 5T URST F ¢ HEH 7

T20
A

& 20

One Day International
B

TS $eATHA

C Test Match



A

T20, One Day International and Test Match

120, TS SEARA 3R & A

Correct Ans : D

Subject : General Knowledge

Q.No: 15 Tamang Selo folk song is associated with which of the following states?
2440756

THT I A a Faffed & @ ey Iow @ g 32
Chhattisgarh

A
BRI
Gujarat
B
ToRTd
Karnataka
C
FHle®
West Bengal
D
LIECERIG]

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Where can one find the magnificent palace of Bir Singh Dev?
2441198

SR Rig 29 &1 YU Aed Hal 87

Datia

gfern

Indore

R

Orccha

Bhopal

Hrurea

Correct Ans : A

Subject : General Knowledge



Q.No: 17 Where is Dhuandhar waterfall located ?

2441344
YITYR STAYUTT Bel T 372
Jabalpur
A
SR
Panchmarhi
B
LELC
Pench
C
g
Khandwa
D
gsar

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Ustad Allauddin Khan Saheb was from ____ city of Madhya Pradesh.
2441402

I AL G TT6d AU & BRI

Indore
A

R

Bhopal
B

ure

Maihar
C

AR

Gwalior
D

ECHSEN

Correct Ans : C

Subject : General Knowledge

Q.No: 19 Who is the author of the “The Bloomsbury Anthology of Great Indian Poems” ?
2776138

e seeR) TRIETST 3 e Sfsa Gow & dae i 82

A Apoorva Kumar Singh



agd AR Rig

Amit Shah
B
ffha =g
Abhay Kumar
C
ST PUR
Arun shourie
D

30T TR

Correct Ans : C

Subject : General Knowledge

Q.No: 20 Where is the headquarter of the world health organization (WHO) ?
2776139

3% @reg 98T (WHO) &1 §@iTer &gl 82

Japan
A
S
Venezuela
B
Switzerland
C
United states
D

Tga ey kT
Correct Ans : C

Subject : General Knowledge

Q.No: 21 The tides and waves of oceans could be harnessed to generate-
2422844

TR & SOR 3R dex &) ST PR S 1T IuaNT fobam s Jebvell &-

Energy and electricity

A
St oY faereft
Gulf

B
@rst

C Minerals



Heat

it

Correct Ans : A

Subject : General Science

Q.No: 22 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine
2429275 these two statements carefully and select the correct answer to the question from the given options.

Assertion(A): Solid waste is a major issue in today's world.

Reason(R): It pollutes both the soil and the water.

= Fufiiad vy § S ouF € B8 3 Ue &) ey iR R &1 "SR &% =0 d9d o T
3TTD] 37 AT P B WAUHIGID S Bt & 3R U 7T fJepedl T F Uy &1 g6l S A1 81

BT (A) : O BRI S B g & Teb TE T B
PR (R) : T8 gt oiik ot St ) v = 21

Both A and R is true

A
T 3R 3R 1 9 §
Both A and R is false
B
T 3R IR Y s ¥
A is true but R is false.
C
T U § AP IR T B
A is false but R is true.
D

T 3 § AP R T4 71
Correct Ans : A

Subject : General Science

Q.No: 23 Which of the following do not have a differentiated plant body?

2429831
fFrafefea & @ fead Rnfd ueu =¥k 78 82
thallophytes
A
Iefiprgea
bryophytes
B

ATApTSCH



gymnosperm

s

pteridophytes

EiSEr]

Correct Ans : A

Subject : General Science

Q.No: 24 Suresh encounters an organism having bilateral symmetry, closed circulation and metameric segmentation. Help Suresh figure out, that
2429904 the animal is

IR fgueia ToReTdr, o uRERe SR AemRe faure aret Sfia &1 9raaT a1 81 R &1 T8 Ul aT § TETaa &1 98 SHaR §

A Mollusca
A

TS HiAwHT

An Annelida
B

T QST

An Echinodermata
C

T $Rrtsder

Nematode
D

AP

Correct Ans : B

Subject : General Science

Q.No: 25 The percentage of in the atmosphere is said to have doubled since the industrial revolution when human beings started burning
2431690 o) fuels on a very large scale.

FE AL B aAaRO B %1 ufawid ol Hifd & a1 & SR 81 T § e MG 7 SiaTRd S 6 9gd 9 9 IR Sa R 3R A
nitrogen
A
BLCEE]
carbon dioxide
B
P SRATHITES
atmospheric ozone
C

qRgHS Sl

D oxygen



STeRiTerT
Correct Ans : B

Subject : General Science

Q.No: 26 Marine fish capture is done by fishing nets guided by :

2431721
Y Aol b BT B R PR mad uhen & Sa gRT e o 3|
echo sounders and satellites
A
TP ASSY ok earseH
virtual imaging
B
STHTAT FARHAT
drones
C
g
submarines
D

Correct Ans : A

Subject : General Science

Q.No: 27 Amoebiasis is a disease in which the pathogen affects the -
2434292

SfiaTaRig T T 3 © RrEd Ay gHiad B € -

Heart
A
krekal
Lungs
B
PER B
Intestine
C
3 I
Brain
D
aferss a1

Correct Ans : C

Subject : General Science

Q.No: 28 Water cleared off sludge in Waste Water Treatment Plant (WWTP) is known as -
2434346



SURY S IR GIT (WWTP) H 3Tte F gysh fahd T4 Ut ) HeT ol © -

Pure water

A
TS U
Clarified water
B
frfdftpa ot
Reclaimed water
C
T: fAffa v
RO water
D
SRS Ui

Correct Ans : C

Subject : General Science

Q.No: 29 Above__ the noise becomes physically painful to human ears.
2434577
e & g ¥ FW BT IR IRING ¥ ¥ &1 gl el g
10dB
A
10dB
30dB
B
30dB
50 dB
C
50 dB
80 dB
D
80 dB

Correct Ans : D

Subject : General Science

Q.No: 30 What is the molecular formula for chalk?

2437202
T BT VD T T 82
Ca(OH):
A
Ca(OH);

B CaCOs



CaCQs

Ca(504)
C

Ca(504)

CaHCOs
D

CaHCOs

Correct Ans : B

Subject : General Science

Q.No: 31 In which of the following regions is the ozone layer found?
2439841

3ieiF R Frafafed # @ feg dea # urft ot 82

Thermosphere
A

TE agHsT

Stratosphere
B

JHATT Hed

Exosphere
C

afeHsa

Troposphere
D

& e

Correct Ans : B

Subject : General Science

Q.No: 32 Which of the following crops is not typically associated with the Zaid season?
2783651

FraRiEd & ¥ B @ pad AR W Sue 9w § 99t el 82

Watermelon

A
et
Cucumber
B
@R
Sunflower
C

ot



Bitter gourd

BT

Correct Ans : C

Subject : General Science

Q.No: 33 Which of the following is an example of a plant that reproduces asexually through rhizomes?
2783797

fFafifd & ¥ ©F-91 Y &1 IS0 § S Udhal &b A1y § 3difiie T F Yo &l 8?2

Strawberry
A
wrad
Daisy
B
TasER
Fern
C
B
Apple tree
D
AT BT g8

Correct Ans : C

Subject : General Science

Q.No: 34 Which of the following statements is NOT true about Linnaeus's system of classification?
2784632

fafrerg @t arfferor youmelt & IR & Faffed § ¥ 99 91 vy 99 T8 82

Linnaeus's system is based on a hierarchical structure.

A
fafeRT &Y yoel Te veTgw it IRTHT UR STeTRd B
Linnaeus's system uses binomial homenclature to name species.
B
farfrera 3t yomeht yenfaat & = F R v e $1 IuE w7
Linnaeus grouped together organisms that shared obvious physical traits, such as number of legs or shape of leaves
C
fafera 3 ¥ <iat 91 v a1y JufRd far R Ty wmdifee aaor, 99 R ) den ar o 1 eR, TuE A1
Linnaeus's system of classification is based on the theory of evolution and considers the evolutionary relationships among
organisms.
D

ferfrera @1 afferzor vumeht farrare & Rigia W snufiia g iR Siiat & Si= faerard! Gt W faar wedt 21

Correct Ans : D

Subject : General Science



Q.No: 35 Which of the following parts does not participate in asexual reproduction?
2784712

Frfifad § ¥ SH-91 4T i usHe & | T8 dar 82

Stolon
A

HFRT

Rhizome
B

U

Flower
C

R

Tuber
D

g

Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?
2422633
8 16 24 35 40 48

el H ITAd H BT Udl Ae?

8 16 24 35 40 48

8
A

8

24
B

24

35
C

35

48
D

48

Correct Ans : C

Subject : General Reasoning

Q.No: 37 Find the odd word out.
2424534



3T eg BT T BT

Pupil
A
LK
Iris
B
Imgia
Cornea
C
wifar
Medulla
D

Agan

Correct Ans : D

Subject : General Reasoning

Q.No: 38 Find the odd word out.

2424540
ST s BT TFT BIToT |
Rickets
A
fraew
Anaemia
B
St
Typhoid
C
CIRPIRS
Scurvy
D
&t

Correct Ans : C

Subject : General Reasoning

Q.No: 39 In the diagram, Triangle represents Dogs, Circle represents Cats and Rectangle represents Parrots.
2426585

Which number shows the people who has either Dogs or Cats but not Parrots?



G H, By it 1 ufaffea wva1 8, 39 et o1 vl FRar § 9k smaa 9 &1 ufaffa a2

1

HH o e 37 A Bl gifelt ¥ o a3 o faweht € afe a A €2

27
A

27

8
B

8

19
C

19

15
D

15

Correct Ans : A

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Sun, Moon and Galaxy?
2426733



Correct Ans : B

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like
2427791 \yhich the paper will appear when unfolded.

._.‘L__

L= =]

19 T T Uy Sl B U HIS & ghe B HIST 3R HIel T, & T I B F fAped H ¥ 3 IR P BT I9 B, o1 fF WIS R F1R M
FITS BT Wi TR MR Tt

F= ==

._:{'__ :




(= O

(=] O

Correct Ans : C

Subject : General Reasoning

Q.No: 42 A piece of paper is folded and cut as shown below in the questions figure. From the given answer figures, indicate how it will appear when
2427801 opened?

Question Figure
; i
i |
........... gyt

ANsSwer rigure

>4 &) [dH] 5%

(a) (b) lc) (d)

TH PTG & ¢Hs B ST T 3R 39 YHR HIeT T ST U= S1pfa B Teiid g1 & 718 SaR il § ¥ J1d 3 fob I8 o & 918 1 Yaiia g

Question Figure
T T

W T 1

X

>4 G 8B 5%

(a) (b} )] (a)

(a)
A (a)

(b)
B (b)

(©)
¢ (©)

(d)
D (d)

Correct Ans : C

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like
2427802 \yhich the paper will appear when unfolded.

I U T Uy MBI T Uk PN P THS B HST 3R Prel T 7, & TE IR NPl & fabedl # I 3T IR MBI &7 907 IR, o1 i A4S 3R &1 g
PITS B WA W AP T



Correct Ans : A

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like
2427816 \yhich the paper will appear when unfolded.

_————

F U 7T Uy BT H U FIS F S B HIST 3R FreT T 7, & TE IR NP F el H I 39 IW MBI BT 99 IR, T fF IS SR B MY
BT B WA W AP T



#

Correct Ans : C

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like
2427831 \yhich the paper will appear when unfolded.

I U U Uy 3pfa H TP HI & ThS BT WIST 3R HIeT T 7, 2 T8 IR NP & e § ¥ 3T IR NP HT I099 HY, oW1 b A1 3R P 7Y
FHITS B Wi W AP Tt

-.-4‘-- u__ﬁ__ ril_____l

>
(a0 O




£
i
8
§
g
§
:
g

s
2

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Which answer figure will complete the pattern in the question figure?

2433182

Vi |

Y

i
L\ ?
FHH-T W BT UY P B U BT T Hf?

—~

I
1

L/




|
B
|
[
C
[
|
D
|

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.

=
&
B
&

“
=




=
B
=
B
»
N

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Complete the question figure by choosing the best alternative from the answer figure.

2433556

IWR NPT TV I 3V Ahed TR Uy Mpia & [ S

Pay



D
D
-
3¢
C®
X
Q)
)

Correct Ans : A

Subject : General Reasoning

Q.No: 49 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434909
121:9::256:7

39 ey &7 909 I o R TR ¥ S TR e d § O gus) T, vga W ¥ e 7l

121:9::256:7

18
A

18

14
B

14



13
10

10
Correct Ans : B

Subject : General Reasoning

Q.No: 50 Identify the classes that best represents the relationship among the given diagram.

2435564

!

37 AT Bt gEE B o foU TN S & oY TeY BT Jo 33T Ul #Rd B

N

!

Red, Blue, Magenta

A
Rhombus, Quadrilateral, Polygons
B
oEgUs, g, Ty
Reptiles, Lizard, Lion
C
a3, s, 2R
Cricketer, Footballer, Indian
D

frheR, Peater, YR

Correct Ans : D

Subject : General Reasoning

Q.No: 51 Identify the diagram that best represents the relationship among the given classes.
2435676
Water, Hydrogen, Oxygen

I ARG P Uga B o T 7T AT & S JeY 67 o 33T Ui a7
U, gTESoF, SiRieH



Correct Ans : C

Subject : General Reasoning

Q.No: 52 Study the following information carefully and answer the question that follow.
2726834

If *>'" denotes '+, ‘<’ denotes '-’, *+’ denotes ‘+’, ‘@’ denotes ‘'x’, *-’ denotes ‘=’, *x’ denotes ‘>’ and ‘=’ denotes ‘<’, Choose the correct
statement in each of the following questions.

& T TFER B S S IR R I T UY &I W a-
g > @1+ < B el -, BT e @ T e @ erf = e T 3 s IR = T o < B Y, R fou T U A § 9t e -

6+3>8=4+2<1

6+3>8=4+2<1

4>6+2x32+4<1



4>6+2x32+4<1

8<4+2=6>3

8<4+2=6>3

14+7>3=6+3>2

14+7>3=6+3>2
Correct Ans : C

Subject : General Reasoning

Q.No: 53 Study the following information carefully to answer the question given below-

2727041 In an Exhibition seven cars of different companies - C, A, F, M, Me, B and Fa are standing facing to north in the following order - C is next
to right of Fa. Fa is fourth to the right of F. M car is between A and B. F, which is third to the left of A, is at one of the end.
Three of the following four are alike in a certain way based on their position, which of the following does not belongs to that group?
fufafed THeRt @1 wrgde sieeH #R A1 Gl T Uy 37 IW |
T vERH # faft Hufel @1 9 SR - C, A, F, M, Me, B 3R Fa Fafifd #H A S Bl SR qU RS TSI & - C, Fa F U F@ H FI Fa, FH g0 &
M VARIIMIR, ARBFITHATIF, o 5 A F 91 e B, 5t 06 BR R 3
e aR 7 ¥ &9 5 UoR 3 U THE § SR SuT THE 9910 €1 98 P § o 59 THg A =i A gl 82
F
A
F
M
B
M
Fa
C
Fa
C
D
C

Correct Ans : A

Subject : General Reasoning

Q.No: 54 Study the following information carefully to answer the question given below-
2727053
Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the highest

marks is given rank 1 and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more marks
than E but less than D. B got the second least rank and F got the second highest rank, C got less marks than A.

Who got third lowest marks?



Fufafea THeERt @1 wrgde sieeH #R AR Gl T Uy 31 W S|

BEBHA, B, C, D, E 3R F F&m & i B8 I& ardl &1 [l < afcadl &1 THH 3 U e g3l Ta i 3 U R ardl O &I ¥ 1 & et
T IR U Y 3 U A a1 S HI b 6 & SH g1 B B C 3R F H I 1 3 A 81 A 31 E F 31fiss af D ¥ &1 oics i €1 B &1 gt
T B 3P e iR F &) gt e S=rad 3o el ¢ & A T 39 i i

TR wo HH i fhwa! firerd 82

c
A

A
B

A
C

E

B
D

B

Correct Ans : A

Subject : General Reasoning

Q.No: 55 1In the following question below are given, some statement followed by some conclusion taking the given statement to be true even if they
2727104 seem to be at variance from commonly known facts, read all conclusion and then decide which of the following conclusion logically follow
the given statement.

Statement:

Some Dogs are cats.

All cats are Pets.

No pet is wild.

Conclusion:

(I) Some pets are wild is a possibility.

(II) Some Dogs are wild.

A2 feu U Uy & $7 FUF 3R 3P §18 I HUA W UG T Fwy 3T U 71 gl S8 W Jd a2 § Ry 8 gadt 81 3t freed g fR
fFRufika % f ou o o ¥ frepy, fou 70 ST & 31uR W gfeasT 8

BY:
TT T faed B

Tt feett Urerq 21

DI A STl e 21

forem:

(1) T U & ST B9 B I B
(I1) $& F el 3

Only conclusion I follow

Fad frepd 1 SrgaRT AT @

B Only conclusion II follow



Fad frepy 1T 3ERl FaT §

Both conclusion follow

QI P srgeRvT wva §

None conclusion follow

P1g frepy Srgavor Y Fear &

Correct Ans : D

Subject : General Reasoning

Q.No: 56 Twonumbers A and B are such that the sum of 5% of A and 4% of B is two — third of the sum of 6%
2422264 f A and 8% of B. Find the ratio of A - B.

B A ARBTU USSP AD 5% ARB D 4% T AR - A H 6% HRB P 8% & AT
H15-f8TE 31 A - B &1 UG A BT |

2:3
A

2:3

1:1
B

1:1

3:4
C

3:4

4:3
D

4:3

Correct Ans : D

Subject : General Maths

Q.No: 57 Find the rate of discount being given on a shirt whose selling price is Rs. 546 after deducting a discount of Rs.104 on its marked price.
2422313

T I W & M arell Y B R 19 BITE 5P 3ifhd Ted TR 104 39T B ge Pied & q1¢ [AHd Jed 546 I B

15%
A

15%

16%
B

16%

20%



20%
18%

18%
Correct Ans : B

Subject : General Maths

Q.No: 58 1In a class there are 30 boys and 24 girls. The ratio of boys to girls is:
2429460

TP el H 30 TSP 3R 24 TSHAT &1 TSHT 3R TSfbaT BT U &

7:6
A

7:6

6:5
B

6:

5:4
C

5:4

3:2
D

3:2

Correct Ans : C

Subject : General Maths

Q.No: 59 The ratio of ages of Rita and her mother is 21 : 28. At the time of Rita's birth her mothers age was 28 year. Find the present ages (in
2429493 years) of Rita and her mother.

a1 SR ITB! T P MY BT U 21:28 §1 a1 S o F T ITD! A BT 1Y 28 ¢ ot | T 3R I A BT g 3 (Inf /) 1 i

55,86
A

55,86

75, 100
B

75, 100

85,120
o

85,120

84, 112
D

84,112

Correct Ans : D

Subject : General Maths



Q.No: 60 Nitya deposited Rs. 1200 in a savings bank. The bank offered 12% simple interest per annum. How much interest does Nitya earn in 5
2432815 yeqrs?

A 3 T 59d % H 1200 FU 5 U 96 3 ufd 9 12% FURY SO Bt QS BT 5 Fied F FAem @) o s forerar 82

680
A

680

960
B

960

720
C

720

840
D

840

Correct Ans : C

Subject : General Maths

Q.No: 61 The simple interest accrued on an amount of Rs 10000 at the end of 5 years is Rs 5000. What is the rate of interest % p.a?
2432884

5 9% & 3fd H 10000 FUY B AR W {RAdT YR sl 5000 T B | AT B GR% Ui a8 1 872

14%
A

14%

10%
B

10%

29%
C

29%

53%
D

53%

Correct Ans : B

Subject : General Maths

Q.No: 62 g . " " . o
2433004 What will come in place of question mark (?) in the following question?

g of 75% of 840=?



Rerfataa o 3 757 =27 (2) F 2009 97 F497 @7

840WTS%W§=?

884
A

884

882
B

882

886
C

886

892
D

892

Correct Ans : B

Subject : General Maths

Q.No: 63 If I bought a watch of Rs. 5000 and paid 6% tax and 12% tax on Rs. 15000 mobile phone. So I paid approximately how much tax on both
2435201 the jtems?

& B 5000 TUY B UL WA 3R 6% T TR GHMAT T 15000 T F HGST BH R 12% oo IHMAT, O B ST aegsit IR TAT e e
IHM?

2y
18-%

Zg
183 %

1529

1529

102%

Correct Ans : C

Subject : General Maths



Q.No: 64 Income ratio of A and B is 3 : 2 and their expenditure ratio is 1 : 2. If A saves Rs. 400 & B saves Rs. 100, then find income of B.
2435435

A 3R B P 31T T U 3 : 2 B 3R ITehT o7 MU 1 : 2 71 A A 400 U 3R B 100 FUA AT & dl B B 41T J1d B3|

Rs 300
A

300 U@

Rs 385
B

385 0

Rs 350
C

350 U@

Rs 475
D

475 ¥0Q

Correct Ans : C

Subject : General Maths

Q.No: 65 If the price of a BMW car increases by 10%. and if it's new price becomes 755,370 then what will be its old price?
2437810

T U BMW R P BIAT 10% ¢ Sat &1 3R 3R TP T3 BIAT 755,370 B o1l © < SHH! QR BIAT 1 SHir?

580,000
A

580,000

600,000
B

600,000

686,700
C

686,700

650,000
D

650,000

Correct Ans : C

Subject : General Maths

Q.No: 66 A man borrowed some money at the simple interest rate of 12 % p.a. He paid Rs. 5400 interest only for the period of 3 years. What was
2439129 the horrowed amount?

& S A 12% Ufaay &} WURU &6 &R R 5 AR IYR | 394 3 9 &1 3af) & U Faad 5400 ITA & < &1 YTaH fobar
IR o T A 1T FR?

A Rs. 12000



12000 FTd

Rs. 18000
B

18000 ¥TA

Rs. 15000
C

15000 393

Rs. 16000
D

16000 ¥T3

Correct Ans : C

Subject : General Maths

Q.No: 67 A sum of Rs 12,500 amounts to Rs 15,500 in 4 years at the rate of simple interest. What is the rate of interest?
2439154

12,500 I P Teh MR YR SIS P X F 4 981 A 15,500 T &) Sell &1 SO & T 87

8%
A

8%

5%
B

5%

9%
C

9%

6%
D

6%

Correct Ans : D

Subject : General Maths

Q.No: 68 A merchant buying goods abroad at a discount of 33.33% on the catalogue price has to pay import duty of 20% on the net cost of goods,
2730413 (ggjize a profit of 25% on his outlay, what must he charge for an article priced Rs.228 in the catalogue?

T 7o W 33.33% B ge R G I A1 TieH ard Uh TR S 1A Bl g AT R 20% BT AT Yoob &1 ISl 8 , df It H 228 TUT Y arait
& a% & oY 34 1 Y a1 11T ifch a8 U URSTd WR 25% BT AT YT He?

228
A

228

322
B

322

C 317



317

Cannot be determined

fruffea 7€ foar s goar

Correct Ans : A

Subject : General Maths

Q.No: 69 The principal amount and the total amount deposited at simple interest for 4 years is in the ratio of 2 : 3. What will be the compound
2781078 jnterest if Rs. 20000 is deposited for 2 years at the rate which is 2.5% less than the rate of simple interest?

e AR SR 4 a5t & AU YR IS TR T B TS FA AR 2 : 3 F U B 31 A Thdia S J1d PO S 20000 F 2 I F T I R W T
fopar ST & S WYRO S B R 2.5% HH 2

Rs. 3900
A

Rs. 3900

Rs. 4200
B

Rs. 4200

Rs. 4500
C

Rs. 4500

Rs. 5210
D

Rs. 5210

Correct Ans : B

Subject : General Maths

Q.No: 70 A cylindrical vessel of radius 3.5 m is full of water. If 15400 litres of water is taken out from it, then the drop in the water level in the
2781235 yegsel will be?

= 3.5 Hier BT UF ITER Fa U F W17 g3 71 afe T F 15400 Hex ur FAepran St 8, @ ITER §6d & o &R H ot fRmae gefie

72 cm

72 I

40 cm

40 9t

35cm

35 9t
60 cm



60 I

Correct Ans : B

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426641
18-8x4+3+9=-27

fou T Tt &1 WEt 9 & for foee < Semsil @1 Sy & Sean o aifgu?

18-8x4+3+9=-27

18 and 3
A

18 3R 3

8 and 4
B

8 3R 4

3and 9
C

339

9 and 4
D

93k 4

Correct Ans : A

Subject : Mental Ability

Q.No: 72 How many dots are there on the face opposite the face with two dots?

B9
gr f§g3T arer we & TWid e W s &g 8

nzlsslucles

1
A

1

5
B

5

4
C



6
Correct Ans : D

Subject : Mental Ability

Q.No: 73 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be
2430227 trye even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from
the given statements. Indicate your answer.

Statements: The accident in which the person was run down by a bike yesterday had again focused attention on the most unsatisfactory
state of roads.

Conclusions:
I. The accident that occurred was very dangerous.

I1. Several accidents have taken place because of the unsatisfactory state of roads.

fFrafifed vy 8 3 By iR I9F a1 3l e (1) 8iR (1) 2T 7T €1 U Y= & I HFAT €, Ya & 3 IMa: T1d aat ¥ i uedid 81a 81 smuast
g 79 1 ¢ T faw u freewsf & @ 1 1, afe B 21, 3T T o=t BT Ure T 81 30 IR BT TG B

HY: TS goel, o 16 fad &) Hd a6 I Fad a1 T o7, 3 R I gl & gad sridivere Ry iR e Sisd fawar am
e

1. S gefeT g8 9% 9gd TR At

1. oI B W9 RIFY F FROT 5 IR gl & gt )

Only conclusion I follows

A
Fad Frepy 1 SFHRT BT
Only conclusion II follows
B
Faa freed IT SrFERr Har @
Either conclusion I or II follows
C
a1 Y s 1 97 11 SERYT FRaT @
Both conclusion I and II follow
D

e 1 3R 11 ST SR Fed ¥
Correct Ans : D

Subject : Mental Ability

Q.No: 74 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be
2430236 trye even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from
the given statements. Indicate your answer.

Statements: The best source of India's beautiful past is the growing popularity of Ayurvedic medicines in the West and South.

Conclusions:



I. Ayurvedic medicines are not popular in Asia.

II. Allopathic medicines are more popular in the world.

e o & 3§ S iR 9P 91 3l ey (1) iR (11) ou 7T €1 ! S 1 U AT 8, W &) @ Jrge: 1d at ¥ i edia 819 81 e
g T B § T fou 7 st & § 19 1, Al H1 |, 3T T HU= 61 ureH HRar 31 ST IR HT T R

FYF: YRT S TR 3ielid BT Jad w31 Ad Ui iR o 7 sgdfes qarsh @t ggdt AT 31
fors:

1. 3Mgdfee any uRmn & diefia 78 ¢

11. TR gary gfar & eifie aeita g

Only conclusion I follows

A
Fad Frspy 1 SFER0T T 8
Only conclusion II follows
B
Fad frepd 1T 3Rl FIaT &
Either conclusion I or II follows
C
a1 ot forepd 1 a7 11 3R He B
Neither conclusion I nor II follows
D

7 dt e 1 3R T & 11 rgeR PRt @
Correct Ans : D

Subject : Mental Ability

.No: 75 . . . . . e . .,
(22436531 What will be the value of the following equation if *=° means ‘addition’, “+* means “subtraction”,

means ‘multiplication” and ‘x’ means “division™?

72x9-3=8+2="
fFrafaf@d wieor &1 A= @ gen afg = &1 7T S, & T Eer, - & AT Ao

R x' FT T HmET B
72%x9-3+8+2="

30
A

30

35
B

35

25
C

25



40

Correct Ans : A
Subject : Mental Ability

Q.No: 76 If 26 March falls on Tuesday, on what day will the 8 of the month fall?
2437409

I 26 TE HIAAR &I TS 8, A 7N 3T 8 TR fpy o waite

Sunday
A

faar

Friday
B

FhdR

Tuesday
C

HIeAR

Wednesday
D

qYarR

Correct Ans : B

Subject : Mental Ability

Q.No: 77 If the day after tomorrow is Sunday, then what day is today?

2437430
Ife TRE! AR B AN o I W A 72
Friday
A
hAR
Thursday
B
TFaR
Monday
C
HHaR
Tuesday
D
LUGEIN

Correct Ans : A

Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller cubes
2438453 paye exactly three painted faces?



T U Bl e fbar o1 8 SR 64 BIe IR THE Al ¥ Hiet oIl 8, o wel #t gAan Wug W g1 o B uHl & S ofiF ) g was 82

6
A

6

8
B

8

10
C

10

12
D

12

Correct Ans : B

Subject : Mental Ability

Q.No: 79 Complete the following series
2438773

75075, 25025, 5005, 715, ?, 5

Fafafea g o1 w1
75075, 25025, 5005, 715, ?, 5
225

225

365

365
156

156
65

65
Correct Ans : D

Subject : Mental Ability

Q.No: 80 A boy said to a girl ‘your mother’s husband'’s sister is my aunt’. How the girl is related to boy?
2439340

T TSF 3 U ASH! U Bl ‘TR T & Ul B 957 B o/ AR ¥ 1 ISP ASd I P Tefd g7

Sister



Aunt
B
ardt
Wife
C
Tt
Daughter
D
ECl

Correct Ans : A

Subject : Mental Ability

Q.No: 81 If four cats can kill four rats in 4 minutes, how many minutes will take Eight cats to kill Eight rats?
2442245

g, IR fafmat 4 e & IR <8l & AR I&dt € dF 3ie iRl e =gt &1 AR & fban wwg ot

8
A

8

4
B

4

2
C

2

16
D

16

Correct Ans : B

Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442754
CANDIDATE

U U iy wsal H ¥ 97 Wt gL SN T T Weg & 1eRT BT TERT IR G ST S el

CANDIDATE
Date

A
Date
Candid

B
Candid

C Dean



Dean

Team

Team
Correct Ans : D

Subject : Mental Ability

Q.No: 83 Directions: In the question below is given a statement followed by two conclusions numbered I and II. You have to assume everything in
2442898 the statement to be true, then consider the two conclusions together and decide which of them logically follow beyond a reasonable doubt
from the information given in the statement.

Statement:

I: A huge crowd gathered at the JP stadium to watch the singer perform live.
II: JP stadium has a capacity of 1 lakh people.

Conclusion:

I: Not more than 1 lakh people attended the concert.

II: The singer is very popular.

fordan: S e & &) 7y 3T 35F g [ A 1 W 380 o ey fE3 7 €1 3maeeT T3 T et @ 5o AT 8, He 67 F A
Tt & 3T 9T Bl & | IO FifEE T T o et § @ slaayslad Tt T o2at Ff a93iEs ol 91 ] & Ot
T H HTTOT ST &/ T G

Fe

I: st ®2fETa & a1k 7 Agd ede due & U gt e 7 oy ghdr g%

I1: =idr TEfEwa & &7FaT 1omE cafeaat & aae &7 &

e

I: 1mmﬁaﬁ#mmmﬁmﬁ=ﬂﬁaﬁ§m

I1: a1 @5 wiohiod &

Only conclusion I follows

A
Pad frepd I SFER0 HaT @
Only conclusion II follows
B
Fae Frspd IT SE0 HaT &
Both conclusion I and II follow
C
s 1 iR 11 Y SrgeRY Fva &
None of the conclusions follow
D

P1E W Frad srgaRor 78 Far 21

Correct Ans : B

Subject : Mental Ability

Q.No: 84 1In the following question, select the related number from given alternatives.
2727627

56:41::94:7?



FafaRed we # fou U fiwedl & § defta S &1 ghu

56:41::94:7

60
A

60

49
B

49

75
C

75

40
D

40

Correct Ans : B

Subject : Mental Ability

Q.No: 85 Given below are capital letters in the first line and symbols in the second line. Symbols and letters are code for each other. Choose the
2782043 (orrect code for given letters.

A|JC|IE|G|IH|I|OINIP|IR|T|S|B]D M
rl-l=x[=[(Ohltls[nlal[t[>]<
PARROT

19 & S IRl A uedh ufeq o ST auftTar & 99 R 3R gER) Ufdd F udies fou MU §1 Ul iR 31ER TH W F PIS ¢
f3T 7T a1aRY & T T Pl BT 7T B2

A|CIE|G|H|I|O|IN|P|R|[T|S|B|D| M

+[-[+IxT=Th [t lsTulalr]>T<
PARROT
]+$$)1
A
]+$$)!
]+ $$[ !
B
]+ $$ [N
c

]+ &&[!



]+ && [ !

[1+&!1]

[1+&!1]

Correct Ans : A

Subject : Mental Ability

Q.No: 86 Three lightships flash simultaneously at 8:00 a.m. The first lightship flashes every 24 seconds, the second lightship flashes after every 60
2427197 seconds, and the third lightship every 132 seconds. At what time will the three lightships next flash together?

I TTEefRu gag 8:00 T UH WY IHS! &1 UgH! TRICRY &R 24 Vs T IHHGT 8, IR ARV &R 60 Jbs H TAGA g, 3R ARt arsel & 132
Acbs T TG B TS T SR 5w T7g Ueb Ty Twb?

8 am 18 minutes

A

8 am 18 fiFew

8 am 22 minutes
B

8 am 22 fiFey

8 am 10 minutes
C

8 am 10 ﬁF-EW

8 am 25 minutes
D

8 am 25 fiFew

Correct Ans : B

Subject : General Aptitude

Q.No: 87 . 1 2 4
2427259 Find the HCF of 4 5 5 = and 79 .

.
4&, 5?3#{7% &1 HCF 9id e

37
A

37
B 1



315

53
C

53

61
D

61

Correct Ans : B

Subject : General Aptitude

Q.No: 88 A man goes a distance of 250 km in 5 hours by bike. Calculate its speed in km/hr.
2427279

TH e Heursiod ¥ 5 8¢ & 250 foordt @t g8 7 wvan g1 ffly/ser & g9t nfa &1 7 31a S

40 km/hr
A

40 foHi/der

50 km/hr
B

50 et/ der

90 km/hr
C

90 faft/ver

45 km/hr
D

45 feHi/der

Correct Ans : B

Subject : General Aptitude

Q.No: 89 A car covers a distance of 144 km in 2 hours. Calculate the speed of car in m/s.
2427338

TP R 2 6 & 144 5t ) g8 Tu Bt 31 H/A § R 3T AT I 701 PR

20 m/s
A

20 #i/9

35 m/s
B

35 W/d



25 m/s

C
25 M/Q
5m/s
D
5 W/

Correct Ans : A

Subject : General Aptitude

Q.No: 90 If two trains each having length of 225 m are running in opposite direction to each other in the same parallel lines having speed of 80
2427373 km/hr and 64 km/hr respectively. Calculate the time in which they cross each other completely.

g 225 Hex F} FaTS are & Yamiear wHR 80 fordi/Her ok 64 fth/wier &t nfy areh ToHIR argt & Ueh-geR & fawid faxn & 9a & ¥
T T § TH-gW B If R | UR Fd &, I aR H O R

12.33s
A
12.33 9%
25.45s
B
25.45 &S
12.5s
C
12.5 AHs
8.88 s
D
8.88 AFS

Correct Ans : C

Subject : General Aptitude

Q.No: 91 If the angles of a pentagon are in the ratio 1 : 3 : 6 : 7 : 10, then the smallest angle is:

2431201

TE GaYS & B HAR: 1:3:6: 7 : 10 H 30 & 8, A T BheT 10T &

30°
A

30°

324
B

320

278
C

28

20°
D

209°

Correct Ans : D

Subject : General Aptitude



Q.No: 92 What should come in place of the question mark (?) in the following question?
2432020

(4 % 4P+ (512 + 8) % (32 x 8)* = (2x2)™*

fFofaRad uy & vears o (?) & RIM W a1 37 A1fu?

(4% 4P+ (512 + 8)* x (32 x 8) = (2x2)™*

8
A

8

12
B

12

6
C

6

14
D

14

Correct Ans : C

Subject : General Aptitude

Q.No: 93 A and B Can finish a work together in 30 days. B and C can finish the same work together in 24 days and A and C can finish the work
2436080 together in 40 days. If all three Work together. how long Will it take them to complete the Work?

A 3R B U &M &I 30 1 B Q7 IR Thd §1 B 3R C IH & &Y 24 AT & T R Thd § 3R A 3R C e I &M &Y 40 T & 1 R T B
g i T WY FTH IR 7, A IT B R A F fbd q9g e

15 days
A

15 T

10 days
B

10 f&

20 days
C

20 fa=

5 days
D

5 faq

Correct Ans : C

Subject : General Aptitude



Q.No: 94 A can do a work in 20 days, while B can do the same work in 25 days. They started the work jointly. Few days later C also joined them
2436088 an{ thus all of them completed the whole work in 10 days. All of them were paid total Rs.700. What is the share of C?

A Tt Bl @Y 20 T B % T 3, el B 52 &1 &Y 25 o § o Govdl 81 I UG TU A S HY R 3w Al
P9 Al & 1g ¢ ff I Ty e 8 T 3R 39 e F g Tuuf & @t 10 T H @R BRa Bl I Tt B A Rs. 700 BT YA T Al
C o1 fReR foraet 82

Rs.75

Rs.75

Rs.55

Rs.55
Rs.70

Rs.70
Rs.65

Rs.65
Correct Ans : C

Subject : General Aptitude

Q.No: 95 Ganesh, Ram and Sohan together can complete a work in 16 days. If Ganesh and Ram together can complete the same work in 24 days,
2436110 then the number of days Sohan alone takes, to finish the work is-

0T, I 3R e AR ot &7 Bl 16 T § R B Tohd §1 3 70 3R I e ST BM Bl 24 TF H R B IHd & A e b 39 A
B R B H fam o i

40 days

40 &

48 days

48 fa=
32 days

32

30 days

30 fea

Correct Ans : B

Subject : General Aptitude

Q.No: 96  If the 8-digit number 179x091y is divisible by 88, the value of (5x - 8y) is:
2436200

Tfe 8-3fIg WA 179x091y,88 ¥ fIUTT B, & (5x - 8y) BT AFNIT B3|



A

4

7
B

7

9
C

9

5
D

5

Correct Ans : A

Subject : General Aptitude

Q.No: 97 Two cards are drawn at random one after another without replacement from a pack of 52 playing cards. Find the probability that they will
2444111 consist of a red king and a red queen.

52 1Y & Txil & U Uobe § Saal forl U & o1 T Uefwds ©0 J ol Tx ol Sid 8| Uiiehdl T 1T fob I8 Teb ared 1eTT 31R T aret 1 gt

4

443

663

Correct Ans : D

Subject : General Aptitude

Q.No: 98 How many 3-digit even numbers can be formed with no digit repeated by using the digits 0, 1, 2, 3, 4 and 5?
2444380



0,1, 2,3, 4 3R 5% gRT T foreht sics Y gRrafal ford) et i siat @t I T 118 o Tl &2

56
A

56

54
B

54

52
C

52

50
D

50

Correct Ans : C

Subject : General Aptitude

Q.No: 99 What should come in place of question Mark ‘?’ in the following number series?
2444746

12, 21, 39, 75, 147,

Frefafea J= Saar & U=A g 2/ & RIF W F&1 ST

12, 21, 39, 75, 147,

273
A

273

291
B

291

283
C

283

263
D

263

Correct Ans : B

Subject : General Aptitude

Q.No: 100 The perimeter of a square, the perimeter of an equilateral triangle and the circumference of a circle are equal to 132 cm. Which shape
2730255 (oyered maximum area?

TF T BT IR, THawaTg Y &1 aRka ok T 39 31 uRfY 132 I & ReR 81 {59 anepfa 3 siftieaw &7 &1 HaR o gan 82

Square

if



Circle

B

qd

Triangle
C

Brgs

All of the given option
D

few e 9ot fawew

Correct Ans : B

Subject : General Aptitude



MPESB 2024

Police Constable Recruitment Test - 2023 - Reports

Testdate 01 Sep 2023 v

TestSlot Shift 1 v

Q.No: 1  Magsaysay Award was established by which of the following trustees?
2426989

AR REHR F RO Fufifed § § 5 o) gr1 31 7 o

Rockefeller Brothers Fund

A
(PR Fad bs
ARM Trustees
B
TIHREH THT
International Award for Young People
C
a1 it & g siRffia R
CSU Trustees
D

Hewy gw=t
Correct Ans : A

Subject : General Knowledge

Q.No: 2 Which among the following is the main Colour of the National flag of Nepal?
2428931

fofifRd & § & w1 Jurd & AT @ B ger ¥ §?

Pale White
A
e wbhg
Dark Green
B
TR &R0
Crimson Red
C
o Yo (Righ @men)
Light Orange
D

goBT ARt
Correct Ans : C

Subject : General Knowledge

Q.No: 3 What does P stands for in the term DPIIT?
2430689

DPIIT Ug & p &1 @ 31 872

A Product

Submit
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Place
B
@
Promotion
C
IR
Price
D
LIEL)

Correct Ans : C

Subject : General Knowledge

Q.No: 4 The Department for Promotion of Industry and Internal Trade (DPIIT) was established in the year
2430690

I Td SHiaRe R Had faun (Srdemensdh) ot v a9 T3 e R
1975

1975
1985

1985
1995

1995
2005

2005
Correct Ans : C

Subject : General Knowledge

Q.No: 5  Which is the premier investigating agency of India?

2431459

YR BT TG SF T i I B2

National Crime Records Bureau
A

P IRty TS R

Central Board of Indirect Taxes and Customs
B

Fha e FR SR T e S

Central Bureau of Investigation
C

Fila wig SR

Enforcement Directorate
D

yad+ R

Correct Ans : C

Subject : General Knowledge



Q.No: 6 Which is one of the largest river basins of the world, covering an area of 11,65,000 sq. km?
2432097

11,65,000 T et & B1 HaR H aTell AT B T IS e Wiiedt # A TP B A 82

Ravi
A

I

Krishna
B

o

Kosi
C

P

Indus
D

Riy

Correct Ans : D

Subject : General Knowledge

Q.No: 7 Who among the following started “Home rule league” in September 1916 in Madras?
2433578

Frofafed & ¥ fras RideR 1916 & 75w & "8 &0 @1 & 312

Annie Besant

A
o ade
Lala Lajpat Rai
B
AT AT T
Mahatma Gandhi
C
wgTeT Wi
V D Savarkar
D

4t St wTaReR
Correct Ans : A

Subject : General Knowledge

Q.No: 8  Who among the following gave the famous slogan "Do or die" during the “Quit India Movement”?
2433588

Fofifed 3§ ¥ fFam "YRd B! sfieia" & SRM "SR 1 TR" BT Uikig TR @ ur?

Lal Bahadur Shastri

A
ATe TETIgR ATt
Mahatma Gandhi
B
wgre i
Rabindra Nath Tagore
C

Iz 1Y JR

D Chandra Shekhar Azad



TR TG
Correct Ans : B

Subject : General Knowledge

Q.No: 9 What is the rank of India in the world in the production of agrochemicals? (Only from the given options)
2434460

P IR F I | HRA BT 734 H HF 91 RIF & 2 (Fad QT T et 7 F)

First
A

uyq

Second
B

fadta

Third
C

g

Ninth
D

Hai

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Which of the following planets is nearest to the Sun?

2437246
Frofafed & 4 o1 o 95 o & 90 Fee 82
Mars
A
HiTel
Mercury
B
94
Venus
C
Ricd
Saturn
D
oy

Correct Ans : B

Subject : General Knowledge

Q.No: 11 Population control and family planning comes under which list of seventh schedule of Indian Constitution?
2437338

SR T SR UfaR e YRdg Sy o aradt oge 3 i gt & siarfa oimar 82

State List
A

T et

Union List
B

e it

C Concurrent List



Tt gt

Red List

GIGE:Cif
Correct Ans : C

Subject : General Knowledge

Q.No: 12 Which state has the second highest population as per the Census 2011?

2437339
2011 B SIVAT & IER 5y Io0 B e g Tad Sifie 22
Uttar Pradesh
A
I W™
Bihar
B
fer
Andhra Pradesh
C
iy R
Maharashtra
D
HERTY

Correct Ans : D

Subject : General Knowledge

Q.No: 13 In which year did the British army captured the fort of Chouragarh?

2441130

fofe=r 31 7 forg of IRTTg & fFd R Foom foram ar?

1815
A

1815

1816
B

1816

1817
C

1817

1818
D

1818

Correct Ans : D

Subject : General Knowledge

Q.No: 14 In which of the following places of Madhya Pradesh is the Badi Gufa, a 10th Century cave, situated?
2441343

e e & FEfeied ¥ ¥ 59 ®M W 104 v B 5t T Rid 82

Panchmarhi

e



Sanchi

B

i

Amarkantak
C

SHRBCPH

Bandhavgarh National Park
D

TiyaTg AP SA
Correct Ans : D

Subject : General Knowledge

Q.No: 15 Goddess Sati’s necklace is believed to have fallen at _____ in Madhya Pradesh.
2441401
T 1 8 6 S weht &1 BR v vew B H R T
Ujjain
A
Io
Chitrakoot
B
Rege
Omkareshwar
c
PR
Maihar
D
AR

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Burrakatha folk dance is performed in which of the following states?
2442376

Riey A% Ja Pl & ¥ e v o o w82

Karnataka
A

FHfed

Andhra Pradesh
B

ST T

Tamil Nadu
C

afrerrg

Maharashtra
D

HERTY

Correct Ans : B

Subject : General Knowledge

Q.No: 17  Where is the headquarters of IMF and World Bank situated?
2442412



IMF 3R fay §& &1 gEay we fd 82

Washington DC

A
qTiiTeT S
New York
B
Louisiana
C
Detroit
D

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Which State has won the Most Film Friendly State Award at the 68th National Film Awards for the year 2022?
2443200

¥ 2022 ¥ 687 TP rer PR & 5w T 7 Walies fred og@d T T GRHR Sidl 82

Meghalaya
A

Aurag

Uttar Pradesh
B

IR WS

Maharashtra
c

HERTY

Madhya Pradesh
D

T Y™

Correct Ans : D

Subject : General Knowledge

Q.No: 19 Buland Darwaza is located in which of the following district?

2776136
Feie axaren Fafaied # § e o & R 82
Bhopal
A
rarer
Delhi
B
fewett
Hyderabad
C
FwmEe
Agra
D
SITRT

Correct Ans : D

Subject : General Knowledge



Q.No: 20 Chief Justice of the Supreme Court is appointed by the

2776137
e B¢ & T g B gl EREIRIGIE]
Prime Minister
A
ECIEE ]
President
B

regufa

Speaker of the Lok sabha

C
AP YT F 3redel
Governor

D
TeqyUTel

Correct Ans : B

Subject : General Knowledge

Q.No: 21 In thermodynamics, which process includes no heat transfer in or out of the system?
2425910

Syl §, i uftear & Ried & 3R a1 916R $18 T gaiaRor iy et 82

Isochoric Process

A
ITFEBING ufear
Isobaric Process
B
HWeE &g ufsear
Adiabatic Process
C
e ufsean
Isothermal Process
D

goreHa ufear

Correct Ans : C

Subject : General Science

Q.No: 22 Which country is the leading producer of spices?

2429274
TG BT TG IATGH S P AT 872
India
A
YRA
china
B
Cin|
myanmar
C
HiHR

D bhutan



e
Correct Ans : A

Subject : General Science

Q.No: 23 Which one of the following characters is seen in the monocot plants?

2429830
Fafifed o § SH-91 0 TP gl J 3@ o g2
trimerous flowers
A
e wa
pentamerous flowers
B
Yo g
prominent primary roots
C
LECRISIEEA N
strong stems
D

ToIgd o H
Correct Ans : A

Subject : General Science

Q.No: 24 is incorporated into life forms through the basic process of photosynthesis which is performed in the presence of Sunlight by all life forms that contain
2431689 chlorophyll.

TR AW BT A P S WA Y Siad-&ur B e foar o 8, S g & e 7t Suikifa § saRiftee gad et sho-ut R fasar S 21
nitrogen
A
ATggrer
carbon
B
Eace]
hydrogen
c
QESIER!
magnesium
D

iRy

Correct Ans : B

Subject : General Science

Q.No: 25 Which of the following is the local variety of bees used for commercial honey production?
2431719

HGIAF WEe e & o 7 F & HiF & =i fw o) gyafeed) o1 Suan e s 82

Apis cerana indica

e &R sfeeT

Apis majora



ofer kT

Apis mellifera

wfw Aferdser

Apis nectarius

iy ARRaw
Correct Ans : A

Subject : General Science

Q.No: 26 Which of the following is a part of the respiratory system?
2432511

fFafafad & § S 4T & &1 Ub U 8?2

aorta

wgTeH=t

pharynx

IR

urethra

ant

bile duct

fore et

Correct Ans : B

Subject : General Science

Q.No: 27 In which of the following ways can HIV spread?
2434291

Frafafea # 3 few i & wa.oms. . e qeba 82

Hugging an infected person

A
T Wepiia e o T I
Shaking hands with an infected person
B
wepfea wfea & g1 e
Sharing food or utensils with an infected person
C
Jshfird cafed & 1Y WISt a1 S A8 HAT
Sexual contact with an infected person
D

Tepftr cafed & T1Y 4 Hudh

Correct Ans : D

Subject : General Science

Q.No: 28 Which of the following can act as sedatives and tranquilizers?
2434342

fufifad & § o IHE R bR & 0§ S HR Jahdl 82

A Amphetamines



Coffee
B
EaLal
Barbiturates
C
arfdgyes
Cocaine
D
Eacat

Correct Ans : C

Subject : General Science

Q.No: 29 If we heat water, it will contract till the temperature of -
2434571

IR e TN B T IR E, AT ___ AIHH a9 Ripe -

49K
A
4°K
40¢
B
40¢
2.7349C
C
2.7340C
50K
D
50K

Correct Ans : B

Subject : General Science

Q.No: 30 Sodium metal should be stored in -

2437153
e U1g BT USRI F3AT AT -
water
A
it &
the open
B
AR
kerosene
C
FARE |
alcohol
D
epigd |

Correct Ans : C

Subject : General Science



Q.No: 31 Which one of the following is produced during the formation of photochemical smog?
2439840

BT §F BIeR & T & T 9 F F HH-TT TP I il 82

Methene
A
A
Nitrogen oxide
B
GG V- SHRIES
Nitrogen sulphide
C
ATEEINH HeBIES
Nitrogen sulphide di mono sulphide
D

ATEE IS AEPISS STE HiHl TePEs

Correct Ans : B

Subject : General Science

Q.No: 32 A shark does not have.......
2440076

gill slits
A

TAwS

swim bladder
B

o =y

ventral mouth
C

W g

placoid scales
D

WHigs T
Correct Ans : B

Subject : General Science

Q.No: 33 What is the class of Salamander?

2440093
JerieR forg o 1 32
Amphibian
A
SUTW
Chordata
B
P3er
Animalia
c
RR!S

D Salamandra



HATHT
Correct Ans : A

Subject : General Science

Q.No: 34 Choose the correct seasons for Rabi, Kharif and Zaid crops

2783650

&, Blw SR ST W & R wet wew I

Rabi- Monsoon; Kharif- Winter; Zaid- Summer
A

- aR; @hw-udl; e - W

Rabi- Summer; Kharif- Winter; Zaid- Monsoon
B

- Hw; @dw-wdl; g - A

Rabi- Winter; Kharif- Monsoon; Zaid- Summer
C

-udl; THE-uRE; we - i

Rabi- Summer; Kharif-Monsoon; Zaid- Winter
D

Idi- Hor; @Ew-ATRE; WE -
Correct Ans : C

Subject : General Science

Q.No: 35 What is the mode of reproduction in the image/jpg where new individuals are formed from specialized outgrowth?
2783796

Budding
A
Taifea
Fragmentation
B
fadsa
Pollination
C
WA
Vegetative propagation
D

TIYfd AR

Correct Ans : A

Subject : General Science



Q.No: 36 Find the wrong term in the series?

2422631
70-80 63-72 28-32 54-62 14-16
gl & TTed Y &1 Idl TI?

70-80 63-72 28-32 54-62 14-16
70-80

A
70-80
63-72

B
63-72
28-32

C
28-32
54-62

D
54-62

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424539
SR WeE BT T4 BHIfeTq
Lucknow
A
TGS
Varanasi
B
JRTU
Haridwar
[o
BRER
Kanpur
D
PR

Correct Ans : C

Subject : General Reasoning

Q.No: 38 In the given diagram, Triangle represents the Actors worked in Hindi films, Circle represents the Actors worked in Bengali films and Rectangle represents the Actors
2426584 orked in Tamil films.

Which number shows the Actors who has worked only in Bengali films?

fu o e &, Ay &) fherlt & B B3 a1 fMarel &1 ufiffc wear 8, g Sl fbedt & o 6 ard siftAdrelt o1 ufafifia e € ok smad aftd fhedt & & B ardt
st &1 afafifie wRar 1



FHH-T1 AR 37 siftarei H eifar ¥ e Haa st feed § o far g2

9
A

9

5
B

5

6
C

6

1
D

1

Correct Ans : C

Subject : General Reasoning

Q.No: 39  Which of the following diagram indicates best relation between Doctor, Teacher and Postman?
2426732

iR # § B 1 oRE SiaeR, Rigd 3R Sfear & s Te o Yy $ i 82

olle

| ol
@
@
QUO
Quo

Correct Ans : B



Subject : General Reasoning

Q.No: 40 Which is the wrong number in the following number series?
2429726

25, 50, 75, 100, 127, 150

i e gaan § $H-4 de Ted 82

25, 50, 75, 100, 127, 150

50
A

50

127
B

127

100
C

100

150
D

150

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.

aflelr |l -

39 faded &7 T899 B of O Sl I I TR e 7 o UeR gust pfa, ugat snepfa § e 71

afle[lr |l -

®




2

A

Correct Ans : C

Subject : General Reasoning

Q.No: 42 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433456

Problem Figures

APPLE[|VBblrE|:|BALLS|| ?

Answer Figures

BALLS|[|STIVE| [BVITZ| |21]A8

(a) () (€) (d)

I fashey &1 7o AR o Tt pfar F S UHR Weifdd 3 o UeR gERt agpfa, Teeh ol & el B
U9 IR :

APPLE[|VbbIE |:|BALLS || ?
IR ET
BALLS||STIvE| |BVITZ2| |21]A8

(a) (b) (e) (d)

(a)

(a)
(b)

(b)
(c)

(c)
(d)

(d)
Correct Ans : C

Subject : General Reasoning



Q.No: 43 Complete the question figure by choosing the best alternative from the answer figure.
2433555

FWR BT H Y I i [Thed TP T 3Pl B [T Fiforg|




Correct Ans : A

Subject : General Reasoning

Q.No: 44 In the following question, select the odd number from the given alternatives.
2435057

fafafad vy & fiou T fawedt & ¥ fawg S &1 997 Sifu)

2040
A

2040

4705
B

4705

6874
C

6874

5412
D

5412

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Identify the classes that best represents the relationship among the given diagram.

3 AT B TeEH B o U T 3R & i YeiY BT Yo 33T Ul #Rd g

@

Jain text, Vinaya pitaka, Mahayana Sutra

A
9 uTe, famg fiew, wer™ 9
Magesthanes, Tripitaka, The Agamas
B
e, Aftes, smmrE:
Buddhist, Indica, Tripitaka
[o
s, RF1, Pftes
Vedas, Regveda, Kaamveda
D

9g, H1g, WIS

Correct Ans : C



Subject : General Reasoning

Q.No: 46 Identify the diagram that best represents the relationship among the given classes.
2435675
Sea, Island, Mountain

39 3T B UgEH I o T 7 AN & ot ey b1 G 3T ufaffii wRar 21
Tz, §, wdd

Correct Ans : C

Subject : General Reasoning

Q.No: 47 How many squares are in the given figure?
2437676

@ TS ongpfar F fpem vl 82



13

A

13

20
B

20

16
C

16

23
D

23

Correct Ans : C

Subject : General Reasoning

Q.No: 48 Find the number of triangle in the given figure.
2438122

A

& 7 amepfa F Biys Y e 91a SR

A

24
A

24

25
B

25

26
C

26

28
D

28

Correct Ans : B

Subject : General Reasoning



Q.No: 49 Find the number of triangle in the given figure.

2438134
& T sl & Ay P IEm @ ST
6
A
6
7
B
7
5
c
5
8
D
8

Correct Ans : B

Subject : General Reasoning

Q.No: 50 DIRECTIONS: In the given question find the answer figure in which question is embedded.
2442055

Question Figure:

X

Answer Figures:

EKIK|A R

fa) (b) (c) (d)

e : o oy § 97 I g I FIR R vy erpfa Pl B



KX AR

(a) (b) (c) (d)

figure (a)
3P (a)

figure (b)
3THfa (b)

figure (c)
PR (<)

figure (d)
3MFa (d)

Correct Ans : D

D

Subject : General Reasoning

Q.No: 51 DIRECTIONS: In the given question find the answer figure in which question is embedded.
2442056

Question Figure

)

Answer Figures

8|6V

ia) (b) (c) (d)

e : fou e vy B 98 SR Sl J1a Bifo forad uy sepfa ffta 31
U761 3Pic-

0

86|V

(a) (b) (c) (d)

figure (a)
3THfd (a)
figure (b)
HTPi (b)
figure (c)
PR (c)
figure (d)
3Tpid (d)

Correct Ans : A

D

Subject : General Reasoning

Q.No: 52 In a certain code Language, ‘ELECTRIC’ is written as ‘FMFDUSID’. How is ‘NATIONAL' written in same code ?
2726848

T fAf¥d Bl W #, 'ELECTRIC' &1 'FMFDUSID' ferar Sram 81 It e HTor H 'NATIONAL' &1 {5 UoR forar smarm?

A BOUJPOBM



BOUJPOBM

OBUJOPBM
B

OBUJOPBM

OBUJPOBM
C

OBUJPOBM

OBJUPOBM
D

OBJUPOBM

Correct Ans : C

Subject : General Reasoning

Q.No: 53 Consider the following statements and arguments numbered I and II. You have to decide which of the arguments is/are strong argument.
2727081

Statement:

Cell phones and smartphones are they safe for us?

Arguments:

(I) Yes, this gives us all online information.

(II) No, this is not fully protected because the complete solution of cyber hacking not get till now.

Frafafed HuAl oIk o 18R 11 R AR $R 1 SIS I8 T A1 § & HH-91 9% Teigg b /8
B

YA TN TCHIA- 7 T8 TR o JRAE 82

b

(1) &, T8 5 Tt TRE B THHR AT IuTH A

(11) &Y, T8 O @R QRIET e § i WgeR 3 1 O e ¥ TAE onft a A iy urm 1

Only argument I is strong

A

Faa ab I 7egd &

Only argument II is strong
B

Fqq b II 99d §

Both arguments I and II are strong
C

Y 9 I 9T II Aelgd &

Neither argument I nor 11 is strong
D

1A qF 1 A1 b 11 Aeed §
Correct Ans : B

Subject : General Reasoning

Q.No: 54 In the given question a statement followed by two assumptions numbered I and II have been given. Consider the given statements to be true even if it seems to be
2727082 4t variance with commonly known facts and then decide which of the assumptions is/are implicit in the statement disregarding commonly known facts:

Statement:

In the recent state assembly elections, the one party which was also big party of the state in previous elections got lost in the recent elections.
Assumptions:

(I) It may be possible that public of the state not happy with the work of previous government.

(II) It may be possible that previous government done too scams in their tenure.



& T vy ¥, TP U S Y < QYR 1 97 11 & Tt 1 39 B Bl I TR U 8 I8 I 1d a2l 3 f 4t 1 81 smuet gg M e 8 5 e |y
T gdeRom erafed 22

B

BTE & 59 GHT TG, T Uit ot et g & Ta 9t oref oft @t g1 & % g9 # gR )
gderom:

(1) B Il B, IT BT ST IS TWPR F $H J T 1 81

(11) B Tl 3, Uzt WeR 7 o Brfw & 9gd dierd {5 g

Only assumption I is implicit

A
Faa qFuURT I TR §
Only assumption II is implicit
B
Faa qEURT 11 R &
Either assumption I or II is implicit
C
7 & qdurRon 1 91 11 SrafifRa #
Both assumptions I and II are implicit
D

S qdYURoMY 1 T 11 3rafifRa §
Correct Ans : D

Subject : General Reasoning

Q.No: 55 In these question, relationships between different element are shown in these statement. These statement are followed by two conclusion.
2727103

Statement:

R>M=N=K _ N=P>L >T

Conclusion:

(DR>L

(IHM>L

vy H, Fo H it dal & o s axifar R B Ude A & a1e @) e g R
FY:

R>M=N>K,N=P>L >T

fors:

(HR>L

(IHM>L

Only conclusion I is true

A
Faa freed 1 98 2
Only conclusion II is true
B
Faa freed 11 98 §
Both conclusions are true
c
g fred T @
None of the conclusions is true
D

1§ ot frepdf wet et §
Correct Ans : A

Subject : General Reasoning



Q.No: 56 Two students appeared at an examination. One of them secured 9 marks more than the other and his marks were 56% of the sum of their marks. What are the
2422263 marks obtained by both of them?

3 BT T W B AT §U I A TH A gV 9 9 3ifle U {5 SiR SUS i, IF Sl & TN BT 56% AT I I gRT UG S oM &2

39,30
A

39,30

41,32
B

41,32

42,33
C

42,33

43,33
D

43,33

Correct Ans : C

Subject : General Maths

Q.No: 57 Ap ore contains 12% copper. How many kilograms of the ore are required to get 6%kg of copper?

2422312
T D T 12% AET oIl 5| 69 avat| il Iy aoet o T fape fopaiind 3R &1
ATl §Ic 57
580
A
580
585
B
585
590
C
590
575
D
575

Correct Ans : D

Subject : General Maths

Q.No: 58 The boys and the girls in a school are in the ratio 46 : 14. If total strength of the school be 3000, find the number of boys and girls.
2429459

TH Whd H TSd 3R APl T UM 46:14 B I Whd B $a WA 3000 &, A A iR TSHaT Bt TEm J1d il

500,2500
A

500,2500

2300, 700
B

2300, 700

C 1200,1800



1200, 1800
1000, 2000

1000, 2000
Correct Ans : B

Subject : General Maths

Q.No: 59 The ratio of ages of Sonu and her mother is 12 : 15. At the time of Sonu's birth her mothers age was 30 year. Find the present ages (in years) of Sonu and her
2429492 . other.

TR 3R SHT AT BT I BT AU 12:15 81 T & SH & G99 39! Af I 3% 30 ¥ ot Wi iR ITT A B g 3mg (ast #) 71d P

55,86
A

55,86

75, 100
B

75, 100

85,120
C

85,120

120, 150
D

120,150

Correct Ans : D

Subject : General Maths

Q.No: 60 A sum fetched a total simple interest of Rs. 4000 at the rate of 10% p.a. in 5 years. What is the sum?
2432814

TH AR TR 5 a6 & 10% U a9 BF & ¥ 4000 FUA HT F AYR T YT ol IR .y g2

2000
A

2000

4000
B

4000

6000
C

6000

8000
D

8000

Correct Ans : D
Subject : General Maths

Q.No: 61 What would be the simple interest obtained on an amount of Rs 9535 at the rate of 12% p.a. after 4 years?
2432883

9535 JUY B AR W 12% U a¢ $ R F 4 9 S1¢ U g1 1T WIYRT AT BT gImm?

Rs 4576.8



Rs 4576.8

Rs 6098
B

Rs 6098

Rs 2567
C

Rs 2567

Rs 5345
D

Rs 5345

Correct Ans : A

Subject : General Maths

Q.No: 62 2 6 8
2433003 What should be added to (; + ;) to get (‘ﬁ)

(_%)Waﬂﬁﬁ:%r@(§+g)ﬁwaﬂ—srmaﬁn?.

21

49

21
49

18
76

18
76

61
15

61
15

None of the given options

fou e fawedt A | #1578
Correct Ans : D

Subject : General Maths

Q.No: 63 If the ratio of boys and girls in a school is 5:4. If 25% of the boys and 20% of the girls come to school by bus. Then what percent of students do not come to school
2435200 by bus?

e T e o dsd SR ASihal BT U 5:4 Bl AR 25% TSH 3R 20% TSHar 99 I fareg om g1 df fea ufawra o foamag a9 9 7 omd €2

73.2%
A

73.2%

72.25%
B

72.25%

C 75%



75%

77.22%

77.22%
Correct Ans : D

Subject : General Maths

Q.No: 64 The ratio of income of Aand Bis 5: 6, C: Bis 3:4 and C: D is 2: 5. If we subtract the difference of D and B's income from the sum of A and C's income then it is
2435434 equal to 680 rupees. Then find the sum of the income of A, B, C and D?

A 3R B BT 31T $T U 5: 6, C: B HT UG 3: 4 3R C: D BT UG 2: 5 T AT A 3R C B 31T & TN qUT D 3R B B 31T b 3R PT 3fcR 680 IUT €, Al A, B, C iR D F
3T BT AT 1 B2

Rs 4040

4040 373
Rs 4280

4280 ¥UY

Rs 4080

4080 ¥Ud

Rs 4020

4020 39

Correct Ans : B

Subject : General Maths

Q.No: 65 If 200 laddus are distributed in the Republic Day celebration in such a way that each gets 5% of the laddus. How many persons were present in the celebration ?
2437809

MU feaw TURIE # g 200 AEg 39 TR dic T b TS BT 5% T8g et | RIS | fba e @i 3 2

8
A

8

10
B

10

24
C

24

20
D

20

Correct Ans : D

Subject : General Maths

%"\13':;16268 A certain sum amounts to Rs 9075 at 6 % p.a. in 3 i3a'ea.rs at simple interest. What will be the simple

interest on the same sum at 10% p.a. in 6 vears?



wﬁﬁaanﬁm&ﬁaﬁﬁatﬁ3§aﬁﬁmﬁr{wmq¢9o?smam—cﬁﬁ|
10% ufa af & 27 & ¢ aul & gHeT UM &1 FaReT =4 fordar glem?

Rs.3760
A

Rs.3760

Rs.4810
B

Rs.4810

Rs.5346
C

Rs.5346

Rs.4500
D

Rs.4500

Correct Ans : D

Subject : General Maths

Q.No: 67 A sum of money doubles itself in 5 years using simple interest. It will amount to eight times itself in how many years?
2439153

T I YR A6 R 5 I8 F TG B g 8 St &1 I8 fobe auf o Tg &t 316 T 8 sat?

10 years
A

10 quf

12 years
B

12 quf

15 years
C

15 auf

35 years
D

35 gut

Correct Ans : D

Subject : General Maths

Q.No: 68 Vasavi, the rice trader mixes 2 varieties of rice. The cost price of the first variety of rice is twice the cost price of the second variety. If Vasavi sells the mixture at the
2730412 (o5t price of the costlier variety and makes a profit of 35%, then what is the ratio in which the varieties of rice are mixed?

I, T T IR B S S 6w & I1ad B e SaaT §1 Ul b & 91ad o 5 Ied, O [ & dI1ad & $a Hed 31 SR 31 A ardt Heh e & 91ad & %9 g
TR 301 BT J9aT § SR 35% BT ATH HAGT 8, dl [ U & a1aq b el o1 foramar mar ot 2

7:13

A

7:13

13:14
B

13:14

1:3
C

1:3

D Cannot be determined



Freffva =Y frar o wwar @
Correct Ans : B

Subject : General Maths

Q.No: 69 A trader sold an article at a gain of 12%. If the selling price is decreased by Rs. 110, there would be a loss of 10%. Find the cost of the price of the article.
2781077

TP ORI 3 12% & A W U6 a¥g 911 3 faswa 7ea & 110 T H, 10% 1 g1 ghft| a¥g &1 piva 31d ifsa?

Rs. 700
A

Rs. 700

Rs. 500
B

Rs. 500

Rs. 550
C

Rs. 550

Rs. 600
D

Rs. 600

Correct Ans : B

Subject : General Maths

Q.No: 70 sinA 1—cosA Cot®A
The value of ( )—' ( + 1) is?
2781234 1—cosA sinA 1+cosecA
sinA 1—cosA) ( Cot®A )
(l—cosA sinA 1+cosecA+ 1)=r %’
3
2
A
3
2
1
2
B
1
2
1
C
1
2
D
2

Correct Ans : D

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426640
2x3+8-12+6=20

fou T iRl B U IR & e fob < SRemsit &Y snuy H gearn ST Age?



2x3+8-12+6=20

2and 8
A

23R8

12 and 3
B

123k 3

8 and 3
C

83k 3

2and 6
D

23R 6

Correct Ans : D

Subject : Mental Ability

Q.No: 72 Which two signs should be interchanged in the following equation to make it correct.
2436530
10+5+=10=8-10=16

fefared Tfiexe &1 98 M & T 5 & Idhdl 31 IRER gedl 9 arge?

10+5+10x8-10=16

+and =
A

g T

-and +
B

- 3R +

= and =
C

= 3 =

* and +
D

x HT+

Correct Ans : B

Subject : Mental Ability

Q.No: 73 By looking in a mirror it appears that it is 6 : 30 in the clock. What is the real time?
2437750

oY B e A A B U<t § 6 : 30 997 W@ B aRdfad gHT 41 82

6:30
A

6:30

5:30
B

5:30

6:00
C

6:00

D 5:00



5:00
Correct Ans : B

Subject : Mental Ability

Q.No: 74 What angle is made by minute hand in 33 sec?

2437773
forTe @Y g2 33 Yobs & e 101 ST 82
40
A
40
3.3°
B
33°
5.9¢
c
5.9°
49°
D
49°

Correct Ans : B

Subject : Mental Ability

Q.No: 75 X and Y are brothers. R is the father of Y. S is the brother of T and maternal uncle of X. How is T related to R if S and T have no other brother or sister.
2439339

XARYUE IR, YHRAARI'S, T BT W § 3R X BT I=/AMI 31 I S iR T &1 HIS o9 UIE T 95 el 8, A1 T, R I by UspR Taifera &2

Mother
A

i

Wife
B

et

Sister
C

Eral

Brother
D

wrg

Correct Ans : B

Subject : Mental Ability

Q.No: 76 Which of the following can replace the question mark?
2440547
P6Q, Q6T, R6W, S6Z, ?

9 ¥ ¥ B9 a3 ufowifid &R It 82
P6Q, Q6T, R6W, S6Z, ?

F121E

F121E



T6C

B
T6C
P136U
C
P136U
T128U
D
T128U

Correct Ans : B

Subject : Mental Ability

Q.No: 77 Usha is taller than Nisha; Nisha is taller than Asha, Alka is taller than Usha. Harsha is shorter than Asha, then who among them is the tallest?
2442244

Jo, e @ ot §; e o @ ol B, St W 4 ol g1 Y, S § Bt 7, dl 38 A I Yad e 22

Usha
A

Ul

Alka
B

3 T

Nisha
c

forer

Asha
D

3{T=1

Correct Ans : B

Subject : Mental Ability

Q.No: 78 Find the wrong term in the given series:
2442504
2,5,9, 14,21, 27

& T sigan 8 Ted Ue I B
2,5,9, 14, 21, 27

5

14

14
21

21
27

27
Correct Ans : C

Subject : Mental Ability



Q.No: 79 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442753
CALCULATION

T U I Weal & U 9% Weg gL S T T Weg & 31eRT BT UENT IR G ST S el
CALCULATION

Action

Action

Nation

Nation

Caution

Caution

Tension

Tension
Correct Ans : D

Subject : Mental Ability

Q.No: 80 Directions: In the question below is given a statement followed by two assumptions numbered I and II. An assumption is something supposed or taken for granted.
2442897 you have to consider the statement and the following assumptions and decide which of the assumptions is implicit in the statement.

Statement:

The agency is conducting random raids and drives in order to check for counterfeit items.
Assumptions:

I. There has been a sharp rise in the sale of counterfeit items.

II. The authority wants to grab counterfeiters before they even manage to start selling fake products.

frdw: 9 o7 B, U By 3R ST 91¢ 1 3R 11 F Sifthd &l 4RuME <t 18 &1 4ROM T A TS a1 Bl 81 3! T T T & 3R W a9 1 € b &, TS yromsy § I o
yRoT B H AR B

BUT:
Tl Al aEgeht B o & R THTeS B SR $154 ST IR W 7
YR

1. el agelt @t st # O 9 &8 ©)

11 TR T IATal &1 Rt & udt Y et 1 s 9redT 3

Only assumption I is implicit

A
Faa uron 1 PR 3
Only assumption II is implicit
B
Faa yron 11 e @
Either assumption I or II is implicit
C
a1 & ¥R 1 a1 R eRom 11 e @
Neither assumption I nor II is implicit
D

Tl 4RO 1 SR T & yrom 11 Pk @
Correct Ans : C

Subject : Mental Ability



Q.No: 81 Select the correct mirror image/jpg of the given figure, when the mirror image/jpg is placed at the right side.
2442935

BKUCL31

U ot 1 & TS erpfa & grlt iR T/ W I 919 Wl s &1 g B

BKUCL31

[EIDU2AB

[€E1IDU2B
[€E1D0UKd
[€EID0UKd
[€ELOUAd
[ELOUAE
[€10UAd

[€10UAd

Correct Ans : D
Subject : Mental Ability

Q.No: 82 In the following question find out the alternative which will replace the question mark.
2727626
FILL : LRXX : : DAME : ?

fFufafed v & 39 e &) I1d PITE S U= fag & ®IF W S|

FILL : LRXX : : DAME : ?

HBZ)
A

HBZ)

HBBJ
B

HBBJ

HBZZ
C

HBZZ

HBZG
D

HBZG

Correct Ans : A
Subject : Mental Ability

Q.No: 83 If the word ANGEL is coded as BOHFM, then what will be the third alphabet in the code for the word SAVAGE?
2779967



If& ANGEL & BOHFM & =0 # foRaT STl 8, @ SAVAGE & 1T 5 ardl sl o fiaRT 31eR o gimm?

B
A

B

U
B

u

w
C

X
D

X

Correct Ans : C

Subject : Mental Ability

Q.No: 84 If ‘MADAGASCAR’ can be written as '4727879670', then 'MADRAS' can be written as:
2780009

Tfd '"MADAGASCAR’ &1 '4727879670' feral &Il &, d¢f 'MADRAS' &1 &1 forar sam?

424290
A

424290

427409
B

427409

472079
C

472079

472490
D

472490

Correct Ans : C

Subject : Mental Ability

Q.No: 85 In the following question, select the related word from the given alternatives.
2782042

DOC:V:: CAT:?

Fafafea vy §, fou T e § ¥ Y& wreg &1 997 |

DOC:V :: CAT:?

Y
A
B

X
C

z



w
Correct Ans : B

Subject : Mental Ability

Q.No: 86 Find the greatest number of six digits which is divisible by 25, 35, 42 and 75.
2427196

T 3] B 98 G S! BT F1d BIRMT S 25, 35, 42 3R 75 § vy g

999600
A

999600

999940
B

999940

999980
C

999980

999856
D

999856

Correct Ans : A

Subject : General Aptitude

Q.No: 87 If one number is 25. HCF is 5 and LCM is 405. Find out the other number.
2427258

Ife U TAT 25 B1 HCF, 5 3R LCM, 405 31 ZES W= T Il

54
A

54

66
B

66

71
C

71

81
D

81

Correct Ans : D

Subject : General Aptitude

Q.No: 88 If two trains each having length of 300 m are running in opposite direction to each other having speed of 60 km/hr and 102 km/hr respectively. Calculate the time in
2427372 \hich they cross each other completely.

afe 300 Hiex @t ofaTS areft & YermSar HHRT 60 fFwl/Her iR 102 frrfl/ger @t 7 arelt th-gwR & fawdia faxn & 7w %6 §1 o w1 3 ve-
T P! I TRE ¥ UR IR &, ITP IR H AT Y|

13.33s
A
13.33 ¥Fs
25.45s
B

25.45 AFs



12.78 s

C
12.78 AFs
8.88s

D
8.88 ¥&Hs

Correct Ans : A

Subject : General Aptitude

Q.No: 89 1n the figure, OP L OA and 0Q L OB.

2431290
Find £POQ if ZAOB = 20°
a P
B
20°
o A

feu oo fAe=fafad #, OP L OA @M OQ L OB.
Ifg ZADB = 20° & £ POQ @ A AT HIfem:

20°

20°

30°
30°

40°
40°

10°
10°

Correct Ans : A

Subject : General Aptitude

Q.No: 90 What should come in place of the question mark (?) in the following question?
2432019

(2 x 3)3% (4 x 92 x (27 x 8)2=(6)?

Fafafaa uy & uyare = (?) F RIFE W 31 M Afge?

(2 % 353 (4 x 9)x (27 x 8)= (6)

13
A

13

6
B

6



8
Correct Ans : A

Subject : General Aptitude
Q.No: 91
2432076 (256)%1° x (256)%%° =?

(256)%16 x (256)°% =?

4
A

4

16
B

16

64
C

64

256
D

256

Correct Ans : A

Subject : General Aptitude

Q.No: 92 A train covers a certain distance at a speed of 80 km/hour in 6 hours. Find the speed of the train for covering the same distance in 5 hours.
2438144

TH 3 6 U H 80 fprflyvier 1 7fd ¥ v Fifdd gt 7 Fxell 81 5 9 F 9HA g 99 B & R T $ vl 1 pifore?

90 km/hr
A

90 f&t/ger

96 km/hr
B

96 f&t/der

88 km/hr
C

88 fotit/der

86 km/hr
D

86 Tt/ ger

Correct Ans : B

Subject : General Aptitude

Q.No: 93 The bus fare between two cities in the hilly region is seven times the square of the distance between them. The distance from City A to City B is 12 km by direct
2438198 (qyte, From city B to city A, can be reached via city C and D, where the distance between city A and city C is 6 km, the distance from city C to city D is 4 km and the
distance from city D to city B is 5 km. What is the difference between the expenditure on both the routes?

TH URTS! & | & XeR! & o 99 &1 R 3% o Y g F vl 1 9 T 71 TeR A W ¥R B HY g W At & 12 e 7
TR B F AR A T, WX C 3R D & WeAH J g1 S Toball , STeT TR A 3R TR C & g B g1 6 el B, e C I R D 31 g8 4 i § ok WeR D § wex B 31 gt 5 et 81
ST AN R T & S BT 3R [0 B

A 469



469

500
B

500

529
C

529

509
D

509

Correct Ans : A

Subject : General Aptitude

Q.No: 94 If Rajat can do a work in 35days, Raju can do it in 21days. How many days both together can complete the work?
2438237

g Toid [t ol Bl 35 T & o Fpan 7, A I S 21 FeAt & R Tpa1 B T ek Brf Y o oAt H Q1 R Wb ©?
1

112 days
8
A
1
¥ (=
8
_1
1)§d 2ys
B
1
152 IG5
1
1 dms
125 days
C
1
12; f&a
1 ~
135days
D

lagﬁ:l

Correct Ans : D

Subject : General Aptitude

Q.No: 95 Manu, Manju and Maya can do a work in 90, 30 and 45 days respectively. If they work together, in how many days will they complete work?
2438323

T, Al 3R AT HE: 90, 30 3R 45 A F 0 F B IR GHd 81 A I TH-UY F B ©, dl 3 fhan A F wed g e

15
A

15

10
B

10



20
25

25
Correct Ans : A

Subject : General Aptitude

Q.No: 96 1In a box, there are 10 red, 8 black, 5 white, and 7 green balls. One ball is picked up randomly. What is the probability that it is neither white nor green?
2444110

T S §, 10 91, 8 BIell, 5 Wibe, 3R 7 &8 W ¥l U g B ArewsuT SO Sdl 81 ST 71 Wil § 6 78 7 df ibe § &k A € &l

A
2
5
2
3
B
1
2
C
1
2
4
5
D
4
3

Correct Ans : B

Subject : General Aptitude

Q.No: 97 Two dice are thrown. The probability of getting the sum more than 10 is-

2444402

B U Y T WY HHA W AT 10 F S U A 3T Wi o8-

1/18
A

1/18

1/12
B

1/12

1/6
c

1/6

1/4
D

1/4

Correct Ans : B

Subject : General Aptitude

Q.No: 98 The product of two successive numbers is 2756. Which is the greater of the two numbers?
2444517 <) IAR SSAST BT OAD 2756 T G Tomei F § A I 9o g9t 8?2



49

A a9
: 20
c 52
J =

Correct Ans : D

Subject : General Aptitude

Q.No: 99 What should come in place of question Mark ‘?’ in the following number series?
2444745
125, 375, 377, 1131, 1133,

Frefafad e yaar § u=d fog 2 & RIF W 1 31T?

125, 375, 377, 1131, 1133,

3399
A

3399

1136
B

1136

1135
C

1135

1234
D

1234

Correct Ans : A

Subject : General Aptitude

Q.No: 100 1In an isosceles triangle length of base is 20 cm and the altitude of the triangle is 20% more than the base. Find the length of each equal side.
2730254

TH FHIgEE By B SuR it dars 20 I SR By 3T HaTs MUR F 20% 1% 71 UAS THH YOI B 615 1 Piong|

40
A

40

28
B

28

30
c

30

26
D

26

Correct Ans : D
Subject : General Aptitude



MPESB 2024

Police Constable Recruitment Test - 2023 - Reports

Testdate 01 Sep 2023 v

TestSlot Shift 3 v

Q.No: 1 What is the original colour of Litmus solution?

2786363
forer faem &1 qa &1 T g 82
Blue
A
e
Pink
B
Tardt
Purple
C
CuEl
Red
D
GIGE

Correct Ans : C

Subject : Domain Technical

Q.No: 2 Which gas is formed when metal hydrogen carbonates react with acids?
2786364

4T TSIo PBET 3 & WY AfHA FA W B It 1 74t 82
H
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co

(of0)
COs

CO,

Correct Ans : D

Subject : Domain Technical

Q.No: 3
2786365

What is the pH of the mouth when tooth decay starts?

3l & URYH B W 4g &I pH A fba=T gar 82

Lower than 6

6 4 B

Lower than 5.5

5.5 9 &9

Lower than 5

59 HH

Lower than 4.8

4.8.3 %9

Correct Ans : B

Subject : Domain Technical

Q.No: 4
2786366

Washing soda is used in:
1. Removing permanent hardness of water

2. Glass, Soap and paper industries

19 & el BT IUANT Hel 8idl 8?2
1. 5d P! R FERAT &I g & forg
2. $Id, WG iR FI & I A

Only 1



Fad 1

Only 2
B

Fad 2

Both 1 and 2
C

1 3R 2 =t

Either 1 or 2
D

gqrar 142

Correct Ans : C

Subject : Domain Technical

Q.No: 5 Which of the following is an incorrect statement?

2786415
fofafed & & 19 W1 Tad HUF 82
A solution is a homogeneous mixture.
A
faera= ue werdta frgor 81
The particles of a solution are smaller than 1 nm (10 metre) in diameter.
B
oF RAags F $or s # 1 nm (1072 #iex) ¥ 8 @ &
Because of very small particle size, they do not scatter a beam of light passing through the solution.
So, the path of light is not visible in a solution.
C
9gd DI U PR & BRI, 3 faagT | TR ard gH1=r # fmwor o) faewa 78 2
3ra: fyaga & worr o1 Anf fearg =8 am
The solute particles of a solution can be separated from the mixture by the process of filtration.
D

foredes @1 uftrar g1 fawa & fada <ol &1 fawas F e f6ar s I 21

Correct Ans : D

Subject : Domain Technical

Q.No: 6  Choose the correct arrangement of the following substances in decreasing order of forces of attraction between the
2786416 particles— milk, wood, hydrogen.



TY, P!, TIRSIoH HUN & s ATHYU 90 F °ed A § FEfiad yer ot Te gawi I

Wood > milk> hydrogen

A
ARG > YU > TGO
Hydrogen > wood > milk
B
TR >APS > qY
Milk >wood > hydrogen
C
Y > AHSt > g
Hydrogen > milk> wood
D

BIgSIoH > g > ADS!
Correct Ans : A

Subject : Domain Technical

Q.No: 7 If we convert 287 K to celsius scale, we will get:
2786417

Ife 89 287 K ) Afqag Whd § dadd 8, o gH U B

18°C
A

18°C

187 °C
B

187 °C

14 °C
C

14 °C

24 °C
D

24 °C

Correct Ans : C

Subject : Domain Technical

Q.No: 8 Which of the following statements is incorrect?
2786418



fofafed & ¥ &9 91 $YF Tad 872

The plasma state consists of super energetic and super excited particles.

A
WIS AR # Sifad SHertar iR sifa Sfora &1 §1d 71
Plasma state is used in a neon sign bulb.
B
TATHT AT FT IUART i1 A1e=T aea § fowam wimar 31
The Sun and the stars glow because of the presence of plasma in them.
C
T 3R R 37 WA F IURRAITY & FRUT TS B
The plasma is created in stars because of very high pressure.
D

aRI & e &1 Faf srafie 3= g9 & SRl BT 2|

Correct Ans : D

Subject : Domain Technical

Q.No: 9  What is the relation between atmosphere (atm) and Pascal (Pa)? (Where both are the unit of measuring pressure
2786419 gyerted by a gas)

UeHRBIR (atm) 3R YRl (Pa) & o1 Ty o1 €2 (T8 a1 &) 1ty are Ao &1 75 ©)
latm=1.01=10%Pa

A
latm=101=10Pa
latm=103 =10Pa
B
latm =103 = 10 Pa
latm=201=10°Pa
C
latm=201=10°Pa
latm=101x 10°Pa
D

latm=1.01 = 10°Pa

Correct Ans : D

Subject : Domain Technical



Q.No: 10 In a solution 50 g of sugar is dissolved in 350 g of water. What is the concentration of the solution in terms of
2786420 55 by mass percentage?

TP @ & 350 g faome 5 # 50 g =i+ faow ®1 fawme & Iigar &1 aReed e

11.1 percent

A

11.1 yfa=a

12.5 percent
B

12.5 ufo=ra

7.01 percent
C

7.01 wfo=rd

9.3 percent
D

9.3 yfa=ra

Correct Ans : B

Subject : Domain Technical

Q.No: 11 "Which of the following is the correct expression of Newton’s second law of motion?
2786487
[where, p = momentum, F = force, t = time]"

"FEfiEd § @ 1 e & T b ga Fram @t I8t siftreafat 22

[STgl, p = ¥a7, F = §d, t = gH4]"

F o at/ap
A

F o at/ap

F ox ap/at
B

F o Ap/at

F # ap/at



F £ ap/at
F# ap/at

F £ ap/at

Correct Ans : B

Subject : Domain Technical

(22'7'\'8‘241828 If a ball is thrown vertically up at a speed of 3 ms-1 then find the maximum height the
ball will reach. (g = 10 ms-2).
afg o g B 3 msL I AR F AU T F FW Hdl a1 §, A g H 3 aA S5 T
HIfT] (g = 10 ms2)
0.45 m
A
0.45 m
0.60 m
B
0.60 m
0.75 m
C
0.75 m
1.00 m
D
1.00 m

Correct Ans : A

Subject : Domain Technical

Q.No: 13 In which of the following should a concave mirror be used?
2786489

fraffad § Q feud srada-guur o1 IuanT fbar S 82

Rear view mirror in cars

PRI A R g e o

B In construction of kaleidoscope



g uci® & famfor &

As safety viewers at dangerous corners

FARATS BT IR Y& o=ff & =0 A
In flood lights

WIS arged A
Correct Ans : D

Subject : Domain Technical

Q.No: 14 "For an object, the image/jpg formed by a convex lens is
2786490

1. beyond 2F

2. real and inverted

3. enlarged

Where is the object placed?

"forelt foig & fore Saa o gRT 914 aren wfafas §
1L2FEW

2. TP 3R I

3. Sfmafdfa

I Fol @ &2

Between F and the pole

A
F 3R yoRe &5 & &
AtF
B
FWIR
Between F and 2F
C
F 3R 2F & &9
At 2F
D
2F IR

Correct Ans : C



Subject : Domain Technical

Q.No: 15 Which of the following statements is incorrect?

2786491
frofafed & § o9 1 HuF Tad 82
In a hypermetric eye the near point is at a distance greater than 25 cm.
A
TRWRARS A7 # Freve fig 25 0 A aftre gft W ST 21
Presbyopia is an old age disease.
B
NI AT U ggrawat &t far g1
In Presbyopia a human eye cannot see objects in two orthogonal directions simultaneously.
C
NHarfaT ¥ U A4 3T TP 91y & ataad fezmae #f axgsit @1 A8 3w "t 21
The myopic defect is removed by using diverging (concave) lens.
D

ATHARY (3faad) AT T SUART HIP RIS Y B gR fHar wmar g1

Correct Ans : C

Subject : Domain Technical

Q.No: 16 Work done is zero:

2786492

foan T s R B

When force and displacement are in the same direction.
A

oE g 3R fawieT o i 7 a7

When force and displacement of the body are in opposite directions.
B

9 IR & 9 R fawrm= fodia fezmasit & g4 7

When force acting on the body is perpendicular to the direction of the displacement of the body.
C

W9 IR W ST 3 161 96 IRR & R0 35t f3zn & daaa giar 21

When force makes an angle with displacement.
D

W9 o faRITTS & 1Y S0 a4 2|

Correct Ans : C

Subject : Domain Technical



Q.No: 17 Which of the following is not a limitation of geothermal energy?

2786555
frofafed & 9 o f-ardia Sef ot dm 6 82
If harnessed incorrectly, geothermal energy can produce pollutants.
A
i Tad aftF A IuAT fHar wrar ], @ Y-ardig St ugue U HR aad 2l
Improper drilling into the earth can release hazardous minerals and gases.
B
gt A ergfera fefem @ave @it ol ) & B awdt 81
Geothermal power plant sites are prone to running out of steam in the long run.
C
Aedwref= srafy & yardia St 6= @t g & arw & A9 7 M BT @7 g 3
Geothermal Power plants have very high running costs.
D

yaTdig fagyga wa=l @t ufarea anTa sgda e gt 31

Correct Ans : D

Subject : Domain Technical

Q.No: 18 Which of the following statements is incorrect?

2786556

fafiied & 9 19 91 $u= Tod 2

About 60 percent of the incoming solar radiation is absorbed by the upper atmospheres.
A

AT 9T "R fIfHR0T 71 T 60 wfwra SHUd argHEE gRT SraRnfya far s 21

Solar power plants cannot produce energy if the sun is not shining.
B

3R Yo 7Y THE T/T @ @ AR Sl YU, Sl BT ITS 8] B Joba g

Establishment of solar power stations can be very expensive.
C

R St RET Y RITGAT 9ga 7 8 bt B

Solar panels need to be regularly maintained and cleaned to continue generating electricity.
D

foreTelt SaTeA WY Y@ & forw 9 4e! &) FFrafid U § 918 7@ 3R 916 H3 &1 axgedT gl

Correct Ans : A

Subject : Domain Technical



Q.No: 19 Large amounts of crops high in sugar or starch content are grown, and then fermented with yeast to produce-
2786557

IERT 1 WG Ul &1 g8 TAM W Jdl B STt 8 3R UTd Had &1 fosvae fasan ofrar § arfes Eekical

Ethanol

FOCIG

Methane

LIS

Fertilizers

SRS

Petroleum

Ueiferan

Correct Ans : A

Subject : Domain Technical

Q.No: 20 "Which of the following statements is correct?

2786558
1. A 40W-220 V bulb has a higher resistance than a 1 kW-220 V electric heater.
2. The maximum current that a 100W-220 V lamp can withstand is 0.45 A.

Choose the correct code:"

"Frafafed FuE § @ HH T8 82

1. U 40W-220 V 9§ &1 UfeRIY 1 kW-220 V Saifaed giex F e g g1
2. T& 100 W-220 V & o & SHfefhad 4RT &1 H1H 0.45 A g
SEEISERE

Only 1

Fad 1

Only 2

*ad 2

Both 1 and 2

3T 18R 2

D Neither 1 nor 2



TA 1T 2

Correct Ans : C

Subject : Domain Technical

Q.No: 21 Which of the following computer are commonly called big iron?
2786605

frofafad # ¥ i $ger & Imrad: o omRT & =9 ST S 82

Supercomputers
A
FUISH
Mainframe computers
B
ATHH FHR
Workstation Computer
C
THRRA HIR
Personal Computer
D

Ta dueR
Correct Ans : B

Subject : Domain Technical

Q.No: 22 Who among the following sent the first e-mail in 19712
2786606

fafafed o 9 P9 1971 o ugan s-Ad Hom 41?

Ray Tomlinson

A
X e
Tim Berners-Lee
B
e Rt - <t
John Cray
C
Gk

D James Tomlinson



SR e

Correct Ans : A

Subject : Domain Technical

Q.No: 23 In DBMS, 'MERGE' is the SQL statement of
2786607

DBMS ¥, 'MERGE' FT SQL WeHe Bl

DDL

DDL
DML

DML
DAL

DAL

DSL

DSL

Correct Ans : B

Subject : Domain Technical

Q.No: 24 Which of the following is a low-level language?
2786608

fFrafafed & ¥ oH-0 A@)-dad dweds 82

COBOL

COBOL

Assembly

STt
FORTRAN

FORTRAN

Python

EIEX B}

Correct Ans : B



Subject : Domain Technical

Q.No: 25 Which one of the following is a type of Internet?
2786621

fofafed & § $F-91 T See &1 UHR 82
World Wide Web
A
9% d15S a9
Local Area Network
B
Wb gRar Acas
Wide Area Network
C
a1gs Tiar Head
Campus Area Network
D

Fy viear Aead

Correct Ans : A

Subject : Domain Technical

Q.No: 26  Which of the following key is an example for the toggle key?
2786622

fgffaa & ¥ o-3 B (key) 1A B (key) F AT T IR0 82

Shift Key
A
fRre Ft (Key)
Caps Lock key
B
¥ @l I (Key)
Escape Key
C
T&hU Bt (Key)
Function Key
D

R 31 (Key)
Correct Ans : B

Subject : Domain Technical



Q.No: 27 Which of the following is/are Not the reason for hard e-mail bounce?
2786623

FofifEd § 9 g€ -39 S99 &1 SR &7 T8 3/87

Invalid e-mail Address

A
$aftrS §-A ggw
If the e-mail Address does not exist
B
afd §-A TgH UfRaee T8 S 7
Recipient email server has completely blocked delivery
C
Tt S &R 2 eftad ) 1f i @ v S AT @
If the mailbox was full
D

gfe A 9T B & e 2

Correct Ans : D

Subject : Domain Technical

Q.No: 28 An SCR is a device having

2786632

SCR & 09T IUIRYT ¢ Forast |

Three layers with four junctions
A

A TR F Ay TR Rt @ ¥

Three layers with two junctions
B

A wR & 1y &) Rt gk §

Four layers with three junctions
C

IR WR & 9rY F4 SRt giedt

Four layers with four junctions
D

IR R & 914 IR SRt g @

Correct Ans : C

Subject : Domain Technical



Q.No: 29 Single turn primary of a current transformer has a turn’s ratio 10 : 1. Which one of the following is the secondary
2786633 (rrent if the current measured in the primary is 2 amperes?

T YRT CRIBIER & Uhd T8 WIS & HIS &7 3[U 10 : 1 gl 3 wraflre & ardt it omy 2 vt g, o Fofafed 8 9

HH- fgdas urT 82

1 ampere
A

1 vfaR

5 amperes
B

5 TR

10 amperes
C

10 TRR™R

20 amperes
D

20 TR

Correct Ans : D

Subject : Domain Technical

Q.No: 30 In order to switch OFF an electric supply line in case of ‘earth’ leakage, the device used is:
2786634

Y- &R0 &1 UMY B faorelt &1 sgfef ag &Y g w7 & o frw Iuasvor o1 IuahT fasan < g2

ocCB
A
ocCB
MCB
B
MCB
Bimetallic-strip
C
frunfae-ue
ELCB
D
ELCB

Correct Ans : D

Subject : Domain Technical



Q.No: 31 An ideal transformer has:

2786635
T 31esf CRprR 3:
Very high losses
A
954 I g1 g @
Very low losses
B
gd fr e1f gt 8
Moderate losses
C
word g1 e @
No losses
D
®1§ iy T8 gl 8

Correct Ans : D

Subject : Domain Technical

Q.No: 32 The ratio of output power to the input power for a transformer is termed as its-
2786649

TP THIR & AU 3M3eye UfF 3R 399e wfdd & 3Hud &) 39% ¥ =Y § ST ST B

Efficiency

Q&dr

Coefficient

BILICT
Reliability

RYTar

Coupling

gy
Correct Ans : A

Subject : Domain Technical

Q.No: 33 Speed of synchronous motor on increasing load:
2786650



3d §U HR W Ja@Ieie AR $I 7Ifd o1 et 82

Becomes infinity

A
3 g1 Wt 3
Remains constant
B
A e B
Increases
C
Todl ®
Decreases
D
FH g ?

Correct Ans : B

Subject : Domain Technical

3.7“]806:6?;341 If a ransformer has 90 tumns in the pimary winding and 10 turns in the secondary winding, whatis the

reflective resistance if the secondarvload resistanceis 250 Q7

ITE T BN & TT#AS As 7 50 A5 3R gfadas asfEa 7 10 A5 §. 3% gladas
AR 9feRrer 250 o, 8 Wrade ITaRie &7 £

250 Q
A

250 Q

250
B

250

6,250 O
C

6,250 O

D 62,500 Q



62,500 Q

Correct Ans : C

Subject : Domain Technical

Q.No: 35 A phase-locked loop (PLL) is a feedback circuit consisting of a:
2786652

T Tol-fd U (PLL) Teb Wisss uRuy giar 2, fored g & § a1 wnfera e 82

Phase detector

A
T WY
Low-pass filter
B
fa-we e
VCO
C
VCO
All of the given options
D

feu v 9+t farea

Correct Ans : D

Subject : Domain Technical

Q.No: 36

2786653 Ine diagonal clippingin Amplitude Demodulation (using envelope detector) can be avoided if the RC

time constant of the envelope detector satisfies the following condition, (), is the message bandwidth

and (. is the camier frequency, both in rad/sec)

1T TaATger (3eateld TEEs H1 3TAR ) A fode woa ¥ g7 @1 1 Thahl &, AMG
Hedlelld THaF & RC FAIOMS @ §# @ Pufa &1 d@dse &dm 8, (o §87
m%mmcmmﬁ‘aaﬁ rad/sec ﬁ'%fl

1
RC = —

im



1
RC = —

Wim
1
RC = —
Wm
B
1
BRC = —
Wm
1
BC = —
e
C
1
BC = —
e
1
BRC = —
We
D
1
RC = —
We

Correct Ans : A

Subject : Domain Technical

Q.No: 37 ASK, PSK, FSK, and QAM are the examples of:
2786654

ASK, PSK, FSK, 3R QAM f&de Iarevur g2

Digital communication

A
fSfiea ¥aR
Analogue communication
B
TGN R
Ionosphere communication
C
AFTHSH JAR
RF communication
D

RF §9R
Correct Ans : A

Subject : Domain Technical



Q.No: 38 Which of the following is NOT true about a web server?
2786668

Frafifed & 9 S1H-31 iPe 38 TR & IR & 99 T 82

A web server is a computer that runs websites.

A
A7 TR TP HEEX ? St IqAEe Tardr 2|
Web server is a computer program that distributes web pages as they are requisitioned.
B
9 IR TP SR TRTH & ) SATaRgHdl U R A9 Usil 71 fyavor &ar g1
The basic objective of the web server is to store, process and deliver web pages to the users
C
A9 I&R P go1 I Tord a@ a9 Usil BI WK, W89 3R feehtar s 81
Providing all of the details that will support a purchase decision
D

TR F fAvfg &1 g9dq F= are It faamor ugE s

Correct Ans : D

Subject : Domain Technical

Q.No: 39 Which of the following network architectures has no dedicated server?
2786669

fofafaa & 3 fog Jegd snfhewR & Fi5 Sfehes IR 81 gld1 872

Client/Server network

A
FISC/HR AcaH
Peer-To-Peer network
B
TrR-g -thR Aead
Client-To-Peer network
C
FATSe-¢ -URR Aead
Client-To-Server network
D

FAEe-g -qdv Aead
Correct Ans : B

Subject : Domain Technical



Q.No: 40 Which of the following TCP layers in a data communication network contains high-level protocols?
2786670

32T TOR Aegs § g # ¥ 59 TCP 3R # & TR Uieiaid 8id 872

Host-to-Network Layer

A
ERe-g-Head AW
Application Layer
B
TS TR
Transport Layer
C
TiHUE AR
Internet Layer
D

gae AW
Correct Ans : B

Subject : Domain Technical

Q.No: 41 In the Network Layer, data is transmitted in the form of through the logical network path.
2786671

Jead R T, Ao d Jcdd Uy & AegH J ST Bl ¥ = ¥ g foman o g1

Frames
A

HaE

Segments
B

Ay

Packets
C

Tw

Bits
D

frew

Correct Ans : C

Subject : Domain Technical

Q.No: 42 SMPS stands for?
2786672



SMPS T Tefifd ovar 82

Start mode power supply

A
Start mode power supply
Store mode power supply
B
Store mode power supply
Switched mode power supply
C
Switched mode power supply
Single mode power supply
D

Single mode power supply
Correct Ans : C

Subject : Domain Technical

Q.No: 43 What is the full form for MODEM?
2786673

HI$H (MODEM) &1 guf &7 & 82

Modern determination

A
Modern determination
Module demolition
B
Module demolition
Modulation demodulation
C
Modulation demodulation
Model design
D
Model design

Correct Ans : C

Subject : Domain Technical



Q.No: 44

2786683 For the given Op-Amp circuit, the value of input resistance (B;) needed to produce an output voltage of -5

W is
R;

200 k()
R

.ﬁm -
v s b
50 mV

feU 3T Op-Amp URTY & ToIU, -5 V&F HEFeUC dlecs] & IcUleA &l & (olU HEqH A
gfaier (R) &1 A HT &
R‘I
R 200 kQ
_Wﬂ -

Vl‘n.ll

T g‘ﬁ.‘r.' mVy J__+ oV

500

500

2k0

2k0

4 k()

4 kO

208 kO

208 kO

Correct Ans : B

Subject : Domain Technical

Q.No: 45 Push-Pull amplifier circuit is used as
2786684

31§ SN TRRABRR IRUY ST ITAN 50 FU H fobar o 82



Audio Amplifier

A
st TrefieraR
Power Amplifier
B
RUCS R iBg L
RF Amplifier
C
RF QTBTR
Emitter follower
D

THier TwRR

Correct Ans : B

Subject : Domain Technical

Q.No: 46  Which of the following can be used for square wave generation?
2786685

fofafea & 3 fege Iuan afeR a3 & IUd S & e foean o godr g2

Bi stable multi-vibrator

A

fafRufas sgofta

Astable multi-vibrator
B

Taaferd agofua

Mono stable multi-vibrator
C

THiRIfa® sgohiua

None of the given options
D

fau e R § @ o1 T8
Correct Ans : B

Subject : Domain Technical

Q.No: 47 The Op-Amp used in Schmitt trigger is basically.
2786686

e forrR o S%wTd 81 are Op-Amp 4d &4 ¥ 1 82



Comparator with negative feedback

A
HUTHS BISad are gar-a
Comparator with positive feedback
B
TS WISad arar gat
A triangular wave Generator
C
BArysmer @ s i
A pulse Generator
D

e wfa
Correct Ans : B

Subject : Domain Technical

Q.No: 48 Which among the following is the first general purpose electronic digital computer?
2786688

frafifed & & ugen I TS Saaei-e fSiied dwe SH 91 §?

ENIAC
A

ENIAC

EDSAC
B

EDSAC

UNIVAC
C

UNIVAC

EDVAC
D

EDVAC

Correct Ans : A

Subject : Domain Technical

Q.No: 49  Which of the following statement is true with respect to the Random-Access Memory?
2786689

YSH-TRY AR & day 7 Foliad § 9 19-91 $Y 99 82

A Used specially for the booting process



g wfran & e fakiw w0 & IuahT &% ar s @

Stores data in Gigabytes

B

fmarge # ST R FRar @

Non-volatile memory
C

1 - didel g AEN @

Writing data to the memory is faster
D

TR P ST REA A dar gt @

Correct Ans : D

Subject : Domain Technical

Q.No: 50 UDP is a protocol of which among the following layers of OSI Model?
2786690

UDP, 0SI Hisd & FRufeiad oR § ¥ frge tidierd 82

Physical Layer

A
fpforpa aR
Session Layer
B
AT AW
Application Layer
C
SRR AR
Transport Layer
D

TRIUIE AR
Correct Ans : D

Subject : Domain Technical

Q.No: 51 Access time to RAM is usually measured in
2786704

RAM &1 TRIY &1 THY IR R B AT W1 R

A milliseconds



bps
B
bps
kbps
C
kbps
nanoseconds
D
BEIGE T

Correct Ans : D

Subject : Domain Technical

Q.No: 52 Which among the following enables a computer to execute programs and manipulate data files larger than main
2786705 memory?

faffad & § SR & Tium Teeiege B34 3R T AUR1 &1 gaq1 & 981 STeT Bigal & Agude 3 § $F Ged §1dT 872

Forwarding
A

BIAST

Bridging
B

fafSir

Switching
C

Rafzi

Swapping
D

wdftT

Correct Ans : D

Subject : Domain Technical

Q.No: 53 Which of the following contains a program called POST?
2786706

fafafad & 3 fead POST AH® WA B 872

BIOS



BIOS

Register
B
MR
Cache
C
&=
Kernel
D
P

Correct Ans : A

Subject : Domain Technical

Q.No: 54  Which among the following is a way of distributing audio files via the internet?
2786707

fFrafafed & ¥ ®1F 91 $exe & mem 3 Sifsdl visal 3 faalkd $ 31 T dieT o2

Downloading

A
SIS
Vlogging
B
AT
Channelizing
C
EERIHT L
Podcasting
D
-

Correct Ans : D

Subject : Domain Technical

Q.No: 55 In MS Word, which function key is used to update the selected fields?
2786710

MS Word & Iddcs Bits B 3USC R & oY fbg HaRT Bt (key) BT TGN fbam Sfrar 872
F7

F7



F8

F9
C

F9

F10
D

F10

Correct Ans : C

Subject : Domain Technical

Q.No: 56 The purpose of the is to help the website keep track of your visits and activity.
2786719

I I IS B MUt fAafe iR ufFefadt IR ToR T & Heg AT B

Cookie
A

EEdl

Crawlet
B

Eor

Bookmark
C

FHATS

Insight
D

ERLIETS

Correct Ans : A

Subject : Domain Technical

Q.No: 57 Which of the following audio file will not work directly in PowerPoint, and needs conversion?
2786720

fafafad § ¥ HH-T s Bz W & Uk Uige § &4 8! HRdl, 3R I¥ YR (conversion) Pt aRTHT 8T 872

.WwWma



.ra

.wav
C

.wav

.mp3
D

.mp3

Correct Ans : B

Subject : Domain Technical

Q.No: 58 'IMAP' allows the user to access e- mail from the local server. What is the full form of 'IMAP'?
2786721

'IMAP' IUANTHdId! Aled TR ¥ 3-Bd a% UgeH &t ufd a1 g1 'IMAP' &1 qUf U &1 g2

Initial Messaging Access Protocol

A
Initial Messaging Access Protocol
Internet Message Access Protocol
B
Internet Message Access Protocol
Intranet Mail Access Protocol
C
Intranet Mail Access Protocol
Internal Mail Accessing Protocol
D

Internal Mail Accessing Protocol
Correct Ans : B

Subject : Domain Technical

Q.No: 59 In terms of computer, what is meant by Octet?
2786722

FHeR b T T, sifeee (Octet) &1 T 34 2
Byte

B Bit



fae

Nibble
C

IECK]

String
D

Correct Ans : A

Subject : Domain Technical

Q.No: 60 Computer video games belong to which of the following software?
2787455

Hogex difea) 1w Fafafed § 9 fea Sireaw 3 defta 82

Education software

A
e (¥ ) Wiredw
Entertainment software
B
P
Database software
C
STy HIwdaR
Personal assistance software
D

feRTa Jeradn (Wi Ry ) diedwR
Correct Ans : B

Subject : Domain Technical

Q.No: 61 Which of the following software enables transfer of data and programs from one computer system to another?
2787456

frafafad § 9 319 91 itediR a1 3R U &I U6 $ex Red I g & SRR &3 | W& ST 82

Operating systems

TRfeT Rew

Programming language translators

WRITTAT YToT 3rgares (W & giaaer )

C Communication software



IR (FHAHIA) ATFeaWR

Utility programs

IuAifrar srfwa (gfefed v )
Correct Ans : C

Subject : Domain Technical

Q.No: 62 Which of the following software enables us to make use of a computer for creating,editing and printing documents?
2787457

fofafd # @ o9 1 AR g8 Sy 9, Juifed &7 3R fife v & O Swer &1 ITANT a1 § Ge §H1a1 82

Word processing software

A
TS TR WiredaR
Spreadsheet software
B
e Aiwedd
Education software
C
e (TgFee) WiwedR
Graphics software
D

TIfperT HIGCaWwR
Correct Ans : A

Subject : Domain Technical

Q.No: 63 The superimposition of computer generated perceptual information over the existing physical surroundings is
2787458 (3|led as -

HioeT Wifde oAy )R FHR GRT ITT AHTURUTHS AFGRT BT AR HT FHgl STl § -

Virtual Reality

A
MU areafaear (g Rafed)
Robotics

B
AeifeT

C Augmented Reality



wafdfa arafaear (sifwes fafd)

Data Analytics

3ipaT fazayur (et Tfefewy)

Correct Ans : C

Subject : Domain Technical

Q.No: 64 In IT Act,2000, is defined as a system of a secure key pair consisting of a private key for creating a
2787480 digital signature and a public key to verify the digital signature.

mEd aififram 2000 # Y Remm Poft g Y BIE yomeh o4fda B R [3afdes Red] IR 37 % Riv we urgae
Foll 3R [3aifded gd] BT TG S & T T dllb il © 1

Asymmetric crypto system

A
ST g woret
Certification Practice system
B
HTUHOT Ugfa womet
Symmetric crypto system
C
Tufia g womet
Authorization system
D

YTfYBROT YuTTett

Correct Ans : A

Subject : Domain Technical

Q.No: 65 IT Act 2000, provides guidelines to the user on:
2787481

1. processing of sensitive information

2. storage of sensitive information

3. transmission of sensitive information

et SHffEm 2000, SUENTH B fan-FERT werH FRar §:
1. FdgTRie SR & YHWBRU & forw

2. GaeARNa THGR & HeSRU & forg

3. WM THPRT & TR & forg

A 1 and 2 only




Fad 1 3R 2

2 and 3 only
B

Faa 2 3R 3

1 and 3 only
C

Faa 1 3R 3

1,2and 3
D

1,2 3R 3

Correct Ans : D

Subject : Domain Technical

Q.No: 66 IT act 2000, provides legal recognition to:
2787482

1.Electronic records

2. Electronic signatures

Choose the correct code -

Mgt sifafaw 2000 # Fufifad ¥ & fFT B S AT UeH BT 872
1. SAaCFe SfftrciE
2. 3ARMS g
g e BT Iqq BN -

1 only

*Had 1

2 only

Had 2

Both 1 and 2

1 3R 2

Neither 1 nor 2

Jar1RAE 2

Correct Ans : C

Subject : Domain Technical



Q.No: 67 As per IT Act,2000, who has the power to make rules in respect of Electronic Signatures?
2787483

TS RIFTTH, 2000 F IR, AT D Ried & Jau F fFom 51 @t AfF fead o9 82

Central government

A
T PR
State government
B
oY IXPIR
Municipality
C
TR uiferet
C-DAC
D
H-so

Correct Ans : A

Subject : Domain Technical

Q.No: 68 As per IT act 2000, an electronic record shall be attributed to the originator-
2787484
1. if it was not sent by the originator;

2. by a person who had the authority to act on behalf of the originator in respect of that electronic record

st SHfAIFTH 2000 & AR, fH SaaciRe feRg &1 fIGR Tade &I U g -
1. IS I8 Uadd R Tg] Well T T
2. fordlt U9 e gRT o 39 Saiaei=dh SHTCRE &1 S16d Yadd Bi SR U B I BT WIHR T

1 only
A

Fad 1

2 only
B

Fad 2

Both 1 and 2
C

1 3R 2 Y

D Neither 1 nor 2



TA 1T 2

Correct Ans : B

Subject : Domain Technical

Q.No: 69 As per IT act 2000, who appoints the Controller of Certifying Authorities?
2787485

S RIFTTH 2000 F IR, YAV WA & = @t fgfad 19 P g2

Central government

A
T PR
State government
B
oY IXPIR
Ministry of Defence
C
& HATY
Superintendent of Police
D

gier srcftere

Correct Ans : A

Subject : Domain Technical

Q.No: 70 How operating system makes input output process effective?
2787509

SHTORFET Ren &Y Ye 313eye Ufhan & guTdt §HTaT 872

It can easily replace input devices and makes work time effective

A
Tg ST A 3AYC SUBRUI Bt WTE & Fhal ¢ R B 9Hg H1 gUTdt grar @
Operating system can work as both input and output device and make process cost effective
B
TR fiTeH 39Ye 3R 3M3eYe SUHIUN Gl & U & W B TPl & 3R Ufthar &) arTd yuTd 991 et 8
Process is done in nanoseconds as the operating system can also do the work of CPU
C

ufpar ARAbs & FI A § Fife sTaRfET Ren Wdig &1 &1 ft F gwar @

D It allows interaction with input-output devices using commands



g HHIS BT SYUNT HI% FAYC-3AT3eYe IUBIVN & 1Y TRER fivar &t srgafa Tar @
Correct Ans : D

Subject : Domain Technical

Q.No: 71 Which of the following functions is done by the operating system?
2787510

1. Data management

2. memory management

3. process management

frofifed & 9 o w1 o sifRfe Rivew gr1 fovan s g2
1. ST U§YA

2. Wfd ydeH

3. Ufshan ueiy

1 and 2 only

Fad 1 3R 2
2 and 3 only

Fad 2 3R 3

1 and 3 only

Fad 1 3R 3

1,2and 3

1,233

Correct Ans : D

Subject : Domain Technical

Q.No: 72 Which of the following are the device management tasks that are handled by the operating system?
2787511
1.open, close and write the device driver

2.communicate, control and monitor the device driver

i & § I § JudRl yded S § IS siforfen Ren gR1 i far s g2
1. fEarsa SRR &I Wier, dg HAT 3R fora
2. fSarsy SRR &1 FER, g0 ok AR S

A 1 only




Fad 1

2 only
B
Fad 2
Both 1 and 2
(o
1 3R 2 Y
Neither 1 nor 2
D

Jar13RAE 2

Correct Ans : C

Subject : Domain Technical

Q.No: 73 According to the Personal Data Protection Bill 2019, who out of the following can be a “data fiduciary”?
2787512

1. person

2. the State

3. a company

Choose the correct code -

e ST MReRF e 2019 & IR, Fufafad # 9 & "Iel fregRad g gadr 82
1. =fdd

2. A

3. T bUH!

Wl e g -

Only 1 and 2

Fad 1 3R 2
Only 2 and 3

Fad 2 3R 3
Only 1 and 3

Pad 13 3
1,2and 3

1,233



Correct Ans : D

Subject : Domain Technical

Q.No: 74 What is the name of each device that is a part of a network and that can receive, create, store or send data to
2787513 (ifferent network routes?

TS S5 &1 919 1 § S Scdd $1 T 38T € iR S faft Aead anf () W ST U R Tobdl 8, I bl §, TR PR
Tl & a1 Wl avaTl 82

Chunk

Mode

Node

drs

Packet

TP

Correct Ans : C

Subject : Domain Technical

Q.No: 75 What does the ARPANET stand for?
2787514

T.3R.H.0.u.5.¢. (ARPANET) &1 qui-&1 a1 82

Advanced Research Projects Agency Network

A

Tsaivs RNad Mieey woldt Aead

Augmented Research Projects Agency Network
B

Academic Research Projects Association Network
C

Irsire fad Moaes THRERE Aead

Academic Rebuilding Parameter Agency Network
D

Jrrsfe RfafedT ferfier Toidt Aeas



Correct Ans : A

Subject : Domain Technical

Q.No: 76 A stateful firewall maintains a which is a list of active connections.
2787537
T Rehd BrERdld U g1 & S Tfhd o B Ub G B
Connection table
A
FARM qd
Routing table
B
SfET 5w
Server table
C
R aa
State table
D
we ead

Correct Ans : B

Subject : Domain Technical

Q.No: 77 The kind of firewall is connected between the device and the network connecting to internet is known as:
2787538

fEaEy SR Fexe ¥ Hae g a1 Aead & d1d oy e &1 BRRAIA J1 gl 8, 34 Hed &

Network Firewall

A
Jead BrRRArd
Microsoft Firewall
B
ISP BrRard
Hardware Firewall
(o
FEIW WrRaTa
Software Firewall
D

AT dqR BRRArd
Correct Ans : C

Subject : Domain Technical



Q.No: 78 is used to transfer binary and text files over the Internet.
2787539

Bl e W I3RI 3R TR BTl Bl RIMIIRA B P o ITanT far o g1

Internet Control Protocol

A
$eee PG Uieidla
Transmission control file
B
AR g BIEa
File Transfer Protocol
C
BISd TRIBR Wietdrd
Local file
D
dIPd wIgd

Correct Ans : C

Subject : Domain Technical

Q.No: 79 The full form of FTP is:

2787540

Thed &7 guf %9 3

First Transfer Protocol
A

B TRIEY Weldid

Firewall transfer Protocol
B

WRIRAIT gIWR Welpia

Fast Transfer Protocol
C

BRE TRIBR Wietsid

File Transfer Protocol
D

BISd TRIBR Wietdid
Correct Ans : D

Subject : Domain Technical



Q.No: 80 What is the name of the following safety sign?
2788444

g TRem obd BT A T 32

Warning sign

A
Jara-t Had
Mandatory sign
B
ATTH Hbd
Prohibition sign
C
fFiye d%a
Information sign
D

GEATHS Jddbd
Correct Ans : D

Subject : Domain Technical

Q.No: 81 What is the name of the following cautionary sign?
2788445

fofaRaa Ade Tbd &1 =1 9m 82



School Ahead

A
SR Vg &
Cattle
B
Rbil
Unguarded
C
3Rféra
Pedestrian crossing
D

Ued UR 0y

Correct Ans : D

Subject : Domain Technical

Q.No: 82 What is the name of the following joint?
2788458

Scarfed joint

A
PIHS SIS
Plane joint
B
@ SilS
Saddle joint
C
dsq sis

D Married joint



s wis

Correct Ans : D

Subject : Domain Technical

Q.No: 83 What is the advantage of stranded conductor over solid conductor?
2788459

31 T B! AT H Bl g ATed BT T AT §?

More flexible

A
Siferep aiten
Less voltage drop
B
FH diced gIa
Cost is high
C
I HIAd
Less insulation resistance
D

$H PATAD UioRIY
Correct Ans : A

Subject : Domain Technical

Q.No: 84 What is the unit for quantity of electricity?

2788460
fSeTcht &t AT BT 3PS T 62
Ampere/minute
A
TR /fie
Coulomb
B
]
Volt /second
C

diee/qos

D Ampere/second



TR /A5s

Correct Ans : B

Subject : Domain Technical

Q.No: 85 What is the formula for quantity of electricity (Q)?
2788473

faorelt @t AE (Q) &1 g T 82

Voltage x Current

A
dlees x 4RT
Current ¥ Resistance
B
RT % T
Resistance = Voltage
C
gfey < Jees
Current ¥ Time
D

HqHT = JHAT

Correct Ans : D

Subject : Domain Technical

Q.No: 86 Which of the following is the unit of conductance?
2788474

P 3  SH-W e B o1 87

Ohm-cm

3ier- B,

Mho

=

Ohm

D Ohm-m



3gr-ex
Correct Ans : B

Subject : Domain Technical

Q.No: 87 Which of the following type of meter is used to test the polarity of battery?
2788475

& B aar BT T FA F forg Fafiad # I g R & Hiex &1 IuanT faar S 82

Moving coil voltmeter

A
T HSelt dieeHier
Moving iron voltmeter
B
Id dig Aeediey
Moving iron ammeter
C
Tq WI§ 3Rfex
Dynamo meter type wattmeter
D

BIEAHHIER YHR &1 aicHleR

Correct Ans : A

Subject : Domain Technical

Q.No: 88 Which of the following factor affects the polarity of the electromagnet?
2788484

fufafed § @ $19-1 $RS fIggd g St Yaad B gHIad ST 82

Direction of current

A

YT 1 fa=m

Temperature
B

CLECIE]

Strength of the magnetic field
C

TEO &7 B A

D Length of the coil



Pedt I TETS
Correct Ans : A

Subject : Domain Technical

Q.No: 89 What is the unit of Magneto Motive Force (MMF)?

2788485
JEH IEH I ((MMF)) BT FT 3HTS 82
Ampere - m
A
TR - H.
Ampere - cm
B
TafieR - 9.3
Ampere /watt
C
THfiaR /4T
Ampere - turns
D

TafimR- o=t
Correct Ans : D

Subject : Domain Technical

Q.No: 90 What is the total inductance if 3 inductors (L1, L2 and L3) are connected in series?
2788486

& 3 INRBA (L1, L2 3R L3) §aar & 9 gU § O $d IRebed FT 82
LT=L1+1L2+L3

LT=L1+L2+L3

1 1 1
LT_Z—'_L_Z-I_L_;

1 1 1
LT_E_'_L_Z-I—L_E
1

- Ly+La+Lg

LT

1

IT=——>t
Ly+Ls+Lg



LT=11x1l2xL3

LT=L1xL2xL3

Correct Ans : A

Subject : Domain Technical

Q.No: 91 Which of following material is the paramagnetic substance?
2788487

frafafed & ¥ SH-1 e srgre yard 82

Lithium

forfiraw

Copper

GICH

Bismuth

famy

Graphite

PLaE

Correct Ans : B

Subject : Domain Technical

Q.No: 92 What is the maximum value of voltage for 240 volt RMS?
2788496

240 diee IRTATY P T e b1 b | 1 82

220V
A
220V
425V
B
425V
339.5V
C
339.5V

D 377.8V



377.8V
Correct Ans : C

Subject : Domain Technical

Q.No: 93 What is the phase displacement in a single phase AC circuit?
2788497

Thd g T, "fibe & TR fawm= @1 32

110 degree
A

110 f$I

125 degree
B

125 f$3

90 degree
C

90 f&3Ht

250 degree
D

250 f&h

Correct Ans : C

Subject : Domain Technical

Q.No: 94 What is the power factor in a 3 phase power measurement of two wattmeters showing equal readings?
2788498

A AT o™ ard &) aredier F 3 TR UraR A H UraR e T 82

4
A
4
1
B
1
0.5
C
0.5



6.0
Correct Ans : B

Subject : Domain Technical

Q.No: 95 Electrical conductivity of gold is how many per cent?
2788511

I @ fagga arassdr faa ufawra gt 82
27%

27%

70%

70%

61%

61%

100%

100%
Correct Ans : B

Subject : Domain Technical

Q.No: 96 What is stationary electric charges?

2788512
fRR fagga smaw & 82
Kinetic Energy
A
Tferst St
Chemical charges
B
IS A
Physical change
C
Wifa® afvad=
Static charges
D

Rifas smaw

Correct Ans : D



Subject : Domain Technical

Q.No: 97 Which of the following is the unit of electric charge?
2788513

frofafead & & H1F-30 fagga omw ot s 82
Watt

Hertz

)

Coulomb

Joule

oa
Correct Ans : C

Subject : Domain Technical

Q.No: 98 How the stationary electric charges are called?
2788526

fRR fagga omv 5 Hed 82
Chemical charges
A
HEIRIECCIEE
Static charges
B
whe aia
Kinetic charges
C
HIgAfcD Ao
Chemical reactions
D

IR ufdfparg

Correct Ans : B

Subject : Domain Technical



Q.No: 99 Which of the following electrolyte is used in lead-acid battery?
2788527

frafifad & ¥ feg sodciaEe o1 ST ds-Tks St # fvar ST 82

Zinc chloride

A
i wIRTgS
Acetic acid
B
it et
Potassium hydroxide
C
Ui FggiegS
Sulphuric acid
D

TeRRE Thrs

Correct Ans : D

Subject : Domain Technical

Q.No: 100 Which of the following are the sub protocols of E-Cash system?
2790631

3-3Y fReH & I WedId (sub protocols) i & ¥ HH-11 82

Withdrawal
A
Tt
Payment
B
Y
Deposit
C
STHT
D Withdrawal, Payment and Deposit

fFrerlt, Yymae ik s
Correct Ans : D

Subject : Domain Technical
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Q.No: 1  Tilling is the process of which among the following?

2426877
frafafea & 4 Jars feae ufss 82
Loosening and Turning of the Soil
A
Y 3t Sar e iR were
Harvesting of Plants
B
Wil Ft perd
Sowing of Seeds
Cc
e &t garé
Irrigation of Farms
D

Jal $t Ri=mg
Correct Ans : A

Subject : General Knowledge

Q.No: 2 Which of the following awards has been given the title of ‘Alternative Nobel Prize’?
2426991

frofefad & § 5y R &) 'Ieids Aied REGR' 3 Uy §f 78 77

Man Booker Prize

A
A gH RIBR
Right Livelihood Award
B
3 ATFAAIgS Sars
Pulitzer Prize
C

TR &P R

D UN Human Rights Award
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HYeR AP AFAISR REPR
Correct Ans : B

Subject : General Knowledge

Q.No: 3 Pradhan Mantri Gramin Awas Yojana was earlier known as-
2427380

TYHA IO AR Ao S Ugd o ATE ¥ ST S oT-

Indira Awas Yojana

A
HIERCICIG R
Nehru Awas Yojana
B
AT AT FrerAT
Rajiv Awas Yojana
Cc
Ifta SMTaT gierT
Rashtriya Awas Yojana
D

AP ST ST
Correct Ans : A

Subject : General Knowledge

Q.No: 4 At which Special Session of the United Nations General Assembly in 1975, a declaration was made for the establishment of a New
2428874 1nternational Economic Order (NIEO). It is regarded as “a turning-point in the evolution of the international community.

1975 ¥ UG Y HETHT & 54 fady 7 # T % SiRigh i o=y (NIEO) BT RITAT & AT T giwom &1 775 <R
T "R Ter & ™ # 1P Aeayul #ig” 71 S §

First
A

Uga

Second
B

T

Sixth
C

B

Fifth
D

gigd

Correct Ans : C

Subject : General Knowledge



Q.No: 5 The G20 is a global bloc composed by the governments and central bank governors from 19 countries and
2428875

G20, 19 9 3R P WHR 3R HEF o & TaRI gRT A T e =il g

Ireland

ATRAS

Bora Bora

aRTERT

European Union (EU)

R HY (39)

Kauai

L

Correct Ans : C

Subject : General Knowledge

Q.No: 6 Who is the current Director-General of ASEAN-Cambodia (July 2023)?
2428886

SRAH-HEAT (e 2023) F TAAM HEFUS HH 82

Dr. Kao Kim Hourn

A
1. P13t few g
Garry Ibrahim
B
T gaie
Mark Neo
C
ard
Daniel R
D
St aR

Correct Ans : A

Subject : General Knowledge

Q.No: 7 Which among the following is the currency of Bhutan and Myanmar respectively?
2428933

frafafed & o Yo ok WHAR &t got & At 82

Ngultrum, Kyat



CICH, FTd

Peso, Rupee

B
9, FuEr
kyat, Rupee
Cc
HTd, 2941
Rial, Dollar
D
e, st

Correct Ans : A

Subject : General Knowledge

Q.No: 8  The Blue Line is a demarcation line between Lebanon and which country?
2429061

& A1, AT IR 59 3 F ffg we dnies ar 32

Syria
A

i

Iraq
B

ERC

Israel
C

EGUERT

Ukraine
D

g

Correct Ans : C

Subject : General Knowledge

Q.No: 9  The Prime Meridian passes through how many continents?
2429062

Y HeOTg 3T fha HeTeial ¥ §ie) ol 872
Two
A
@
Four
B
TR

(o} Three



Six

£

Correct Ans : C

Subject : General Knowledge

Q.No: 10 The Khadi and Village Industries Commission works under which ministry?
2431484

@Il 3R RN AT fhg Hate & 3iefiT Bt R 82

Ministry of Micro, Small and Medium Enterprises

A
e, TY 3R Heaw Igd HATTd
Ministry of Agriculture
B
P dare
Ministry of Tribal Affairs
Cc
ST AT ST HATe
Ministry of Corporate Affairs
D

PIURE ATHE! BT AT
Correct Ans : A

Subject : General Knowledge

Q.No: 11  When was the Agricultural Produce Trade and Commerce (Promotion and Facilitation) Bill introduced?
2432151

PP IAE AR Td T (Fad vd WRefiaon) fadaes wa amr 7 o

2020
A

2020

2017
B

2017

2018
C

2018

2021
D

2021

Correct Ans : A



Subject : General Knowledge

Q.No: 12 In which of the following year, the Lucknow pact was signed between Muslim League and Indian National Congress?
2433580

fFrafafed # & fe af 4, gRaw i ok wRda T S & fi9 aes THeia R gwaR fan m ot

1915
A

1915

1917

B

1917

1916
C

1916

1914
D

1914

Correct Ans : C

Subject : General Knowledge

Q.No: 13 Who among the following made this statement: *Who lives if India dies”.
2433590

I8 o Fufeiad & 9 fruer § - g foioy 5w 3fear sge”

Dr. Bhim Rao Ambedkar

A
ST +fiw ¥19 srdsaR
Sardar Vallabhbhai Patel
B
WER TEAHHTS T
Pt. Jawaharlal Nehru
C
Y. SATeY AT1d A8
Jai Prakash Narayan
D

S YhIRT TR0
Correct Ans : C

Subject : General Knowledge

Q.No: 14 Who is the current chairman of ICC Men's Cricket Committee? (July 2023)
2437130

ICC 3 fordhe Ifiifa & oA sreger &4 §2 (JaTs 2023)

A Anil Kumble



frer Saat

Greg Barclay

B

T IIHA

Rahul Dravid
C

g FfaS

Sachin Tendulakar
D

.§
Correct Ans : B

Subject : General Knowledge

Q.No: 15 Powada folk music is associated with which of the following Indian states?

2440759

grareT A i Fafafed @ frw yRda T ¥ Teft 82

Chhattisgarh
A

ERIEN

Uttar Pradesh
B

I e

Uttarakhand
Cc

IRES

Maharashtra
D

HERTY

Correct Ans : D

Subject : General Knowledge

Q.No: 16 A painting in Shahi Quila of Burhanpur is supposed to have inspired the design of which famous monument in India?
2441199

T ST § 6 ReFQR & e e o wap Wi 3 yRa A frw uftg wIR® & feoie &1 ofka famar ur?

Gwalior Fort

A
TR fbe
Taj Mahal
B
qrel Hgd

C Qutab Minar



P99 HR

Char Minar

IR 1R

Correct Ans : B

Subject : General Knowledge

Q.No: 17 Which of the following villages is known for traditional ‘Galsan Maala’ of beads?
2441348

fFafifad 7 § o9 91 via Afaal @) IRuRe T AT & R S S 82

Aadharkanch
A
SMYRBTE
Katthiwara
B
EaRicin|
Banda
Cc
it
Bargaon
D
CERIC]

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Where is the Ahilya Bai Fort and Palace located?

2441403
sifgean a1 fora ok Wew Fel fud 82
Maheshwar
A
W
Omkareshwar
B
SRR
Chitrakoot
C
femge
Maihar
D
AR

Correct Ans : A



Subject : General Knowledge

Q.No: 19 Who is the Author of the book “A Commentary and Digest on The Air, Act 1981".
2776140

"7 B TS STEORE 31 § TR, TaE 1981" THH & AWH $HH gl
Dr K K Khandelwal

A
SI. ¥. F. dsaa
Abhay Kumar
B
AT PHR
Amit Shah
C
sifera =g
Shashi tharoor
D

R YR

Correct Ans : A

Subject : General Knowledge

Q.No: 20 The Hutti Gold mines are located in which of the following state?
2776141

Bl s mey Fafifed 3 @ frg Tog & Rya 82

Maharashtra
A
HERT
Karnataka
B
Ffed
Kerala
Cc
I
West Bengal
D
uf¥m S

Correct Ans : B

Subject : General Knowledge

Q.No: 21  Which is not included in solid waste?
2429276

B I S iy # e el 82

A Metal Scrap



T BhY

Paints & Oils
B

e 3R @

Toys And Furnishings
Cc

e ok arr-arr

Radioactive Materials
D

eatendf wrnft

Correct Ans : D

Subject : General Science

Q.No: 22 The animals whose body is formed by loosely aggregated cells and also they do not possess digestive cavity:
2429841

o Sigei @1 R Rifie ubia BiRrerel I sdr 8 ik S ure TgT ot 1 gt 2

metazoans
A

A=

eumetazoans
B

AT

parazoans
C

R

cryptogams
D

Eguut |

Correct Ans : C

Subject : General Science

Q.No: 23 Who am I and to which class do I belong?

2429910
"I respire through lungs only and I have a heart with three chambers.”
AP IR R A A g2
"3} e el A THE A g 3R A UrE A el aren f 21
uromastix (sand-lizard), reptilia
A

s (Ya-fyed), agu

B bubo , aves



g, T

columba, aves

Piedl, Tdre

platypus, mammals

wfers, WU
Correct Ans : A

Subject : General Science

Q.No: 24 Which of the following is a greenhouse gas?

2431691
e & Q@1 9 s9w T 82
oxygen
A
Sifeqefter
nitrogen
B
BT
carbon dioxide
C
FTE SRS
argon
D
3t

Correct Ans : C

Subject : General Science

Q.No: 25 A person is said to have fever when the reading of the thermometer is more than
2434296

ywidiex it A& Y 3 g1 W AfH & JER 1 FgT ol & -
98.3 °F
A
98.3 °F
100 °F
B
100 °F

c 100.4 °F



100.4 °F

102.0 °F

102.0 °F

Correct Ans : B

Subject : General Science

Q.No: 26 In 1800, a British chemist, had shown that if electrodes were immersed in water, and a current was passed, bubbles of
2434576 oxygen and hydrogen were produced.

1800 ®, s fafewr a3, 3 feamn o1 i afe 3aecis &1 Ul # SaiaT 9T ], SR U9 9RT Yaifed @ oid 8, of Siiaie 3R g1ggiom
¥ gagd IO I B

Roger Penrose

IR TR

Marie Curie

o g

James Clark Maxwell

S TS AFEaa

William Nicholson

faferaw fAeaaa

Correct Ans : D

Subject : General Science

Q.No: 27 Sounds of frequencies less than about ___ cannot be detected by the human ear.
2434580
AFE SHE GRIATHT _ J HH Mgl o) @ial &7 udr T8 evman o gevd |
100 Hz
A
100 &
80 Hz
B
80 &¢H
50 Hz
Cc
50 geo
20 Hz
D

20 5



Correct Ans : D

Subject : General Science

Q.No: 28 Isopropyl alcohol can be used as -
2437203

MO fepige BT IUANT 39 bR haT o1 b & -

fuel for cars.

A
PRI ¥ firg g
hand-sanitizers.

B
Ty Woa N (88 AfezeR)
fuel for cooking.

C
QT U & g S
health-drink.

D
Wy 1|

Correct Ans : B

Subject : General Science

Q.No: 29 Who is the founder of students educational and cultural movement of ladakh (SECMOL) ?
2439798

WY UGHRAd U8 Hedkd Halc 31 AERT (SECMOL) & HRITIF HH 3?

Baba Amte
A

T 3T

Sonam Wangchuk
B

| TS

Chewang Norfel
Cc

TJqiT ARGA

Rajendra Singh
D

s Rig
Correct Ans : B

Subject : General Science

Q.No: 30 What is the percentage of carbon dioxide in the atmosphere?
2439842



IATSH B HTaT IS ATISS BT Ufa=radt fhat g2

1%
A

1%

0.03%
B

0.03%

1.5%
c

1.5%

0.9%
D

0.9%

Correct Ans : B

Subject : General Science

Q.No: 31  Which of the following vitamins helps in blood clotting?

2439921

e & ¥ BH-91 e o & ydet T § FeHs gl 22

Vitamin K
A

faerfim K

Vitamin C
B

faerfim ¢

Vitamin D
C

faefim b

Vitamin A
D

faerfm A

Correct Ans : A

Subject : General Science

Q.No: 32 Farmers in a region experience distinct seasons throughout the year. The region receives heavy rainfall during the monsoon season,
2783652 fo|lowed by a relatively dry winter and a hot summer. The farmers in this region practice agriculture and cultivate various crops to
sustain their livelihoods.

Considering the climatic conditions, which of the following crops would be suitable for cultivation during the Rabi season in this region?

it & & foram QY I SFeRT-SreT A BT 3FHd R &
39 &7 H TgT & HiH $ IRA YR avi g1t ¢, o a1a srlanpd I udl ofR T T gt 31
T & ¥ fHar ot SrefifassT §91U wam & fow HfY ovd § oiR fafte et I €

Serarg R &t e ® YEd gY, 39 & § & 0w & R Fufiied § 3 a9 @ vud T & i Suged gt



Rice

A

EICH)

Maize
B

HIDT

Wheat
C

i

Cotton
D

DU

Correct Ans : C

Subject : General Science

Q.No: 33 Which of the following is an example of a plant that reproduces asexually through stolons or runners?
2783798

fafifad 7 § o5 1 09 3T I<eR0 8 S Wiad a1 IR & A1egH F 3 U I Uo- T 872

Cactus
A
P
Pine tree
B
IR B
Strawberry
C
It
Oak tree
D
30w o

Correct Ans : C

Subject : General Science

Q.No: 34 The binomial name for wolf is Canis lupus. Which of the following statements is NOT true about the binomial system of nomenclature?
2784633

A& &1 fgue M FHT T g1 T 31 fgue yoreh & IR & Fufafad § 9 o1 @1 F3F 9 6 82

The binomial system classifies organisms into kingdoms.

fgug worreht Shat @t wral § affga ot 21

The binomial system was introduced by Carl Linnaeus.

fug worrelt et ffrerRT g1 YE 1 1 ot



The binomial system provides a unique name for each species

C
e yomel vd® uenfa ¥ T T sifgdia W ueM #edl §
The first name is the Genus to which the organism belongs to and the second name is the species the organism belongs
to.

D

ugar 9 98 a3 @ R ofte el @ ofik gawT A a8 wenfa @ Rred shta waifta 21
Correct Ans : A

Subject : General Science

Q.No: 35 Which of the following parts of a leaf carries out most of the photosynthesis?

2784713
oit 1 Fafafad & ¥ S A1 1T SIS Ut HRAWUT Hl 82
Epidermis
A
tfsfifa
Vascular tissue
B
Hagt Has
Guard cells
C
&P BT
Mesophyll
D
wofetdes/ deiftee

Correct Ans : D

Subject : General Science

Q.No: 36 Find the odd word out.

2424521
ST eq BT =F BiferT|
Mississippi
A
ferfiferdt
Danube
B
ST
Mekong
C
i |

D Pampas



UuT
Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424535
SR Teq BT T B
Neon
A
=
Argon
B
St
Helium
C
diferaw
Chlorine
D
FARA

Correct Ans : D

Subject : General Reasoning

Q.No: 38 Find the odd word out.

2424541
ST Weq BT T BT
Cow
A
ma
Tiger
B
Cli)
Jackal
Cc
Rar
Lion
D
W

Correct Ans : A

Subject : General Reasoning

Q.No: 39 In the diagram, Triangle represents the Bengali medium Students, Circle represents the Students work in Private sector, Square
2426586 represents the unemployed Students and Rectangle represents the Students who work in Govt. Sector.



15 5

How many Bengali medium Students work in Govt. Sector?

R H, Pyt S mem & o B Uiaffia wRa 7, 39 ol 89 J B & S &1 ufifAfia aRa1 8, 3 SRISTR S 61 uiaffid wRar § S8R
AT THR & | HTH A a1 S BT UG Fm 8

15 5

P STl AT P B WHRY 87 | H1H A 82

1
A

1

6
B

6

4
C

4

2
D

2

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Delhi, India and Bangladesh?
2426734

frofafed & ¥ o1 &1 oRE fiwe, HRA IR Fee & o9 Tad o= oY BT axidl 57



o

<Qp,

O
OOO
OOO

O

O

Correct Ans : D

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427792 |ike which the paper will appear when unfolded.

b= =

T2 T U Uy B H T B & ¢HS B WSt 3R BT 7T B, < TS IR MBI S faedl H § IH IR Pl bl TG B, S b A R F1e

Y SIS &I JieH TR SATHT |
r———— I——__I
| Iy i
F-4- L ;
Lz |
1 [ Ls!
o] o
X X
o x|
o] (=]
A
o] ]
X X
LS 1
v] [s]




o =]
x X
x X
o [e]
B
o o
¥ X
x X
o ]
] O
x X
x x
o o]
C
8] L&)
x X
x x
o o]
o 0
% %
X x
o O
D
Q Q
* x
X %
o O

Correct Ans : B

Subject : General Reasoning

Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427803 |ike which the paper will appear when unfolded.

- T -
-
’ N Vi \
f !
]
A

F2 T U Uy MBI H T IS & ¢HS B WeT SR BT T ], < TS IR MBI F fachedl H Y IH IR MMPTa bl TG B, S b WS iR B

T BT B! /I TR AP T4 |
A

00




00
0

00
0

L
HH

=
=

U -
[]=

=
=

Correct Ans : A

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427804 |ike which the paper will appear when unfolded.

N

AN

- d

F2 fow U Uy B H T B b ¢hS B WeT SR BT T ], TS IR Bl F fAhedl B Y I IR MMPTA BT ThA B, S b WS SR B
T BT B! /I TR AP T |

N

- d




Correct Ans : D

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427817 |ike which the paper will appear when unfolded.

—-— ——

-~ = -~ -

£ A & A

i I A f \

1 ;’

A [-]
Y
-

FR foT T Uy o H T IS & s Bl TIT R BT 7 B, <t TS SR MBI F fawedl H ¥ IU IR P BT T97 &, o b TS iR F1e
Y SIS I JieH TR SATHT S|

- -
- - - -
s Al . A

f | A f \

1

A

Y
-

A
A4




Py
) ()

Ao
N

oS
N

Correct Ans : C

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one
2427832 |ike which the paper will appear when unfolded.

t r -

D 4
>

--—T---I

3 fow MU vy Spfa A U HES & e B AIST SR FIeT W1, & T IR Hl b Aped H T IW IW 3P T T B, ST b A R B
T SIS B Jad WR P I

P W

___‘}'-_-I

{-k
N
m====9
v

T
Qo &0
Q0 00
i W W ]




AT AT
Q0 0

o0 00
LA A

VO T
00 ©0

L0 Q¢
Ao

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Which answer figure will complete the pattern in the question figure?
2433184

Uy ol # 3T M e & oiF-d S smefa g s



1
e
(%
"
=
e
%/

Correct Ans : A

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.
2433500




Nz
7
Bs
X
Nz

Correct Ans : D

Subject : General Reasoning

Q.No: 48 Complete the question figure by choosing the best alternative from the answer figure.
2433557

D

FIR NP & ¥ T i fAdved TIHR Uy B B [T I

D



B
—_—»
Cc
—_—
-—
D
-—

Correct Ans : B

Subject : General Reasoning

Q.No: 49 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434913
6:232::8:7?

39 e &1 799 B N dR) Tem ¥ I uHR GEfia § I gust Te uga Wen ¥ Weiftd 31
6:232::8:7
528

528

540

540
520

520
535

535
Correct Ans : A

Subject : General Reasoning



Q.No: 50 Identify the classes that best represents the relationship among the given diagram.

2435565
<:i::i) <i:::j

X
/

3 AR BT TgEH B o AT T ARG F I Gy BT G 3T Ui R T

00

\_/

Hospital, Court, Police station

A
ST, PIE, Yo A
Liquid, Pizza, Milk
B
T, fis, gy
Computer Skilled, computer illiterate, Employees
C
LR HIW, FHELI UG, FHARY
Females, Doctors, Patients
D

Afgany, sieex, 78w
Correct Ans : A

Subject : General Reasoning

Q.No: 51 Identify the diagram that best represents the relationship among the given classes.
2435677
Biology, Botany, Zoology

3T 3RT P! UgIH DY o 3T Y AR & fiT Ty BT Ted 331 Ul orar Bl
Siafase, aafa fagm, witr fage

A ,,-—- i



Correct Ans : A

Subject : General Reasoning

Q.No: 52 Study the following information carefully and answer the question that follows.
2726835
If *>' denotes '+’, *<’ denotes -/, *+’ denotes '+’, '@’ denotes ‘x’, -’ denotes '=’, *x’ denotes ‘>’ and ‘=" denotes ‘<’, Choose the correct

statement in each of the following questions.

& T TR DY g ST B 3R IR T UY BT IR -

i > @1 ol < B -, T il @ T i e, T e =,
T 3R > AR = T o < BT, R T T vl H Qe oA -

14>18+9=16+4<1

14>18+9=16+4<1

4>3@8<1-6+2>24

4>3@8<1-6+2>24



3<6@4>25=8+4<1

3<6@4>25=8+4<1

28+4@2=7@4+2

28+4@2=7@4+2

Correct Ans : B

Subject : General Reasoning

Q.No: 53
2727054

Study the following information carefully to answer the question given below-

Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the
highest marks is given rank 1 and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more
marks than E but less than D. B got the second least rank and F got the second highest rank, C got less marks than A.

How many students got the marks between F and B?

frafefad STHERY &1 ergde sreae o) F1 i3l T Uy &1 S SR

BEBH A, B, C, D, E 3R F H&T & 2N o5 3% arat &1 el < safaal &) TuH I Ui a1 g3l Ta9 e 3ich Uitd 3 ardl BT & 3 1 2 ot
2 ok WY Y 31 U A 10 BT BT 3 6 & A 81 B BT C 3R F Al § 1 oics i §1 A 1 E ¥ 3ifde AT D I w4 o6 fA1d §1 B Y gt
T B 3 firelt 3R F Y g8 9o I=ad 3@ fieht, C &1 A § & 3icp it

F Ul B & o fba ol &) oi e 82

None

IS Tl

Three

Two

One

e

Correct Ans : C

Subject : General Reasoning

Q.No: 54
2727055

Study the following information carefully to answer the question given below-

Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the
highest marks is given rank 1 and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more
marks than E but less than D. B got the second least rank and F got the second highest rank, C got less marks than A.

If second highest person got 42 marks then how many numbers probably got A?

fafafed THER BT eryde e o A el T Uy &1 3w Gl

BEBH A, B, C, D, E 3R F H&l & MY 8 3% arat &1 bl < afaa) &) THH I U a1 gl Ta9 i 3fch Utd 3 ardl B & 3 1 2 ot
B ok T FY 31 U A 10 B BT ¥ 6 & A &1 B BT C 3R F Gl § 1 oich i §1 A &1 E ¥ 31 AfsT D I w4 o6 fAd §1 B &Y gl



T HH 3P firelt 3R F FHY g8 Ga I=ad 3@ fich, C &1 A ¥ &1 o i)
I G T WG] 3 TH aTd Bl 42 3 B § df A Y foant oicp frem &) T 82

40
A

40

a4
B

a4

46
C

46

43
D

43

Correct Ans : A

Subject : General Reasoning

Q.No: 55 In the following question below are given, some statement followed by some conclusion taking the given statement to be true even if
2727105 they seem to be at variance from commonly known facts, read all conclusion and then decide which of the following conclusion logically
follow the given statement.

Statement:

Some curd are white.

Some milk are white.

No white is sky.

Conclusion:

(I) Some milk which is white is also cured.

(II) No milk is sky.

Fr feu MU Uy & $© U 3R 3% 918 I FUAl R R $& e fou U 71 g I I 1 aut § far 81 gt 81 it ey ug faw
g % & Ru U o & e, 3y T Hy= & R W giaaw §1

BY:
TS 38) 90G o

O g Tha &l

IS T T Tl 31
s

(1) TS g¥ o Ghg ¢ agl N 21
(I1) BTE gy SMHH e 1

Only conclusion I follow

Fad Frepd 1 SR a1 &

B Only conclusion II follow



Faa ey 1T IR0 HaT &

Both conclusion follow

S frep SR Ba ®

None conclusion follow

BIs Fred SrgeRoT A8 Fear @
Correct Ans : D

Subject : General Reasoning

Q.No: 56 Three candidates contested an election and received 1136, 7636 and 11628 votes respectively. What percentage of the total votes
2422265 (i the winning candidates get?

T SHiEaRT 3 UE gHId AT SR 3% HH: 1136, 7636 3R 11628 dic U gU| ot Swigart & oot #dl &1 fa-r ufaa e gam?

57%
A

57%

60%
B

60%

65%
C

65%

90%
D

90%

Correct Ans : A

Subject : General Maths

Q.No: 57  Kanika went to school for 215 days in a full vear. Ifherattendance is 75%, find the number of days
2422314 gy days on which the school was open.

BT I YR T 219 o e At off | afE Soat SufRif 759 §, 5 A @) Tem Fia sifen
for f&1T e gam 4

295 days

295 fa
290 days



290 fa

291 days
C

201 7

292 days
D

292 7

Correct Ans : D

Subject : General Maths

Q.No: 58 Two numbers are in the ratio 8 : 9. If the sum of the numbers is 289, then difference between the number is:
2429462

3 Tl 8:9 & 3quid H &1 afe Gwomell &1 i 289 €, O GEmal & diE o SR §:

13
A

13

15
B

15

36
C

36

17
D

17

Correct Ans : D

Subject : General Maths

Q.No: 59 The ratio of ages of Priya and her mother is 31 : 38. At the time of Priya's birth her mothers age was 21 year. Find the present ages (in
2429494 years) of Priya and her mother.

for SfR Ia! T Bt SR BT ST 31:38 § AR T & o7 & T ST A Y 31g 21 99 R A o ofR 3wt |ff &t g oy (af & ) I
Fifo

93,114

93,114

75, 116

75, 116

85,121

85,121
D 84, 119



84,119

Correct Ans : A

Subject : General Maths

Q.No: 60 Find the simple interest-Principal = Rs 6400, rate = 6% p.a. and time = 2 years
2432816

YR SIS 1T HIL-TAG = 6400 IUT, &R = 6% Ui I IR I0T = 2 a¥ §?

765
A

765

778
B

778

668
C

668

768
D

768

Correct Ans : D

Subject : General Maths

Q.No: 61 What would be the simple interest obtained on an amount of Rs 5556 at the rate of 10%p.a. after 6 years?
2432885

5556 ¥UY DI AR W 10% Ufd 98 &t X F 6 a9 §1¢ U 814 aTa YR A a1 ITm?

Rs 4456
A

Rs 4456

Rs 6098
B

Rs 6098

Rs 3333.6
C

Rs 3333.6

Rs 5987
D

Rs 5987

Correct Ans : C

Subject : General Maths



Q.No: 62 5 _ _ 1
2433005 How many e kg pieces can be cut from a cake of weight 7'5 kg?

TEﬁr‘ﬂT* W%—T%ﬁgﬁm *F T s Fle S T 27

9
A

9

8
B

8

6
C

6

10
D

10

Correct Ans : A

Subject : General Maths

Q.No: 63 In an examination, a student scores 4 marks for every correct answer and loses 1 mark for every wrong answer. If he attempts all 75
2435202 questions and secures 125 marks, the number of questions he attempted correctly, is:

T qdien B, U O &) IS TEl SR & AU 4 37 e § 2R Ude Teid IR & 1Y 1 3k T JHUM Bl 1 Al g gt 75 Ul Bl g B § @R
125 3id I T §, @ 3P gRT Tt 8 T T s ot e §:

35
A

35

42
B

42

40
c

40

50
D

50

Correct Ans : C

Subject : General Maths

Q.No: 64 Gold is 17 times as heavy as water and copper is 11 times as heavy as water. In what ratio should these metals be mixed so that
2435436 mixture may be 13 times as heavy as water.



AT R Bt g B 17 AT U B SIR ater ol Y ga & 11 T WY 81 59 ngsh &t foh srqura & il fara s anfew arfes fysror ot @ 13 T
URY g1 TF |

2:3

2:3
1:2

1:2

4:5

4:5
3:4

3:4
Correct Ans : B

Subject : General Maths

Q.No: 65 If the price of a flat increased by 15% annually and the present price of the flat is Rs 6,00,000. What will be its price (in rupees) after
2437811 3 years?

Ife, fpadt vt &) Fd F WA 15% 3 S S 8 3R Wie B adAH P 6,00,000 39T 21 2 ¢ T 3BT B (IUY H) 741 gnfe

6,90,000
A

6,90,000

7,35,000
B

7,35,000

7,50,000
C

7,50,000

7,93,500
D

7,93,500

Correct Ans : D

Subject : General Maths

Q.No: 66 A sum of money becomes 3/5 times more in 6 years at simple interest. What will be the compound interest of Rs 12000 after 3 years
2439130 4t the same rate?

YR S BT &R W 6 I § TH YR 3/5 AT 31 g1 oielt §1 S R W 3 T & 91 12000 FUY HT Ahdfleg A I G2
A Rs. 3972



3972 3qd

Rs. 3792
B

3792 ¥0d

Rs. 3960
C

3960 TUA

Rs. 4320
D

4320 ¥7A

Correct Ans : A

Subject : General Maths

Q.No: 67 In certain years, a sum of money becomes three times to itself at approx 7.69% simple interest per annum. Calculate the required
2439155 time.

o I8 A, BIs o= AR Ufd af TIHT 7.69% F TYRU AN WR [T FI A T &) S 71 A STF A€ 1avad qHT B I0MAT IR

13 years
A

13 99

26 years
B

26 94

6.5 years
c

6.5 79

39 years
D

39 af

Correct Ans : B

Subject : General Maths

Q.No: 68 A company purchases components A and B from Germany and USA respectively. A and B form 30% and 50% of the total production

2730414 ost. Current gain is 20%. Due to change in the international scenario, cost of the German Mark increased by 30% and that USA Dollar
increased by 22%. Due to market conditions the selling price cannot be increased beyond 10%. Then what is the maximum current
gain possible?

TF SO ST 3R GG I SARDT I FA: A 3R B IJUSRU WG 81 A 3R B HT FT ITE AN BT 30% 3R 50% & | a8 T 20% 3
SRIPT uRE=d # Fa1d & PR, SHA A P! BIFd H 30% I Ifa 81 T8 3R JUUT Ser 31 BIAd H 22% B 3fs 81 15 | TR & RUfdl & FRo0
g Ted 10% ¥ it TET Serr 51 9dhar g1 df ey JuIfdd ada oy o 82

10%

10%



12.5%

B
12.5%
0%
C
0%
7.5%
D
7.5%

Correct Ans : A
Subject : General Maths

Q.No: 69 Two girls are standing on either side of a tower. The angles of depression from the top of the tower are
2781120 observed to be 307 and 45° at the points on the ground where the two girls are standing. If the height of

the tower is 18m, then find the distance between the girls. (Note: Vi=17)

&1 eI5eh! e TTaT & Sl 3R @Y 8] 3% fag X Trar F ofnd ¥ sraerert & ior 300 31
45° § ST61 d 1 o15eh] @3l g| ATe CTaX &l olFars 18m &, ot esferal & dre &Y gl 71 &Y
(f3=17

36 m

36 m

32.6 m

32.6 m

48.6 m

48.6 m

49 m

49 m
Correct Ans : C

Subject : General Maths

Q.No: 70 A man completes the work in 10 days and the women can complete the work in 20 days. In how many days the man with 60%
2781236 efficiency and women with 50% efficiency working together can complete the work?

T et 10 ol & S O T B SR 20 oA A nfeard & @1 R Wt &1 60% G&dT AT GIY 3R 50% G aTelt HigeTd U 1Y HTH HRb
forem ot & o1 Q1 B Tdl B2

520/17

520/17
B 300/17



300/17

200/17
C

200/17

100/13
D

100/13

Correct Ans : C

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426642

25+4x2-52+13=51

fou u THfieRur @) OEt I & e fee <) SRemett &1 Uy o Sean o T1fge?

25+4x2-52+13=51

4 and 25
A

4 3R 25

13 and 2
B

13 3R 2

25 and 13
C

25 3R 13

4 and 13
D

43R 13

Correct Ans : B

Subject : Mental Ability

Q.No: 72

3429647 Study the two different positions of a dice. When the face containing one dot is at bottom then

how many dots would be there on the top face?

7



v 9 1 g eeyee e & sreame #Y) S vw g aren ses ged A
giar & ar ofd wes W frae g g

@ &

6
A

6

5
B

5

4
C

4

3
D

3

Correct Ans : C
Subject : Mental Ability

Q.No: 73 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to
2430229 pe trye even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow
from the given statements. Indicate your answer.

Statements: Many students who do not behave properly even though in the school bring bad names to themselves and also to the
school.

Conclusions:
I. Many students should be removed from the school.

II. Stricter discipline doesn't improve behavior of the students.

froffead oy & <1 vy 3R ITF o1 &1 By (1) 3R (I1) 3T U B 3Mues! Syt &) I AT 8, Yol 8 d GHre: 1d a9 i wedid 81 e
U g 7T AT § o fau MU el & § o 1, afe B Y, AT T ot &7 Ura HT 81 307 SR BT T IR

HYA: 9gd U B O Kgol # 81 & Sraqg i AP | HAER eI PR ©, I Ge DI AR Kgal B! Hf g&TH F g
Ao

1. B3 O & Wd § Fe o i

I1. FOR RN BHT & TIER H FUR el FHal 3

Only conclusion I follows

Faa freed 1 IR B &

Only conclusion II follows

Fad Py 11 SFAR01 BT &



Either conclusion I or II follows

a1 91 ey 1 a7 11 SR FRaT @

Neither conclusion I nor II follow

T ot fepd 1 3R T € 1T 3R HRar @
Correct Ans : D

Subject : Mental Ability

Q.No: 74 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be
2430238 e even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow
from the given statements. Indicate your answer.

Statements: Coal is an inexhaustible source of energy and can convert it into electricity. It has been done in this field the survey
shows that there is a vast potential for developing coal as an alternative source of energy.

Conclusions:
1. Energy by coal is a comparatively new emerging field on earth.

II. The energy crisis can be dealt with by exploring more and more in the field of aerogeneration.

FrofafEd vy o <1 BT 3R ITF a1 &F By (1) @R (I1) 3T TN B U] Syt &) I AT 8, Yol &1 3 9Hre: 1d a9 i wredid 81 8
TeR! T8 1 T § T faw Tu fsest & @ @ @, afe B |1, 3 T HoT BT UTe BRT B AT IR BT T R

FU: BIIA SHol B Td g A § AR T el & ufkalda w= Ioar 81 59 & ¥ 5w 7T qdemn | udl Iadr § 5 Sad & ol & Idbis aid &
Y B IoRid a7 3t e YuUIe g

frepd:
1. HA GRT SHoll Jal WR T SUTHd a1 SHRAT g 8 g
II. WeRTH & &7 § 3ifiie § 31fie T R Foif Yobe T fAuer off Fobdl g

Only conclusion I follows

A
Faa freed 1 IR HIar &
Only conclusion II follows
B
Fad Py 11 SFHR01 BT @
Either conclusion I or II follows
Cc
a1 1 ey 1 a7 11 SR HRaT @
Both conclusion I and II follow
D

frewy 1 3R 11 Y 3Rl Fa @

Correct Ans : D

Subject : Mental Ability

Q.No: 75 Which two signs should be interchanged to make the following equation correct?
2436532



40 =20 +50-10 x4 =40

fFafafea afteo o 98 TR & g {5 <1 Govdl &1 RER o9 & 9ear ST afgu?

40 =20 +50-10 x4 =40

* and +
A

« i+

+ and -
B

+ 3R -
C

ES T

_E_nd_
D

+ 3~

Correct Ans : C

Subject : Mental Ability

Q.No: 76 Ravi remembers that his mothers birthday is between 13th and 19th April. His Brother remembers that their mothers birthday is
2437410 petween 17th and 23rd April. If both of them remember correctly and on which day is their mothers birthday?

IS B T1e § P ITB! AT BT ST avg 3R I 30d & S Bl ST WIS Bl U1 § b I AT BT SiHAfe T8 ¥ 959 3ld & o9 g1 afe 37
31 ) 3ip q T1E § 3R ITH! Al Bl S b 3 82

17th
A
174
18th
B
1849
17th or 18th
C
173ar18d
12th
D
129

Correct Ans : B

Subject : Mental Ability

Q.No: 77 Suresh was born on 4 October 1999. Shashikant was born 6 days before Suresh. The Independence Day of the year fell on Sunday.
2437431 \hjch day was Shashikant born?



G BT O 4 SFEER 1999 BT 3T UTI RABIA BT 5 X I 6 37 ygel ganm U1l Al &1 Wl 37 AJaR &) 11 Airebia &1 54 54 37 gan
U1?

Tuesday

AR

Wednesday

qYUarR

Monday

Sunday

IR

Correct Ans : A

Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller
2438454 (ypes have exactly two painted faces?

T O Bl e e o1 € 3R 64 BIe 3R FAM BT & Bler o1 8, Rd B B Jaad IHa G 811 frda oie oot § 3l &1 ¥ gU s 82

24
A

24

26
B

26

28
C

28

32
D

32

Correct Ans : A

Subject : Mental Ability

Q.No: 79 Complete the following series
2438774

12,6,6,9,18,45,7?

frafafea g & g a
12,6, 6,9, 18,45, ?

A 135



135

1475
B

1475

1075
C

1075

105
D

105

Correct Ans : A

Subject : Mental Ability

Q.No: 80 When Aman told Sana about Ravi, He said ‘He is the son of my mother’s husband’. Who is Ravi to Aman?
2439341

S ST T P IF B IR T I, O I Bel ‘I8 W W P Ul BT ST 811 3 B o IF B 72

Cousin
A

TRT I

Brother
B

g

Father
c

foram

Uncle
D

CIC]]

Correct Ans : B

Subject : Mental Ability

Q.No: 81 If the sum of three consecutive numbers is 15, what is the square of the middle number?
2442246

gfe 7 AN TBmsit BT AT 15 § o He T BT 97 T BN

16
A

16

25
B

25



36

9
Correct Ans : B

Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442755
CARBONDIOXIDE

fau T dfeues <l H 9 98 e I S AU Y Xeg F 31eRY HT TANT HRb A ST S Fhalll
CARBONDIOXIDE

Board

Board

Bond

Bond

Diode

Diode

Bones

Bones
Correct Ans : D

Subject : Mental Ability

Q.No: 83 In making decisions about important questions, it is desirable to be able to distinguish between ‘strong’ arguments and ‘weak’

2442899 arguments. ‘Strong’ arguments are those, which are both important and directly related to the question. ‘Weak’ arguments are those,
which are of minor importance and also may not be directly related to the question or may be related to a trivial aspect of the
question. The question below is followed by two arguments numbered I and II. You have to decide which of the arguments a strong’
argument is and which a ‘weak’ argument is

Statement:

Is the government justified in spending so much on defence?
Arguments:

1. Yes, safety of a nation is of prime importance.

II. No, during peace this money could be used for the development of the country.

@yl g & IR § Fvfa #7 & Rig, ‘gea iR ‘goa dof § B 31 oedl 81 "Gad’ a9 AT AR U J T B1 ‘gaet’ db HH Magd
3R U A Uy ¥U § Gefd &) Ibd § U1 T 8 Gobd | e U H U e 2R 3P 91 & a9 [ 3R 11 iU T ¥ U 9 e @ i, Refafad
THl T A PH-J Th Y9 § 3R HH-Y a9 gadt g

PY:

T WBR GRT T BT 571 TY HAT 3T 22



T
1. BT, e BT GRE T NTaRg el 3
I1. =T8T, Ticht & SR 37 07 &) < & b & ITT fopa S gebart B

Only argument I is strong

A
Fad aF I 9ad 7
Only argument 11 is strong
B
Faa b I1 99d §
Either argument I or II is strong
Cc
It 9 1 a1 11 99a §
Neither argument I nor II is strong
D

TR aH I R 11 wea B

Correct Ans : A

Subject : Mental Ability

Q.No: 84 If Q = 8.5 and JOY = 25, then how will you code FROZEN?

2727628
If& Q = 8.5 3R JOY = 25, @l 31T FROZEN &I Fe Hdl fora?
60
A
60
46
B
46
48
C
48
42
D
42

Correct Ans : D

Subject : Mental Ability

Q.No: 85 A, B, C, D, E and F are sitting in a row facing west, C is between A and E, B is just to the right of E but left of D. C is sitting to the
2782044 jmmediate right of E. F is at the extreme left end. Which pair is sitting by the side of D?

A/ B, C, D EIRFIBHBI RPN @ FIR T IS EUE IC, ASNRES I A IBIgNB 1B, EF Sp e, egDF I AR I C,
EF P IUATSTIGN R | FAU BR F o W 3 | 1 & I -1 el D & Tt & ol garm g2

A Eand B



E3RB

B and F
B

B3R F

AandF
Cc

A3NRF

Cand A
D

c3iRA

Correct Ans : B

Subject : Mental Ability

Q.No: 86 If the HCF of 1120 and 1470 is expressible in the form 1120x - 1470 x (3), find x.
2427198

Tfd 1120 3R 1470 BT HCF 1120x - 1470 x (3) ¥ ¥U H T a1 o1 Tobel 8, Y x F1d DI

2
A

2

3
B

3

4
C

4

5
D

5

Correct Ans : C

Subject : General Aptitude

Q.No: 87 The least number which is a perfect square and is divisible by 20, 24 and 30. Find out the number.
2427260

9% DIt ¥ B W S U guf ol 3 9k 20, 24 3R 30 ¥ fursy §1 e 319 iR

3600
A

3600

1500
B

1500

C 400



400
2400

2400
Correct Ans : A

Subject : General Aptitude

Q.No: 88 A man travels a distance of 1331km in 11 hours by train. Calculate the speed of train in km/hr.
2427280

U el ¢ ¥ 11 W H 1331 et 3 gft qu wvar 8 | fpdlyder & 99 &t wfd &1 7 31d i

141 km/hr
A

141 fft/ger

110 km/hr
B

110 feft/ger

121 km/hr
C

121 et/ der

150 km/hr
D

150 fft/ger

Correct Ans : C

Subject : General Aptitude

Q.No: 89 An aeroplane goes a distance at a speed of 390 km/hr in 5 hours. If we want that aeroplane should cover this same distance in
2427339 3 hours, its speed must be:

TP WRITH 5 8¢ # 390 fpHi/He] #t IR ¥ g dm wrar g |
Ife &9 918 § 51 WoTel 3 ©C H 39 U o g8l Bl HAR BT d1MeY, 3! T 8T AMST:

550 km/hr

550 f&ft/der

650 km/hr

650 ft/der
250 km/hr

250 fet/ger
300 km/hr



300 i /Her
Correct Ans : B

Subject : General Aptitude

Q.No: 90 Two trains travelling in the same direction having speed 60 km/hr and 24 km/hr, if they completely cross each other in 3 minutes. If
2427374 the first train length is 300 m, then calculate the length of the second train.

T & o= # amn B arel &) 5 R i 60 fpHi/wier 3R 24 fpHi/Her §, oR A 3 e § T @RE J TH-gGIR B UR B4 B
3R Tgel 37 Bt daTg 300 Hier  dl R 2 P QL BY UM B

3000 m
A
3000 #Hiex
2500 m
B
2500 Hlex
3500 m
C
3500 Hex
1500 m
D
1500 Hex

Correct Ans : D

Subject : General Aptitude

(22;"\;01:2%12 OA, OB, OC are 3 lines in a plane which meet at O. If the angles £AOB, #BOC, #COA are 2x, 5X, Bx respectively
(where x is a positive angle), then x equals:
% HAGA H o {@W OA, OB, OC & &1 & O @ el & If¢ #1971 £LAOB, £BOC, £/ COA ®H3T: 2X, 5X, 8X & (S8l X &AH®
TIOT B) &9 x aHrel B
24°
A
24°
180
B
18°
15°
C
152
120
D
120

Correct Ans : A

Subject : General Aptitude



Q.No: 92 What should come in place of the question mark (?) in the following question?

2432021
[{(486)2=(27)2} % 15] =12="2
Fafafea gy & uyare e (?) F - R |1 37T 91feu?
[{(486)2=(27)2} x 15] =12="7
365
A
365
375
B
375
385
c
385
405
D
405

Correct Ans : D

Subject : General Aptitude

Q.No: 93 36 persons working 8 hours a day can do 3 units of work in 12 days. How many persons are required to do 5 units of that work in 16
2436082 days, if they work for 6 hours a day?

36 3cHl fafcT 8 daT P PR 12 A H 3 3pE PH BRA &l 16 RN A IH PH B 5 PR & P S oY fban cafaat 3t
fTaIehal gl 2, Ife 3 ufdfed 6 HeT & Ha 82

a5
A
a5
50
B
50
55
C
55
60
D
60

Correct Ans : D

Subject : General Aptitude

Q.No: 94 Three painters have to spend 6 hours a day for 12 days to finish a work. If after 3 days one painter leaves, in how many days the
2436089 remaining work will be completed'?



&7 fomeRt & 12 o & et &M & i 6 62 ufa 3T wd o7 usd €1 aft 3 it & 91 we REeR Feadr 7, df 99 & feam fot & w1 g

131
.
A 1
s
2
Lo
3
B 2
152
3
8
C
8
11
b 11

Correct Ans : A

Subject : General Aptitude

Q.No: 95 A can do a piece of work in 8 days and B can do it in 10 days separately. How many days would it take for both A and B to finish the
2436113 g3me work together?

A forsht &M ®1 8 fe7 B IR bl § 9IR B I 0 H1 10 &7 & % THa1 ¢ | SART A 3R B fraex It &m &l fovdw fed B @1 w8

33

—days

Ltk
A £

g

40

—days
B g

E

9

41

. days
Cc

A1

10

42

—da

11 s
D

42

11
Correct Ans : B

Subject : General Aptitude

Q.No: 96  If the 8-digit number 2074x4y?2 is divisible by 88, then the value of (4x + 3y) is :

2436201
Tfe 8 —3ich] B T/ 2074x4y2 88 T IUT B, 1 (4x + 3y) HT AN ©:
49
A
49
36
B
36



42

45

45
Correct Ans : D

Subject : General Aptitude

Q.No: 97 In how many different ways can the letters of the word 'WORKSPACE' be arranged in such a way that the vowels always come
2444140 together?

eq 'WORKSPACE' & 3{&R} T fba 3rev-3ra aiieh! § 39 UPR HafRUd fohar off JobaTl © o6 TR 0 U 1Y 37?2

4320
A

4320

30240
B

30240

26450
C

26450

5380
D

5380

Correct Ans : B

Subject : General Aptitude

Q.No: 98 Four dice (six faced) are rolled. The number of possible outcomes in which at least one die shows 2 is:
2444385

T: Bad] & IR U b od 81 WY Iy uRumAT ) T, R &7 @ 1 T Ui 3id 2 &) exidr ], §:

1296
A

1296

625
B

625

671
C

671

653
D

653

Correct Ans : C



Subject : General Aptitude

Q.No: 99 What should come in place of question Mark ‘?’ in the following number series?
2444747

12, 35, 106, 317, 952,

frefaRaa dem gaar # U= g 2! & RIF W a1 SE?

12, 35, 106, 317, 952,

2851
A

2851

2855
B

2855

1851
C

1851

1849
D

1849

Correct Ans : B

Subject : General Aptitude

Q.No: 100 The sides AB and AC of AABC are produced D and E. respectively. The
2730256  isectors of 2CBD and <BCE meet at P. If £P = 54° find the measure of £A.

TI31sT ABC &7 91 AB 3 AC &1 D X E 91T &1 10T CBD 3K 10T BCE
& TastroTer Toig, W f#erel §1 A P = 54° &, A1 107 A & AT AT ST

720
A

720

36°
B

36°

48
C

48

28°
D

28°

Correct Ans : A



Subject : General Aptitude
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Q.No: 1 Name two methods by which it is used to replenish the soil with nutrients?
2426878

3 < faftrdt & T 5y, % gR1 U awl & 1y it B R & R & o SuanT fbar S 2

Soil Drilling and Crop Rotation

A
71 TR ok waa L=
Crop Rotation and use of manure
B
A A SR WG HT START
Use of Manure and Dripping
C
| MR IR #1 IuEm
Use of Manure and Seed Drill
D

e 3R i fga &1 IugiT

Correct Ans : B

Subject : General Knowledge

Q.No: 2 Who among the following had introduced the Pradhan Mantri Gram Sadak Yojana?
2427381

Fafafed & ¥ fram gymesh a9 ae gE @1 A

Narendra Modi

A
Mg g
Atal Bihari Vajpayee
B
e fagrt areadt
Rajeev Gandhi
C
reitg et
Indira Gandhi
D

R i
Correct Ans : B

Subject : General Knowledge

Q.No: 3 Under Pulse Polio Immunization program, children in the age group of years is administered polio drops.
2427393

Ued Ui debTe T ek % ded, ¥ @t 3rg &l & Sl B iferEl STy e S B
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0-5 years

A

0-5 af

0-4 years
B

0-4 3

0-7 years
C

0-7 af

0-3 years
D

0-3 af

Correct Ans : A

Subject : General Knowledge

Q.No: 4 Who is the founder of the one of the biggest e-commerce group ‘Alibaba’?
2428876

TG 93-S GHg "IrciaTET & RIS HH 82

Jack Ma
A

S a

Sundar Pichai
B

Yo g

Parag Aggarwal
C

TRIT 3rard

Phalguni Nayar
D

BTEMT ARR
Correct Ans : A

Subject : General Knowledge

Q.No: 5 Which of the following is not the major benefit of WTO?
2428877

frofafed § § $H-91 3y SR e &1 THE T T8 87

WTO helps promote international peace and facilitates international business.

A
fay SR WeT SRSt ifd F agraT 37 § Weg HYAT § SR SRR WUR B GiAYT Te FRaT 31
WTO helps fostering growth of developing countries by providing them with special and preferential treatment in trade related matters.
B
fy TR e famraia 3 B AUR ¥ YEita aal § R ok TReiE STER veH $RF 3% AT B ggar ¢ | "ag oear g
To promote exchange stability with a view to maintain orderly exchange arrangements among member countries
C
T I & v sgafya faf g srawr s91e @A 9t 2 @ g Rz «t 9gar 3
Free trade improves the living standard of the people by increasing the income level.
D

Yo IR AR & Sfia TR § g TP YR $Ram @

Correct Ans : C



Subject : General Knowledge

Q.No: 6 What is the capital of Bhutan & Myanmar respectively?
2428934

e 3R AR T IS HAS: &1 82

Jakarta, Tokyo

A

StoTal, et

Phnom Penh, Bangkok
B

W %, Soie

Thimphu, Naypyidaw
C

g, Adtst

Moscow, Lima
D

w1,
Correct Ans : C

Subject : General Knowledge

Q.No: 7 The Norwegian Sea is located in which ocean?

2429063
Ao AR 5y AERITR # fRd 87
Arctic Ocean
A
THeSH WEETR
Pacific Ocean
B
URIid AERIRR
Atlantic Ocean
C
Jedifes HeTNR
Indian Ocean
D

fEg werR
Correct Ans : C

Subject : General Knowledge

Q.No: 8 The volcanoes Mount Vesuvius and Mount Etna are located in which country?
2429064

e YTy ok AGe e Ay fe 3w & R g2

Spain
A

|

Japan
B

SICIE]

(o} Italy



gedt

Indonesia

AR
Correct Ans : C

Subject : General Knowledge

Q.No: 9 When was a Supreme Court established in Calcutta?
2432127

FHAD | Y TAed Bt R H9 gs A2

1774
A

1774

1775
B

1775

1776
C

1776

1777
D

1777

Correct Ans : A

Subject : General Knowledge

Q.No: 10 When was the Water (Prevention and Control of Pollution) Act passed?
2432152

A (UGN BT AU SR Fgon) siftifem e uifd s mar?

1952
A

1952

1966
B

1966

1970
C

1970

1974
D

1974

Correct Ans : D

Subject : General Knowledge

Q.No: 11 In which of the following places, the Muslim League was founded in 1906?
2433581

foffed & 9 frg =M W 1906 & g™ o ot o g8 o
A Dhaka



Ea)

Calcutta
B

DAbl

Bombay
C

ar

Madras
D

HeTH

Correct Ans : A

Subject : General Knowledge

Q.No: 12 Who called the “Cripps offer” a post-dated cheque in the name of a crashing Bank?
2433591

e "fre SiThR" BT U Gad §U §F & A W URS-3S A% Hgl UT?

Mahatma Gandhi

A

wgTeT e

Lala Lajpat Rai
B

GIGIGIGEGRIT]

Vinoba Bhave
C

IERICIRYC]

Annie Besant
D

ot ade
Correct Ans : A

Subject : General Knowledge

Q.No: 13 Which of the following Five Year Plans aimed at the development and rapid industrialization of the public sector?
2434461

Fafafaa & ¥ frg daasiy e &7 3E=g Adee & &7 e 3R dsit I SfeiiieR o7 ?

Second
A

[l

Third
B

fedt

Fifth
C

LIEC

Tenth
D

aHdr

Correct Ans : A

Subject : General Knowledge



Q.No: 14 Who is the current head of National Cricket Academy?(July 2023)
2437131

AP Rpde et & adH TEE $H 87 (A% 2023)

Anil Kumble

A
e Fadt
VVS Laxman
B
Jidigw wgaT
Rahul Dravid
C
ga Ffag
Sachin Tendulakar
D

| dgaav
Correct Ans : B

Subject : General Knowledge

Q.No: 15 Mando folk music is associated with which of the following Indian states?
2440760

A A Wifta Pl § 9w R o & el 82

Maharashtra
A

HERTY

Goa
B

Tt

Gujrat
C

TSR

Puduchery
D

LSEl

Correct Ans : B

Subject : General Knowledge

Q.No: 16 The two rock-cut tanks known as Ganga and Yamuna can be found at
2441202

T SR TAT & W ¥ 9 9 a1d & Ab-Pe P o O S b B
Ajaigarh Fort
A
Ecvurdcal
Nachna Kuthara Parvati Temple
B

T FSRT Ut HiGR
C Chaumukh Nath Temple



Ry Y HRY

Rewa Fort

Har frar

Correct Ans : A

Subject : General Knowledge

Q.No: 17 In which of the following places of Madhya Pradesh is the Ek Mukhi Datta temple?
2441404

TP Tt T AR A v & Fufated # ¥ e v w R g2

Omkareshwar
A

SHBTAR

Pithampur
B

g

Panchmarhi
(e

LELG)

Maheshwar
D

R

Correct Ans : D

Subject : General Knowledge

Q.No: 18 river runs through the Panna national park.
2441409
& AT AP I F TR ToRal! B
Ken
A
P4
Betwa
B
et
Narmada
C
THa
Chambal
D
EEC]

Correct Ans : A

Subject : General Knowledge

Q.No: 19 Maharana Pratap Singh was the 13th King of which of the following kingdoms?
2776142

TERTOT yarg R Fofifed § 3 feu s & 13 I om A

A Mewar



Hars

Raisen
B
IR
Kutch
C
i)
Gogunda
D

Correct Ans : A

Subject : General Knowledge

Q.No: 20 Where is the Headquarters of the world trade organization (WTO) ?
2776143

Ty MUR e (Ssctel) &1 TEIaT FEl 82

Geneva
A

fomar

London
B

GEL]

Osaka
C

ST

New York
D

Correct Ans : A

Subject : General Knowledge

Q.No: 21 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements
2429277 carefully and select the correct answer to the question from the given options.

Assertion (A): It is necessary to recycle non-biodegradable waste.

Reason (R): Animals are also at risk since they can consume it and become poisoned and die.

= Fofoiad vy & < o § RSFH 3 T 1 "sifiisym iR IR &) "BRU & TU & dad a1 T gl
MUY & ST YT BT YYD S Bt § AR U MY et T I Uy &7 Te) IR I 71

B (A) : IR-Fefidwrolia Bk BT TEHU BT AW
HRO (R) : THaR! BT 2t WRT § TP T SHBT VI HR Thd § 3R TR T Thal § AR AR I g1

Both A and R are true

T 3R IR I g &

Both A and R are false

T 3R R Y 3T §



A is true, but R is false.

T I ? AfPp 3R 3 21

A is false, but R is true.

T I ¢ A R | B
Correct Ans : A

Subject : General Science

Q.No: 22 The animal in which the cells are properly arranged into tissues and organs and the digestive tracts are complete along with the anus are grouped under-
2429842

3 5ig & BRI e § SHeeb! 3R it F gl At ¥ @R a1 & -9y urer fopant quf @t B, 3% P & aeffepa o e 2-

metazoans
A

Hewig

eumetazoans
B

PULEINE

parazoans
C

LHE L

cryptogams
D

Eguug

Correct Ans : B

Subject : General Science

Q.No: 23 Observe the following figure given below. This organism belongs to which kingdom?
2429915

Monera

T
B Fungi



Algae
C
qara
Bacteria
D
Jafar

Correct Ans : B

Subject : General Science

Q.No: 24 CFCs are carbon compounds having both , which are very stable and not degraded by any biological process.
2431693
Ruw R, s e § e , S 8 B, St gd R 813 € ol fhalt ot Sifde b @ sramfia Y 8
chlorine and fluorine
A
FAN 3R wIRE
chloroform and fluoride
B
FARIGTH 3R wiRTES
chlorophyll and fluroscent bacteria
C
FARIPe 3R IR Sadifar
chlorine and magnesium
D

FIN ok AffRrw

Correct Ans : A

Subject : General Science

Q.No: 25 Hyperpyrexia can occur when a person’s body-temperature rises above -

2434299
BIFURURRTT 79 B Yebdl & o1 T oy & YRR 1 Aaqe= J 3 g 9T -
103 °F
A
103 °F
106 °F
B
106 °F
39 °C
C
39°C
40°C
D
40°C

Correct Ans : B

Subject : General Science



Q.No: 26 We call the distance covered by an object in a unit time as the of the object.
2436410

TH SHE TR A Pl IR gRI T 1 T A B g I Y/ B ____ Hed 7

speed
A

e

Momentum
B

T

Magnitude
C

STHR

Displacement
D

faimes

Correct Ans : A

Subject : General Science

Q.No: 27 Epsom salt is the hydrous form of -

2437204
TEH Tlee 5T SRy ¥ 82
Ca(504)2
A
Ca(S04)2
CaS0s
B
CazS0s
MgS0,.7TH,0
C
MgS0..7TH,0
MgClz
D
MgClz

Correct Ans : C

Subject : General Science

Q.No: 28 Global 500 award is given by which of the following organization?
2439799

TEd 500 REGR FEffed & ¥ fow =i gr1 ver fbar s 82

Unesco
A

Ll

Unicef
B

PR

C WTO



WTO
UNEP

UNEP
Correct Ans : D

Subject : General Science

Q.No: 29 Which layer of the atmosphere is most important for an ecosystem?
2439843

TR a F T argrvsd 3 B - W Rd Taffie Aeaye 2t 82

Thermosphere
A

aTE ArgHed

Stratosphere
B

TqHAT HE A

Exosphere
C

afeiea

Troposphere
D

&ty wsd

Correct Ans : D

Subject : General Science

Q.No: 30 Which of the following colors is least scattered by fog, dust, or smoke?
2439877

i & ¥ o O 31 FIeR, Y 7 YU I TG99 H1 foRaRar 82

Red
A

re

Black
B

Ly

Brown
C

w

Yellow
D

e

Correct Ans : A

Subject : General Science

Q.No: 31 How many pairs of salivary glands are found in humans?
2439924

T # fora Siel AR e ol S 82
A 3



6
B

6

9
C

9

12
D

12

Correct Ans : A

Subject : General Science

Q.No: 32 Zaid crops are generally characterized by their ability to

2783653
TG GOt T AR o IR WSABT A P &Har Bt B
Withstand drought conditions
A
@ 3 RS &1 a1 s
Survive in low-temperature environments
B
T AU 1A qraraRor § SHfdd e
Produce high yields per unit area
C
ufd go1é & # 3= Iu a1 AT
Withstand strong winds
D

A garait BT ATHAT BRAT
Correct Ans : A

Subject : General Science

Q.No: 33 The image/jpg shows special reproductive structures in a plant. Which mode of reproductions is exhibited by such plants?
2783799

Spore formation

dteroy fmtor

B Budding



Taifea

Fragmentation

fogs

Vegetative propagation

EERRtCREINS

Correct Ans : A

Subject : General Science

Q.No: 34 The table shows classification of two organisms — Monarch Butterfly and Giant Pangolin. How are the two organisms related?
2784634

Kingdom | animal Animal
Phylum arthropods Vertebrates
Class msects Mammals
Order Lepidoptera (butterflies and moths) | Pholidota
Family Danaidae Manidae
Genus Danaus Manis

Species Danaus plexippus Manis gigantea

qferpT < sftal &1 arifevur gifet § - TS Sexuars 3R faxmaem Tmier | it shia & Tefda 82

EUGEREIEEL SHET

L2z e 1 7 P oY FATEh

T | Sfeien (Rl s adr) | Biaske
Fa | =12 afe

i | SHE wiETg fa frtfean

They are closely related as they belong to the same family.

A

TP € URaR | 9 F SR ITH T e B

They are distinctly related as they belong to the same kingdom
B

3 7w & W |/ HEl §R & FRU WY FU S 96fia §

They are not related at all as they belong to different kingdoms.
C

3 fyega ot Wefla = ¥ FfP 3§ srem-orerT wrra § Teifta §1

They are very closely related as they belong to the same genus.
D

q U@ & yeifa | Wafia e & SR 9gd e | afid gl
Correct Ans : B

Subject : General Science

Q.No: 35 Why is sexual reproduction important in plants?
2784714

el # A U it Aewguf 82

It leads to the formation of seeds and fruits for dispersal.

99 o & R e ok weil 31 Fmfor g 31

B It helps plants obtain energy from the sun.



Tg el &Y gF A Fol urw B A Weg e gl

It allows plants to take in carbon dioxide from the atmosphere.

g Wiel B IIATER0T @ BIE SFSATTHSS A4 P AT a1 B

It aids in the absorption of nutrients from the soil.

Tg frdt @ Wive al & sraxiivor § Tgrar s gl

Correct Ans : A

Subject : General Science

Q.No: 36
2424525

Find the odd word out.

ST Yeg BT T BHifoTT |
v

&t

Refrigerator

Ipeiver
Bullock Cart

St

Washing Machine

IR w=i=

Correct Ans : C

Subject : General Reasoning

Q.No: 37
2424536

Find the odd number out.

ST T BT 99 Do |

8

27

27
64

64

225

225

Correct Ans : D

Subject : General Reasoning

Q.No: 38
2424542

Find the odd word out.



ST Weg BT T BIfoTT |

Saturn
A

ot

Jupiter
B

Tewfa

Mars
C

|

Moon
D

EEC

Correct Ans : D

Subject : General Reasoning

Q.No: 39 In the diagram, Triangle represents the Bengali medium Students, Circle represents the Students work in Private sector, Square represents the unemployed
2426587 gtydents and Rectangle represents the Students who work in Govt. Sector.

How many Bengali medium Students are there who work in private sector?

g B, Byt Fareht Aremm & i &1 Ui Far 8, 99 ol & & BE & B &1 ufafAfid FRar 3, 3 SRISFIR B &1 Uit wrar § SR Siad WeR! &8 & & Ha

1o o &1 Ui S g
15 5
9 1A
AN
2

fopan dwrelt Arem & o § S Aol & & B B 82

1
A

1

6
B

6

9
C

9

a4
D

a4

Correct Ans : C

Subject : General Reasoning



Q.No: 40 Which of the following diagram indicates best relation between Lion, Animal and Human?
2426735

Fofiad # § S a1 3@ 2R, Y 3R Aa P 9 Jad 3= Goiy B aidr 82

© o
© o

Correct Ans : C

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427793 appear when unfolded.

r— — — A — =T

| |
F = — o :

—
|

r— - ==

A fow 7T Uy oA T T SIS & THS B ST IR FTeT T 7, & T8 IR NPl F awedl H § I IR P &1 701 B, I fF A 3R F1e T HFTE B @ R
KcaticEnill

r— — — A — =T

._i’__ :

oo

A (=[] =]

[=1-F-]==]




[=FE1=]

[=T: 7 o]

1= R-1—]
] == e =]

Cl=1=L]

[=TT-1=]

Cl=1=L]

[=TT-1=]

Doos
(=TT

=0 es
[=ET=]

Correct Ans : D

Subject : General Reasoning

Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427805 appear when unfolded.

LN s
s v 4
i
[
@ .
A9
=l

F2 T T vy Pl H TP B F gHS B AT SR Frel T §, T S P F b H Y IT SW NP B I IR, I 5 A 3R B T FIS B WA R
i gt

’r'_",_\ ”'_‘1“
\
! I
'
A9
=




Correct Ans : B

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427806 appear when unfolded.

———

"y "u
s
LI
o o
o
r, © L
.
L
" v
o
L, © o®,
B 5 =
° ©
.o
o ]
.




-] L]
4o
i
o o
:
ﬂax
-
fl
y
=
s
@ L]
.
<,
3 o
L] ,.o
’I
.
% "o
u i
D
.l
B
o
L] . (-]
2
% o

Correct Ans : A

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427818 appear when unfolded.

3Tepel S|




Dc OO
L

D° eo
Soc?

Correct Ans : D

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like which the paper will
2427833 appear when unfolded.

P S

A
4, y
& %
a Gcfo
& %
B
D‘4 f
& %
V ]
4D°c,0
S
C
V ]
4D°c,0
&
o
4 &
o
%
D
4 Y
o
DOO VV

Correct Ans : C

Subject : General Reasoning



Q.No: 46 Which answer figure will complete the pattern in the question figure?
2433185

DH-T IW AHA TY P F UEy B {1 Hwi?

&
A
b
P
0
@
"
P
RY

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.
2433503 B

I TP Bt g B S T HI G Bl g



O
A
e
X
-z
2,
[z
7

Correct Ans : D

Subject : General Reasoning

Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434914
6:36::?7:121

I faed &1 707 HX o Rt e I S TR e § S gudt 9o vl gen ¥ Tefid

6:36::7:121

10
A

10

12
B

12



11

13
Correct Ans : C

Subject : General Reasoning

Q.No: 49 1Identify the classes that best represents the relationship among the given diagram.
2435566

I AR Y TeE B S 3T TN S F T el BT I 3T Ui FRa B

College, University, Students

A
Hiae, fayfeemay, s
Animals, tiger, car
B
qg], 919, PR
Delhi, Sri Lanka, Asia
C
Atmosphere, Hydrosphere, Biosphere
D

qgHSd, SaHsd, SaHsd
Correct Ans : A

Subject : General Reasoning

Q.No: 50 Identify the diagram that best represents the relationship among the given classes.
2435678
Honesty, Intelligence, Aptitude

39 3R B UgdH B Sl fou T AET & o Yoy b1 God 331 ufafAfded Sear 31
SOFERY, gfgwa, dvgar



Correct Ans : A

Subject : General Reasoning

Q.No: 51 1In a certain code, ‘INDIA’ is written as ‘KOF]C’. How ‘CURRENT’ written in same code ?
2726849

et Plg T &, INDIA’ B 'KOFIC’ & w0 ¥ frad ¥ 38 Pl & 'CURRENT’ &) &1 frad 22

EVTSGOV
A

EVTSGOV

EVSTGOV
B

EVSTGOV

EVTUEOV
C

EVTUEOV

EVSTVOG
D

EVSTVOG

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Study the following information carefully to answer the question given below-

2727056
Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the highest marks is given rank 1
and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more marks than E but less than D. B got the second least
rank and F got the second highest rank, C got less marks than A.

Who got the highest marks?

Frefifad THERT 1 eaFgde Sega BR 1 3 T Uy &1 S R

BEBH A, B, C, D, E 3R F &1 & =i B8 & a1dl § | fbel < afekaall ol Twr ¥ Wit Tt g1 | Wady Sifieh 3ich U = aTdl BT Bl ¥ 1 €Y 9t § 3R Gadl HH 3icb T
P I BH B XD 6 & KT 81 B B C R F I T 7 i A §1 A &1 E ¥ 3ifiep AT D ¥ 7 i A B1 B &Y G T FH I et 3R F ) gt T F=ad ¥



fircht, c # A Q HH 3@ fAral

TR e ofe frue i §2
E
A
E
B
B
A
C
D
D

Correct Ans : D

Subject : General Reasoning

Q.No: 53 Study the following information carefully to answer the question given below-
2727057

Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the highest marks is given rank 1
and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more marks than E but less than D. B got the second least
rank and F got the second highest rank, C got less marks than A.

How many marks does E got?

Frofifad TFERT BT eaFgde Sega &R i 2 T vy &1 S v

BEBH A, B, C, D, E 3R F &1 & =¥ ©5 &b a1dl §1 bl <l afokaell ol Tur Yo Wit Tt §ofT | qad Sifieh 3ich U = a1 BT Bl ¥ 1 €t Ot § 3R Gad HH 3icb T
P I BH BB 6 & il 81 B B C AR F I T 7 i A §1 A &1 E ¥ 3ifiep AP D A 7 3/ A B1 B HY g T FH ¥ et IR F Y gt 99 I=ad 36
fircht, c # A § H1 3% firal

E & fpa 3i it 82
40
A
40
38
B
38
18
C
18
Data inadequate
D

3T i

Correct Ans : D

Subject : General Reasoning

Q.No: 54 What should come in place of question mark?
2727094

YA e & I W T ST



R RR R

Correct Ans : A

Subject : General Reasoning

Q.No: 55 Read all information carefully and answer following question?
2727106

Digits/Symbols- * § %+ 2 A © 354721689

Codes-AB CDEFG HIJKLMNOP

(I) If first place is even number and last place is odd number then both places are to be coded by first digit / symbol.
(I1) If first place is odd number and last place is even number then both place codes will be interchanged.

4+ #$1

fau o A Y U S8R U U Uy &l IR 2

HAFFAF-*S %+ #A©3547216809

HE-ABCDEFG HIJKLMNOP

(1) 3fe Uga ye W T ¥ IR Sifaw e faww wem ¥ o ved ok Siftw ue & Fis § usdl ue @1 Pis R smem

(11) T vgan e fawm e § SR Sifom ug wm T B, df Ued ok oifom U & Siel &7 omow # R ufad- far smem|

4+ #$1
A JDFIO



JDFIO

JDEBJ
B

JDEBJ

JDEMB
C

JDEMB

JDFIM
D

JDFIM

Correct Ans : B

Subject : General Reasoning

Q.No: 56 Two tailors X and Y are paid a total of Rs. 550 per week by their employer. If X is paid 120 percent of the amount paid to Y, how much is Y paid per week?
2422266

3l golf X 3R Y &I 3% et gRT Ufd Twiig $d 550 U BT YA a1 |1 31 afg X &Y Y HY 4T Bt T MR BT 120 WA= I 3 S 8, O Y &1 v gerg famn
WA b e 82

Rs 200

200 39T

Rs 250

250 30
Rs 300

300 3T
Rs 500

500 U

Correct Ans : B

Subject : General Maths

Q.No: 57 If 11 % of a number exceeds 7% of the numbers by 18, the number is
2422315

e Tl T &1 11%, 39 T & 7% I 18 31 &, o 98 T &

72
A

72

360
B

360

450
C

450

720
D

720

Correct Ans : C



Subject : General Maths

Q.No: 58 The ratio of 3 hours to 180 seconds is:

2429463

3 °¢ § 180 IS BT UM &

60:1
A

60:1

120:1
B

120:1

180:1
C

180:1

150: 1
D

150: 1

Correct Ans : A

Subject : General Maths

Q.No: 59 A car covers a distance of 500 metres in 30 seconds whereas a bus covers a distance of 45 kms in 45 minute. The ratio of their speeds is:
2429497

TF BR 500 Wex 31 g8 30 Jhs & 79 B § TP Th 99 45 fhamier 3t gt 45 e & 70 It 31 91 13 7 3/ 3

3:2
A

3:2

2:1
B

2:1

4:3
C

4:3

1:1
D

1:1

Correct Ans : D

Subject : General Maths

Q.No: 60 Find the amount when: Principal = Rs 2650, rate = 8% p.a. simple interest and time = 5/2 years
2432817

o1 1 PIY - oA = 2650 U, & = 8% Wi I VLR SN W R TAY = 5/2 T8 g2

3180
A

3180

3160
B

3160

C 2650



2650
2660

2660
Correct Ans : A

Subject : General Maths

Q.No: 61 What would be the simple interest obtained on an amount of Rs 6055 at the rate of 15% p.a for 6 years?
2432886

6055 IUT Bt AR R 15% Ufd a¥ T & I 6 0 P T AR <A a1 grm?

Rs 4098.0
A

Rs 4098.0

Rs 6987.0
B

Rs 6987.0

Rs 2009.8
C

Rs 2009.8

Rs 5449.5
D

Rs 5449.5

Correct Ans : D

Subject : General Maths

Q.No: 62 : 3 4
2433006 Sneha and Reema want to make clothes for their dolls. Sneha has s meter cloth and Reema has E

meter cloth, and Sneha gives %part of the cloth she has to Reema. How much total cloth does Reema

have now?

HET 37 T et AT F o Fug amarr Frgdt 2| rA@%WEIﬁHW%aﬂTﬁﬂT%WE
Hrew FTET &, 3 FAET A TR F HAE TS A A AT T T I a7 o v Fwww

14

15

14
15



15

17
45

L7
45
Correct Ans : A

Subject : General Maths

Q.No: 63 If 16% of a = 8% of b then 40% of a is,
2435203

Tfe a BT 16% = b 1 8% 8, @ a BT 40% B,

20% of b
A

b &T 20%

10% of b
B

b &T 10%

16% of b
C

b T 16%

80% of b
D

b T 80%

Correct Ans : A
Subject : General Maths

Q.No: 64 A:B = 5:8, B:C =8:11, then find the value of A:B:C.
2435452

A:B = 5:8, B:C =8:11, & A:B:C &I U J1d HIfTg|

6:8:11
A

6:8:11

8:5:11
B

8:5:11

5:8:11
C

5:8:11

6:5:13
D

6:5:13

Correct Ans : C

Subject : General Maths



Q.No: 65 If Raman pays a total of Rs 5500 to their employee’s Arun and Varun per week. If Arun is paid 20% more than the amount paid to Varun. How much Varun is
2437812 paid per week?

e YT S0 FHARY 30T 3R TV HI Ul Jlg F& 5500 FUY BT YA Bl 31 A 0T Bl THUN BT YA Bt T R F 20% 1S Y1 b e 31 901 &I ufey g
feba 7T e ST 22

Rs.1500

1500 3T
Rs.2000

2000 TT
Rs.2500

2500 TT
Rs.3000

3000 ¥U4

Correct Ans : C

Subject : General Maths

Q.No: 66 Find the time in which the simple interest on a sum of money be equal to the principal at the rate of 20 % per annum?
2439131

g THT F1d P R wfy af 20% B ER 4RI TR A R gAY S IAH S Sl 82

3 years
A

3af

2 years
B

2ad

5 years
C

5 af

8 years
D

8 9y

Correct Ans : C

Subject : General Maths

Q.No: 67 Find the compound interest on a sum of Rs 1500 for two years at the rate of 5% per annum compounded annually.
2439156

1500 ¥ B} AR R & af & 1T 5% vfd a8 Bt R F AP Iehgfa <t I BRI

Rs. 153.75
A

153.75 93

Rs. 156.25
B

156.25 ¥Ud

C Rs. 125.25



125.25 303

Rs. 142.65

142.65 ¥
Correct Ans : A

Subject : General Maths

Q.No: 68 A furniture when sold for Rs.11000 gives a loss of 12% to the merchant who sells it. Calculate his loss or gain %, if he sells it for Rs.13375?
2730431

ot wifeR 1 & 11000 3. H ST ST § 3R S 13375 3. H I 9T @l AURT $I 819 GT6 THaH IT IS b1 Ui=idal I1d b

Profit of 5%

A
5% BT ATH
Profit of 7%
B
7% BT IYH
Loss of 8.5%
(e
8.5% T d1H
Profit of 9.5%
D

9.5% BT dTH
Correct Ans : B

Subject : General Maths

Q.No: 69 A mixture of 1920 ml is prepared of water and oil in the ratio 5:3, respectively. If this ratio is to be corrected to 1:7, then how much more oil should be added
2781121 fter removing the excess water such that the total quantity of the mixture remains the same?

1920 fircficiieR forsor & ot oiR A BT U HH: 5:3 B A T U BT Tl IR 1:7 BT 8, a FAsy01 § urt FHebras & w18 fpait A1 & Ot STe W arfe fysor 3 e
T R?

840 ml

840 fiefiehex
960 ml

960 firefieiter

1120 ml

1120 fiefiehez
480 ml

480 fireficiiex

Correct Ans : B

Subject : General Maths

Q.No: 70 Abhishek and Vishal purchase 6 shirts and 9 shirts of same cost price respectively from a shopkeeper. Abhishek and Vishal give Rs. 2200 and Rs. 3400 to
2781237 shopkeeper. The shopkeeper returns Rs. 40 to Abhishek and Rs. 25 to Vishal. Find the difference between the profit percent earned by shopkeeper from
Abhishek and Vishal if the marked price of a shirt is Rs. 420, which is 40% above the cost price.



SR SR fIRe U GHFGR T THH 9 Ted a1d 6 TE 3R 9 IC Wigdl 3| NS 3R e gHFGR HY FA: .2200 3R ¥.3400 A §| THMER SHAVE H 5. 40 3R
TR B ¥.25 IUG FRAT 3| MfF SR =T F gHHER gRT HfRfd fpam mar any i & ST &7 SfaR 1 B I TH W 1 3ifdhd G 5.420 B, S HT I T 40% S
H

6%

6%

10%

10%

4%

4%

5%

5%
Correct Ans : D

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?

2426643
7-18+6x16+4=-1
fau T e 3 TEl A & o fb & demelt ®f sy § §&el ST Aiy?
7-18+6x16+4=-1
6 and 4
A
6 3T 4
18 and 6
B
18 3R 6
7 and 16
c
7 3R 16
4 and 7
D
43R 7

Correct Ans : C

Subject : Mental Ability

Q.No: 72 Ygrhich of the following cubes can be created by folding the given figure?
2429648
J|B
ClA

N A




& oS Ty & Agax e F ¥ S @ ge aa@ar o1 Fwar §2

J|B
Cl|A
K
Z
K
A
K
c
B
c
I
C
Z
I
B
K
D
B
K

Correct Ans : A

Subject : Mental Ability

Q.No: 73 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem
2430230 g pe at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Quality and Quantity have a price tag. India is allocating a lot of funds for education.
Conclusions:
I. Quality and quantity of education in India will improve soon.

II. Funding alone can enhance the quality of the education system.

Frofiafed oy & <t By iR ITF a8 & By (1) SR (11) 3T T B! 3Tueh! BT &1 I AT 7, ¥t &) F Haa: T1d aedt ¥ i ol 21 811 Ul U8 @ &= ¢ b fau g
e & o 1, i BIE B, 1T T FUF BT Ura HRal 81 U7 ST B 9 B



HY: UM AR A BT Ub Ged T gl 81 HR e & e sga 3ifie o amdfed o2 w1 81
forse:

1. YR H e 1 oraw 3R g1 H Seg & YR g0

11. 3%d o diwor e goneht @t T[urasn 1 SgT JabdT g1

Only conclusion I follows

A
Fae ey 1 SR BT B
Only conclusion II follows
B
Faa Frspd 11 3R T @
Either conclusion I or II follows
C
a1 dt P 141 11 SgERo ST @
Neither conclusion I nor II follows
D

T fspd 1 3R T & 1T 3R Fovar
Correct Ans : A
Subject : Mental Ability

Q.No: 74 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem
2430239 g pe at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: The number of persons per house is 10 in urban areas whereas it is 14 in rural areas. The average is about 6.
Conclusions:
1. The population in the rural areas is higher than that of urban areas.

II. Most people live in the same house in the rural areas as compared to those in the urban areas.

fofafad oy & < By ok I8P a8 & By (1) 3R (11) 3T T §1 Siush! H=l &) I AT 7, ¥ & 3 e J1d ot & i vl g1 811 sues! a8 @ o= ¢ & faqu Mo
el & F FH 1, A BIE T, U T HUF BT UG HRa1 31 3 ST BT 94 B

FUT: TRY &1 H Uf TR afaadl Bt I 10 § el wreir & § 9% 14 71 SN TH 6 7
forsep:

1. amfior &5 # STTeen wedt & @1 ger | o B

11. <t &5 @t gam 7 sifiresier di wreior a5 # T € R # wd B

Only conclusion I follows

A
Faa freed 1 IR HIa1 &
Only conclusion II follows
B
Faa Frep 11 SaRo T §
Either conclusion I or II follows
C
a1 ot s 14T IT SRR HaT §
Neither conclusion I nor II follows
D

T@ Frepd 1 3R 7 & 11 IR BT &
Correct Ans : B

Subject : Mental Ability



Q.No: 75 To correct the equation given below, which two symbols should be mutated?
2436533

12%x3+8=4-5=31

2 faw e THfieRn $ T FA & R, HH-8 Q wdhet B Safafia fear s afiee

12x3+8+4-5=31

* and —
A

* {HT -

+ and -
B

+ 3R -

+and +
C

3R+

x and =
D

x 3T

Correct Ans : D

Subject : Mental Ability

Q.No: 76 Sunday falls on 4 May, 1886 what will be the day on 4 May, 1887?
2437411

473, 1886 HI IIAR US @1 8, 4 7S, 1887 B! $I7 41 fa=1 gmme

Monday
A

GILGIN

Tuesday
B

HITAAR

Thursday
C

TFaR

Saturday
D

RIECIN

Correct Ans : A

Subject : Mental Ability

Q.No: 77 Reaching a place of appointment on Friday, I found that I was two days earlier than the scheduled day. If I had reached on the following Wednesday, how many
2437432 days late would I have been?

AR HT Fgfed & ™A W ugge 7 i & Fuiid @7 9 &) 37 ugat 11 aft & ormet geaR &Y uggar, @ & fram o Je gare
One day

T fea

B Two days



A

Three days
C

CIERCE]

Four days
D

TR e

Correct Ans : C
Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller cubes have only one painted
2438455 (5ce2?

TF T B e fpam ST € 3R 64 B 3R T o1 F Pt ST 3, RS &el #t < Yug g glifbar 31 ol # &I Us I gefl Bord 82

24
A

24

26
B

26

28
C

28

32
D

32

Correct Ans : A

Subject : Mental Ability

Q.No: 79 Complete the following series
2438775

5, 5,10, 30, 120, 600, ?

frafifed gaen o g
5,5, 10, 30, 120, 600, ?
4200

4200
1800

1800
2400

2400
3600

3600
Correct Ans : D

Subject : Mental Ability



Q.No: 80 Aarti said to Megha that ‘you are the wife of my sister’s father’. How is Megha related to Aarti?
2439342

R 3 A1 | Bl b 'qH A 767 b far B Uell 81 A7 AR F 5 TR Faifda 82

Aunt
A

Tt

Sister
B

989

Mother
C

Hi

Wife
D

LC

Correct Ans : C

Subject : Mental Ability

Q.No: 81 Nikhil is 8 year younger than his brother Rohan. How old will Rohan be when he is twice as old as Nikhil?
2442247

T o Wi e ¥ 8 a9 BT ¥1 g a9 b o 1 g o ag YT § g S &1 grme

4 years
A

4qf

6 years
B

6 af

8 years
C

8 9y

16 years
D

16 af

Correct Ans : D

Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442779

BANDAGED

fau MU dofre Teal A ¥ 9% Weg I S AU MU Weg & S1eRY HT WA HRb TeT SR S el

BANDAGED
Banged

A
Banged
Band

B

Band



Bean

C
Bean
Bager
D
Bager

Correct Ans : D

Subject : Mental Ability

Q.No: 83 Five dresses A, B, C, D and E are kept in a boutique having different price tags. Dress A is the second most expensive dress. Dress E is costlier than only one
2727629 (ress. Neither dress B nor dress D is the cheapest. Dress B is costlier than dress D.Which dress is the cheapest?

TH GIH H (-3 eI P Ud UIRF A, B, C, D 3R E & Tff &1 O A gut wed Teelt =i 81 UM E had U U &1 gorm B Il g1 A1 o Wi B 9 AT §
VRN D Fod Tt 31 WM D FY gor & W B Wewh 81 HiF W e qed Tt 32

A
A

A
B

C

E
C

E

D
D

D

Correct Ans : B
Subject : Mental Ability

Q.No: 84

2782045 If + 1s replaced by x :

- is replaced by +

x 1s replaced by +

+ 15 replaced by —

Then answer the following question based on this information.
150x5+3+10-1=7?

e+ Frx F yfaraia Frarsmareg
-+ B yfaera Farsrarg
x I + @ Ifararig fraramarg
+ Fwr-gyfaraRE fFarsary

TN T ATASII F HTUR 9 U 10 7ot F 397 |
150 x5+3+10-1=7

-1

-2

-2



1
Correct Ans : D

Subject : Mental Ability

Q.No: 85 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
2782062

10, 37, 145, 577, ?

T 3 e T &, o @ v U g 7| U T fywedt # § 9% uet fwew 9w, S orgwH @ qu |

10, 37, 145, 577, ?

2305
A

2305

1235
B

1235

1877
C

1877

1747
D

1747

Correct Ans : A
Subject : Mental Ability

Q.No: 86 2940 can be expressed as a product of primes as
2427243

2940 BT U TESHT & TOFHA & T B ad fbaT o G 8:

2X2X3X5x7x7
A

2X2X3X5x7x7

2xX2X3%x3x5x7
B

2xX2X3%x3x5%x7

2X2X3X5x5%x7
C

2X2X3X5x5%x7

2x3Xx3%x5x5%x7
D

2x3X3%xX5x5%x7

Correct Ans : A

Subject : General Aptitude

Q.No: 87 Two iron sheets one is 9m long and the other us 15m long are to be cut into pieces of the same length. What will be the maximum length of each piece?
2427261



R P G IR TH 9 Hier Tl § IR gudt g 15 Hiex diall M el & ghel B BT oM 8| UA® ghs BI ifidan daTs o grf?

4 m
A

4 iR

3m
B

3 #iew

2m
C

2 fiex

8m
D

8 Wiew

Correct Ans : B

Subject : General Aptitude

Q.No: 88 Aman house is 96 km away from the nearest hospital, if he hires a taxi and speed of the taxi is 14 km/hr. Calculate the time by which taxi reaches hospital.
2427282

T HT IR Fvead sruare ¥ 96 fFft R 7, 9t 95 Soht e R A 8 9iR TRft &t i 14 fprf/eer B 1 St Y sruarer ugeR B @ ara I 1d S|

8 hours
A

g He

4 hours
B

49

7 hours
C

7 6

2 hours
D

2%

Correct Ans : B

Subject : General Aptitude

Q.No: 89 If a man runs at the speed of 28 km/hr rather than at 20 km/hr, he would have covered 36 km more. The actual distance travelled by him is:
2427340

TR BT et 20 fadl/der 3 g 28 fFfl/ver $ IR ¥ <igdr d 98 36 fHH! Sa1ET FOR HRAT | 3UP GRT IBT BT T8 aRafdd g 3

45 km
A
45 foft
75 km
B
75 fit
60 km
c
60 faft
35 km
D

35 et



Correct Ans : C

Subject : General Aptitude

Q.No: 90 A train consists of 30 carriages, each having length of 80 m. When an engine of length 100 m is running at the speed of 90 km/hr. Calculate the time by which
2427375 the train passes the bridge which is 1500 m long.

30 TS B TP H, UAF P! Tals 80 HeR §1 9 @S 100 Hex &1 ol 90 fbHi/Her #t IR & I T 8l
1500 Hiex 9aT g UR &= & o ¢ §RT T aTel 999 ! TT0AT B

160's
A
160 IFS
270 s
B
270 AHS
320s
C
320 IFs
330s
D
330 A%

Correct Ans : A

Subject : General Aptitude

Q.No: 91  Find the largest fraction of the following fractions?
2432022

Fofared el & 3 wo9 a3t firg 91a sife?
17
23

17
23

27
33

27
33

37
43

37
43

47
33

47
33
Correct Ans : D

Subject : General Aptitude

Q.No: 92 The efficiencies of A, B and C are in the ratio 2 : 5 : 7 working together, they can complete a work in 10 days. In how many days will, A alone be able to
2436090 complete 30% of that work?



A, B 3R C P Gl 2: 5: 7 F U § 8 T I TP Y HTH &R g9, F 10 A1 & o1 o1 9l §1 e oAl H, A 313pet I B BT 30% TRT HR UTT?

30
A
30
28
B
28
20
C
20
21
D
21

Correct Ans : D

Subject : General Aptitude

Q.No: 93 A and B together can do a piece of work in 36 days, B and C together can do it in 24 days. A and C together can do it in 18 days. The three working together
2436117 cap finish the work in

A 3R B 5 o o fiiaeR 36 37 § &R 9d 8, B 3R C faar 3¢ 24 &1 § o= Tod 81 A 3R C R 3 18 37 & 7R Ivd g1 a1 s & o Ot 39 fbea fea o
T HER

8 days

8 fam
16 days

16 &7
30 days

30 fa
32 days

32 fam

Correct Ans : B

Subject : General Aptitude

Q.No: 94 If the six digit number 15x1y?2 is divisible by 44, then (x + y) is equal to:
2436204

T BE 3T B TET 15x1y2, GO 44 | TAUT B @ (x + y) IR B

8
A

8

7
B

7

6
C

6



9

Correct Ans : B

Subject : General Aptitude

Q.No: 95 If 20 Men can do a piece of works in 18 days working 5 hours per day, In how many days can 25 Men do it working at the rate of 6 hours per day?
2438238

T 20 Yoy Ufdfe 5 62 31 IR gU et & @t 18 31 #f &= Tdhad €, Y 25 e UfAfe 6 62 I R A IW B B fban A H B2 Thal B2

10 days
A

10 f&

11 days
B

11 =

12 days
C

12 f&

13 days
D

13 fem

Correct Ans : C

Subject : General Aptitude

Q.No: 96 An examination consists of two sections with six questions in each section. A student has to answer eight questions with at least three questions from each
2444159 gection. In how many ways can the student answer the questions?

T e § ) TS 2 € R vl T A 8 U4 €A €1 TP O B e WS I A A B I uhl & Iy 3416 Ul 1 IR A1 g 2
e forae adiep! ¥ Ul 1 IR & oba 82

465

465
580

580
432

432
524

524
Correct Ans : A
Subject : General Aptitude

Q.No: 97 The number of ways in which 5 boys and 5 girls can be seated along a circular table such that the boys and girls are in alternate sequence is
2444386

5 ASH! T 5 ASIHAl B U JalibR Aol & IRI 3R Fd fba aiid Y SoTU o Thd ¢, S ASP d TS hdl ThHIR HH H §h:
2880

2880



2780

B
2780
2890
C
2890
2870
D
2870

Correct Ans : A
Subject : General Aptitude

Q.No: 98 The length of the diagonal of a rectangle is 26 cm and one side is 10 cm. Find the area of the rectangle.
2444437

TF I & ol Bt T’y 26 I, B1 TH Y B qEISg 10 I 7 | SR BT S I R

130 square cm

A

130 oif Jft

65 square cm
B

65 T At

260 square cm
C

260 & It

240 square cm
D

240 Tif 9

Correct Ans : D

Subject : General Aptitude

Q.No: 99 What will come in place of the question mark (?) in each of the following number series?
2444757
5,12,17, 29, 46, 75, 121,

fofafad & ¥ <t g8 gaa & uy % (?) F A W 1T

5,12, 17, 29, 46, 75, 121,

185
A

185

196
B

196

192
C

192

188
D

188

Correct Ans : B

Subject : General Aptitude



Q.No: 100 ABCD is a square, E is a point on AB such that BE = 17 cm. The area of triangle ADE is 84 cm. What is the area of square?
2730257

ABCD U& o B, E, AB R U g 39 USR § % BE = 17 31, IS ADE &1 &=%hd 84 Quit 7, o ¥ &1 &=ha ol gTm?

400 cm?
A

400 ¥R

625 cm?
B

625 TR

729 cm?
C

720 GHE

576 cm?
D

576 TP

Correct Ans : D

Subject : General Aptitude
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Q.No: 1 Lever system and Dhekli are the traditional methods of which among the following?
2426880

TR Red SR epell Mo & 9 frud TRuR® Wd &2

Cultivation

A
@dt
Sowing
B
qag
Harvesting
C
Fes
Irrigation
D
R

Correct Ans : D

Subject : General Knowledge

Q.No: 2 Under the Antyodaya Anna Yojana, Indian government provides to millions of the poorest families?

2427382
Iy 3 TSI b d8d, YR TWHR AREl R IRARI BT TeH Bl 82
Free Food
A
U e
Subsidised Food
B
HERIST Y His (Afd) arem His )
Amount to purchase food
C

Ui @den &t Iy
D Cooked food
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UPT g1 e
Correct Ans : B

Subject : General Knowledge

Q.No: 3 What was the target year set for India's plan to produce 175 GW of renewable energy?
2427394

YR &7 175 Tmmate Adiaxviia o &1 Ide o3 &1 Ao o1 Ruffka dea o @ ar

2021
A

2021

2022
B

2022

2020
C

2020

2023
D

2023

Correct Ans : B

Subject : General Knowledge

Q.No: 4  The G-24 was established in which year by the Group of 77 (G-77) as one of its Chapters?
2428878

G-24 & TG fbd a8 g9 311 77 (G-77) 3 30 U e & =0 § &1 2

1995
A

1995

1971
B

1971

1999
C

1999

1976
D

1976

Correct Ans : B

Subject : General Knowledge



Q.No: 5 When did International Monetary Fund (IMF) founded?

2428879
ST HoT PN (IMF) BT RITIAT Hd §&?
1974
A
1974
1964
B
1964
1954
C
1954
1944
D
1944

Correct Ans : D

Subject : General Knowledge

Q.No: 6 What is the name of the Parliament of Pakistan and Bangladesh respectively?
2428935

b 3R SIS &l e BT A1H HHY: T 22

Majlis-e-Shoora, Jatiya Sangsad

A
HAT-T-XRT, ST TG
Jatiya Sangsad, Majlis-e-Shoora
B
Sl <TG, AR-T-XRT
Melli Majlis, Sansad
C
Aeft wifer, Wvie
Majlis al-Umma, Knesset
D

Ao 3d-3WT, FAC
Correct Ans : A

Subject : General Knowledge

Q.No: 7  Congo River was formerly known as
2429065

Hi ! B Ugd & A I ST S AT

A Zaire River



FAa /A T

Zambezi River

B
st T
Orange River
C
ST
Vaal River
D
ard T4l

Correct Ans : A

Subject : General Knowledge

Q.No: 8 The Daintree Rainforest is located in which country?

2429066
3 avie fp 2w & R &2
United Kingdom
A
gATEes fHren
Australia
B
aifeferan
Canada
C
HHTST
Brazil
D
EINIC]

Correct Ans : B

Subject : General Knowledge

Q.No: 9  Who was made the first viceroy of India through the Government of India Act 1858?
2432128

P8 YR WeR AT 1858 & H1egH § YR &1 UgdAT ATERIT ST 7T Y12

Warren Hastings

R BT

Lord Canning



e T

Lord Cornwallis
IS BraTery
Lord Wellesley
CICERE)

Correct Ans : B

Subject : General Knowledge

Q.No: 10 By which act the Life Insurance Corporation of India was established?
2432153

YR St S g &Y =imo g Sififam g &t 18 e

Life Insurance Corporation Act, 1936

A

St dtar o siftrr, 1936

Life Insurance Corporation Act, 1940
B

Sita= oitar o siftrs, 1940

Life Insurance Corporation Act, 1950
C

Sitaq dtar e sifafaaw, 1950

Life Insurance Corporation Act, 1956
D

Sitaq ftar e sifafaw, 1956

Correct Ans : D

Subject : General Knowledge

Q.No: 11 Which of the following states is famous for spice production?
2434462

Frofifed § @ F 91 T8 7 Sded & R uRig § ?

Uttar Pradesh

A
I Y
Bihar
B
fagr
Kerala
(o
CaG|

D Maharashtra



HERTY

Correct Ans : C

Subject : General Knowledge

Q.No: 12 Who won Silver at BWF World Tour Finals 20217?
2437135

BWF 38 X B3 2021 H Ryear fore fiar?

Saina Nehwal

A
ST Agard
PV Sindhu
B
didt Rig
Srikant Kidambi
C
sfepia frardt
Prakash Padukone
D

WHTN UIGHIOT
Correct Ans : B

Subject : General Knowledge

Q.No: 13 Biraha folk song is associated with which area of Uttar Pradesh?
2440761

forgT Aeiia IR vew & frg & § Teifdd 32

Eastern U.P.
A

udf g, .

Western U.P.
B

ufdt g, dt.

Braj Region
C

ECRPE]

Bundelkhand
D

Correct Ans : A

Subject : General Knowledge



Q.No: 14 The remains of which famous site can now be found at the Indian Museum of Calcutta?
2441206

5T URIg R & AT 3T Hobdl S YR TG H UTY o Gohd 32

Bhumra
A

YA

Bharhut
B

Hgd

Gotampur
C

RICLL

Satdhara
D

HAYRT

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Which of the following places is popularly described as the ‘place of many wonders’? (Only from the given options)
2441407

fafafaa & 9 f5g wH & deia TU § 3T @ R & ®9 3§ aftla [ a1 82 (Faw fou T e § 1)

Amarkantak
A

RBCPH

Chitrakoot
B

Rerge

Maheshwar
C

R

Mandsaur
D

HEHR

Correct Ans : B

Subject : General Knowledge

Q.No: 16 Which of the following districts Ken River originates from?
2441411

F 7t Fgfafaa & 9 faa o 3 3@ gt 872
A Bhopal



wiare

Jabalpur
B
STy
Chhatarpur
C
BAYY
Raisen
D
AT

Correct Ans : B

Subject : General Knowledge

Q.No: 17 The Nagpur High Court was established by Letters Patent for Central Province and Berar in which of the following years?
2441713

T Yid 3R RR & Y AR I rnerd &1 RITOAT dey Uee grT Aufafad & 9 fg af o ot 7 R

1933
A

1933

1936
B

1936

1939
C

1939

1942
D

1942

Correct Ans : B

Subject : General Knowledge

Q.No: 18 As per the Census 2011, Alirajpur district has the literacy rate of . (Approximately)
2441773

2011 B SIUAT P SR, SRR O B GeRaTax @1 (SHTH)

36.6%
A

36.6%

43.3%



43.3%

52.2%
C

52.2%

24.95%
D

24.95%

Correct Ans : A

Subject : General Knowledge

Q.No: 19 What is the name of China’s first Mars exploration mission?
2776144

I & Uge TS WU e &1 A1 87

Tianwen

foaras

Chiang XI

ferair xx

Tangwei

LRICH

Mario 2

wifvay 2

Correct Ans : A

Subject : General Knowledge

Q.No: 20 Usha Ganguly is associated to which of the following?
2776145

I et Al & ¥ e wefta 72
Table tennis
A
g cf
Cricket
B
fpdre
Singer-Songwriter
C

e Maaae

D Theatre Director, Actor



e srveeR, TeeR

Correct Ans : D

Subject : General Knowledge

Q.No: 21 The animals that have two germ layers in embryo are termed as-
2429843

31 Siqeit & o & < MY R Bt € S Pl el 8-

diploblastic
A

eumetazoans
B

triploblastic
C

Prerat

cryptogams
D

Srqufiurgy

Correct Ans : A

Subject : General Science

Q.No: 22 Observe the following figure given below. This organism belongs to which phylum?
2429916

Pteridophytes

HeetwgeT

B Thallophytes



IeiwrscH

Angiosperm

C
STgateit
Bryophytes
D
ELRILELE]

Correct Ans : D

Subject : General Science

Q.No: 23 A hole in the ozone layer was found above
2431695

39 WRd H T B¢ P SWR U T

Australia

aifeferT

Antarctica
B

SfeThiedT

Africa
C

Rpdcal

Greenland
D

fds

Correct Ans : B

Subject : General Science

Q.No: 24 is produced from incomplete burning of fuels such as petrol and diesel.
2431722

I 3R SIoe oI e & 31eR S § S gieT gl

carbon dioxide

P SIS ATFITSS

carbon monoxide

P AArATFaTSS
hydrogen sulphide



FESIS PSS

ozone

CIEIE]

Correct Ans : B

Subject : General Science

Q.No: 25 Which of the following diseases is common in slums due to unavailability of clean drinking water?
2434302

WS UOSd B SISl % HRUN AfeH Sfert § fafifad & @ o & diurt smy g2

Dysentery
A
e
Cancer
B
FH
Polio
C
qiferar
Whooping cough
D

Caike il
Correct Ans : A

Subject : General Science

Q.No: 26 Mark the incorrect statement.

2436411
TAd HYA Sifod Y -
Light travels In a straight line
A
BT TH el a1 A ar wear @
One cannot see lighted candle flame through the bent pipe
B
TH 43 gU UISU & HIH | A=A HieRit &1 & B 981 371 o1 qohal @
One way to change the direction of light is to let it fall on a shiny surface.
C
YHTY P AT gee BT TP a1 g & & 3@ THpeR wdg W R fean vy
Surface of water cannot change the path of light
D

ot 3t WaE veT ¥ ARl @Y 98 qed wedt @

Correct Ans : D



Subject : General Science

Q.No: 27 Which of the following can be used as antiperspirant?
2437205

e & ¥ fFgeT Sua ufakes & U § f5ar 51 9o g2

Aluminum chlorohydrate

A
T FREESe
Sodium hypochlorite
B
Hifsaw greuiRIge
Diethyltoluamide
Cc
STAUTEACIIAES
Calcium carbonate
D

Ffergw sEe

Correct Ans : A

Subject : General Science

Q.No: 28 Chipko movement is related to which of the following?

2439800
! sifeiaq fafafed # @ frad Jeia 82
Maiti Movement
A
A srRre
Forest preservation
B
T I&ur
Bishnoi movement
C
fasig srigrer
Peace valley movement
D

it =rdt S
Correct Ans : B

Subject : General Science

Q.No: 29 Which one of the following elements is found in maximum quantity in the Earth's crust?
2439844



fofafaa # 9 &9 W 9@ Youd (Earth's crust) & waffes AT & m Sfar 872

Potassium
A

arefRrm

Oxygen
B

Siefter

Sodium
C

Hifsan

Calcium
D

Hferraw

Correct Ans : B

Subject : General Science

Q.No: 30 The image/jpg formed on the retina of a human eye is
2439878

HHa 33 % WA IR &1 aren vt B gl

Real and inverted

qrEdfae® 3R et

Real and Virtual

qrRAfa® SR STy

Only inverted

Fad Ieal

Only Virtual

Had MHRIT

Correct Ans : A

Subject : General Science

Q.No: 31 Which is the largest gland of the human body?

2439925
AFE IRR &) g9 gt U HH-3 72
Liver

A
gpd

B Heart



el

Pancreas
C
STAR™
Spleen
D
e

Correct Ans : A

Subject : General Science

Q.No: 32 Zaid crops are typically sown after the harvest of
2783654

TG B S TR W @1 HeTg & G A1S Il 8
Rabi crops
A
T B Had
Kharif crops
B
P P B
Summer crops
C
PINEICIE RS
Autumn crops
D

UdsIS B vEd

Correct Ans : A

Subject : General Science

Q.No: 33 Which of the following is not an adaptation in xerophytes?
2783800

frofafed § 9 o 91 SRIvecy # SEHad Tl 87

Large leaf size

A
TS T BT HPR
Thick cuticle
B
HIE St

Sunken stomata



T 39

Extensive root system

TS TS YOIt
Correct Ans : A

Subject : General Science

Q.No: 34 Following is a picture of bread mould and mushroom. Which of the following characteristics is not true about the kingdom they
2784635 pelong to?

Edible mushroom
cap

gills, bearing
spores

mycelium

They are eukaryotic.

A

3 gHfafes §

They have cell wall.
B

398 BT ARy S 1

They have autotrophic mode of nutrition.
C

<78 dryur 3 T Ry @ 21

They can be unicellular or multicellular.
D

3 THHIRPIT U1 TEHIST &) T4 2
Correct Ans : C

Subject : General Science

Q.No: 35 During photosynthesis, carbon dioxide is taken in through tiny pores called:
2784715

b1 YTV b SRM, Bla- SISHRZS DI Die fval & Aeqd | foran wiran g R et o &

A Stomata



]

Guard cells

&P B

Xylem vessels

STEad TPy

Phloem fibers

TTH BIgER

Correct Ans : A

Subject : General Science

Q.No: 36
2424526

Find the odd word out.

ST Yeg T I HIfT|
Ashoka

3IMP

Bindusara

fogar

Ajatashatru

CEIGRIF|
Brihadratha

fogeRy

Correct Ans : C

Subject : General Reasoning

Q.No: 37
2424537

Find the odd word out.

ST Yeg T I DI
VV giri

4t 4t frft

Zakir Hussain



R g8

Rajiv Gandhi
C
refta e
Zail singh
D
v Ris

Correct Ans : C

Subject : General Reasoning

Q.No: 38 Find the odd number out.

2424545
ST =T BT I Do
27
A
27
512
B
512
8
C
8
243
D
243

Correct Ans : D

Subject : General Reasoning

Q.No: 39 Which of the following indicates the best relation between Trigonometry, Simple interest and Mathematics?
2426588

e & ¥ S5-I Beufifa, IryRe s 3R 1 & S Jo8 3 Yoy B Suial 87



&
&

@
@

o

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Chair, Glass and Knife?
2426736

Fraffed & 9§ o1 a1 e $f, Fi9 ok TE F 19 Fod ofS ey Bl - 82

O OO

O OO
©

©



© O

© O
U0

U0

Correct Ans : A

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427794 one like which the paper will appear when unfolded.

F= == T T T
[ | | |
1
1

'_1:.__

[=

™

L=}

|

1
Y

|

(T

H2 faw U Uy o H UF FI & e Bl TSl 3R el M1 g, < T SR P F fadwedl T A IU IW 3P BT 997 R, o 6 A8 8k
FIC T SIS B WA W P gt

r———'; - = — -
._.L__

|
I
| 3
|
"

|

|
Ly

1




C
D
AN

Correct Ans : C

Subject : General Reasoning

Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427807 ,ne like which the paper will appear when unfolded.

—-
- - -
/ \ 7 ‘\
f ]
1
\
"-.

3 o T vy ST # U BT & ghe P HIST 3R FICT T &, & T8 SR PN F [Abed H I I PN HT 997 B, S 6 Alg IR

HIC T HITS BT @i W 3P 0|
(0 & B
s
o ¥
s
a ¥




B
s 2
b o
C
D

Correct Ans : B

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427808 (e Jike which the paper will appear when unfolded.

=

r 1
b ] I | |
1 I

|

B EANIZN

N

3 o T vy ST 7 U BT & ghe P HIST 3R FICT T &, & T8 SR PN S [Abed H I I PN HT 997 B, S b Alg iR

HIC T HITS BT @i W 3P 0|
—————- re===n" '____l
\‘\ 1 I | I 1 |
b [ g |
N -l LI P N | :. m,
& D
P &
A
)




e e
= =
.aD“
B
e
= =
.aD“
6 9
rd &
C
6 9
rd [~
® 2
@ &
D
& %
@ &

Correct Ans : D

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427819 (e like which the paper will appear when unfolded.

= P,
I % I \
! I \ i [
! &
4 o
by
-

T faT T Uy ST B T BRI S s Bl HIST SR BTl T 5, & T8 IR NP & fadved! § ¥ IH IR G BT 907 B, O b Al 3R
FIC T HITS B WA W P |

a—_—— Pe—
/ 5 r "
) | \ I [
I o
A 54
hY
-

Bk
w

b4
&4




X%
AN

X%
#X

X%
%X

X%
%X

Correct Ans : C

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427834 (e like which the paper will appear when unfolded.

s L,
4 b (s
. R d “ IA]}\

3 o T vy eI 7 U BT & ghe B HIST 3R FICT T &, & TS SR PN F [Abed H  I9 I P BT 797 IR, S b Alg iR
HIC T HITS Bl @i W 3HT 0|

oo
o0




e o]

uop %, R

| | [
& %,

S %,

%
S %,

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Which answer figure will complete the pattern in the question figure?

2433186
A

71 ?

& TS IR Mpiadl F F HI-T =T MBI & Yot B T B

(ATA
71?
\
A
\
B
AV




\

N
c

AV
D

Correct Ans : A

Subject : General Reasoning

Q.No: 47 1Identify the figure that completes the pattern.
2433509

22X

I NPT BT Ug= B S Yot & [T Pl 2

22X
o»

2
TR




K
K

K

DDA

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434915

41 :369 ::?: 306

I e &1 99 < S ARt T I I YR Wefdd § SR guRl e Uea S ¥ Tefid B

41 : 369 :: ?: 306

31
A

31

32
B

32

33
C

33

34
D

34

Correct Ans : D

Subject : General Reasoning



Q.No: 49 1Identify the classes that best represents the relationship among the given diagram.

’“\

)

3 AT B Uga B o AU MU 3T & S Ty BT Gy 3T ufafRfia Ba B
Q Q

Professor, Teacher, Player

A
bR, e, et
Electrons, Protons, Atom
B
Professionals, Students, IPS
Cc
R, BH, ARG
Mountains, Plateaus, Plains
D

ydd, UoR, AeH

Correct Ans : D

Subject : General Reasoning

Q.No: 50 Identify the diagram that best represents the relationship among the given classes.
2435679
Mammals, Giraffe, Animals

39 3G B Ugd B ol foU U ANVEY & S Joy &1 Ted 3T ufafiia B 21

TYURY, foRT%, Oy
A —.

.fr -"_‘}fk‘\.—hh‘.

Wil

l‘\ h WS )'I

N



Correct Ans : C

Subject : General Reasoning

Q.No: 51 1In a certaion code ‘WATER' is coded as ‘DZGVI’. How ‘COLOUR’ written in same code ?
2726850

TS IS HIN H ‘WATER' &1 'DZGVI’ His fhar oiar §1 I3 #Ie # 'COLOUR’ & ford YR ferar S|

XMVIVI
A

XMVIVI

XLFLOI
B

XLFLOI

C XLOLFI



XLOLFI

XLOIFL

XLOIFL
Correct Ans : C

Subject : General Reasoning

Q.No: 52 At sunrise, Ravi and Sachin are having a conversation standing in front of each other. The shadow of Sachin is formed towards the
2727074 right hand of Ravi. What direction is Sachin facing?

ied & 9HY, I SR I TP g & G T IR SIadid PR 3@ ol G B IRSTS I & alfer 81y B SR a1 7| Wi &1 7w fovw fasm
@ SR B2

North-West

IR-ufdm

South

North

West

ufgy

Correct Ans : C

Subject : General Reasoning

Q.No: 53 If south-east direction becomes North and North-east becomes West and all the rest directions are changed in the same manner.
2727075 \hat will be the direction for the west?

Ife; feror-ud fomm IR 1 ot § ok ITR-ud ufd g St ¥ ofR w1t Wt fmmah @t St avg sed foar Sian 31 ufy &) fawn @ enfie

South
A

afgror

South-east
B

afdror-gd

South-West
C

Sfar-uft

D North-West



IW-ufFq
Correct Ans : B

Subject : General Reasoning
Q.No: 54 What should come in place of question mark?

2727095
O [ A O
A O c A
c Jla 4o fle & ?

UYAES g & RIM W T ARAT?

Q c A QO
Alo|l c | A
¢ fla 4o fle .L?

C
O
A9
A
C
O
A9
0
A
¢ 1
B
O
A
¢ ¢
C
O
A 4
()
c
@)
A 4
S e}
c
A 4




O
C

A b

Correct Ans : A

Subject : General Reasoning

Q.No: 55 Read all information carefully and answer following question?

2727107
Digits/Symbols- * § %+ # A © 354721689
Codes-AB CDEFG HIJKLMNOP
(I) If first place is even number and last place is odd humber then both places are to be coded by first digit / symbol.
(II) If first place is odd number and last place is even number then both place codes will be interchanged.
5169*
fau e =N B ug SR U MY Uy &1 SR 2
HEMFATH-* $ %+ £ A©3547216809
PS-ABCDEFG HIJKLMNOP
(1) Tfe; Uga Ue g9 I € 8iR sifaw ue vy T § @t ugd $R SifqH ug & @I H Usd ug &1 Sis far sy
(11) 3¢ ugar uq fawy e ¢ 3R Sifaw ug gu Iw= §, o ugd iR 3ifad Ue & PIst &1 3muyg § RIF uRad- faar sam|
5169*
IMFJA
A
IMFJA
INMJA
B
INMJA
IMNPA
C
IMNPA
IMGDA
D
IMGDA

Correct Ans : C

Subject : General Reasoning

Q.No: 56 The population of a town increased from 175000 to 262500 in a decade. The percent increase of population in that decade is:
2422267

TP a¥F H U UeR ST ST 175000 J F¢HR 262500 81 TS| 3 b | oFGQ &1 Ufawd gfg 7:
A 42.5%



42.5%

50%
B
50%
45%
C
45%
47.5%
D
47.5%

Correct Ans : B

Subject : General Maths

Q.No: 57  In an examination it is required to get 36% to pass. A students gets 160 marks and fails by 20 marks.
2422316 The maximum marks are

U% T o 3Tl 34 & [T 36 Uiwid 2ies Urd ST A990E §1 U6 813 160 26 Ua Hd o
3R 20 3H 1Y VIS A S| 3Hay 3d T

400
A

400

450
B

450

500
C

500

600
D

600

Correct Ans : C

Subject : General Maths

Q.No: 58 The number of students in 3 classes is in the ratio 3 : 4 : 5. If 15 students are increased in each class, then this ratio changes to 4
2429464 . 5 : 6. The total number of students in the three classes in the beginning was:

3 Femafl ¥ faenfiat &) TRem &1 U 3 ¢ 4 : 5 71 S UAS B | 15 andf 9 o § A T8 U 4 : 5 : 6 B AT 81 ARY T AT pemait H
foanfiat @ oo T ot

240

240

B 150



150

180
C

180

210
D

210

Correct Ans : C

Subject : General Maths

Q.No: 59 The total number of men, women and children working in a factory is 18. They earn Rs 4000 in a day. If the sum of the wages of
2429499 g men, all women and all children is in the ratio of 18 : 10 : 12 and if the wages of an individual man, woman and child is in the
ratio 6 : 5 : 3, then how much a child earns in a day?

% SR & B G a1 Joo, Afgensit iR s &1 $a Wear 18 81 4 & 37 | 4000 39 Fu 1 afe wt gowt, wft afgarsi oix wf
el BT AGIG BT AT 18:10:12 F 3UId | 7 3IR IS TH Yo, ARAT 3R T B Hoigdt &1 3UM 6:5:3 8, dl U qal U 1A & {1 swarar
%2

Rs. 400

400 U4

Rs. 150

150 ¥4
Rs. 600

600 ¥
Rs. 250

250 ¥4I

Correct Ans : B

Subject : General Maths

Q.No: 60 Anita deposits Rs 1000 in a savings bank account. The bank pays interest at the rate of 5% per annum. What amount can Anita
2432818 (et after one year?

ST A §9d §% WA H 1000 9T ST BT §F 5% Ufd af BT oR I SIS BT YA IRAT 81 P I 918 ST DY et iy et et 82
1150

1150
B 1050



1050

1160
C

1160

1060
D

1060

Correct Ans : B

Subject : General Maths

Q.No: 61 A sum fetches simple interest of Rs 112.5 at rate of 12.5% p.a. in 10 years. What is the sum?
2432887

TP AR W 10 a8 7 12.5% Ufd g & R ¥ 112.5 TTF BT IR ATl ferar g1 f a1 82

Rs 90
A

Rs 90

Rs 60
B

Rs 60

Rs 20
C

Rs 20

Rs 50
D

Rs 50

Correct Ans : A

Subject : General Maths

Q.No: 62 ) 7
2433007 \Whatis the product of v

and its reciprocal?

7
2163

- THE P T OTARA T 22



B
216
36
7
C
36
1
D
1

Correct Ans : D

Subject : General Maths

Q.No: 63 There were only two candidates in an election. One got 62% votes and was elected by a margin of 144 votes. The total number of
2435204 voters were:

% g9 & Had <l SENGAR U1 U BT 62% dic B 3R 98 144 A & SR ¥ A1 77| At ot oo I ot

400
A

400

500
B

500

600
C

600

650
D

650

Correct Ans : C

Subject : General Maths

Q.No: 64 Rajeev distributes Rs 8600 among the three children (Rohan, Mohan and Sohan). Rohan gets 25% more than Sohan, and Sohan
2437813 gets 25% less than Mohan, then how much total rupees Rohan will get?

Iofia 3 o =t (A, HigT iR Te) & i 8600 ITT T | g B Te ¥ 25% e firetar B, 3R Wiga &1 /g9 ¥ 25% o4 faar g,
A B Fd fbad I A

A 3000



3000

3200
B

3200

2400
C

2400

3600
D

3600

Correct Ans : A

Subject : General Maths

Q.No: 65 Sanjay deposited 400 for 5 years and 500 for 4 years at the same rate of simple interest in a bank. He received 200 as an
2439132 jpterest. Find the rate?

IO A TF ¥ T YR A6 B X W 5 1A & 1T 400 T 3R 4 I & A€ 500 93 587 Ul ¥ 9191 & ¥ H 200 T0 U §UI
S @R 1A D2

3 %

3%
2 %

2%

4 %

4 %

5%

5 %
Correct Ans : D

Subject : General Maths

Q.No: 66 What sum of money will amount to Rs. 724 in 4 years and to Rs. 870 in 6 years at simple interest?
2439157

fopait M TYRYT SIS X W 4 T H 724 30 3R 6 I § 870 IUY Y SWH?
Rs. 432

432 34y
B Rs. 480



480 31

Rs. 456
C

456 304

Rs. 524
D

524 304

Correct Ans : A

Subject : General Maths

Q.No: 67 An article is sold at a 10% profit. If it been sold for Rs.18 less there would have been a loss of 12.5% on it. Find the SP of article
2730453 tor 309% profit.

T I BT 10% ATH TR 51 ol &1 3R 3 18 30T HH H o1 oY af 39 W 12.5% BT THAM 81T § | 30% Y & oY axg &1 s qeu
&1 g

100

100
80

80
88

88
104

104
Correct Ans : D

Subject : General Maths

Q.No: 68 A lift has a maximum capacity of bearing/carrying 2200 kg. The lift got overloaded when 25 persons, assuming each to be of equal

2781122 \\qight, got into the lift. Two persons came out and another man weighing 75 kg got into the lift with his dog weighing 9 kg and
the lift became loaded with full capacity. Find out the net weight which caused the lift to become overloaded (over and above the
maximum capacity).

T foe @t Sifihan &mar 2200 6 981 &1 &1 3| forge sifawia 1 S Sie 25 =afdd, Ude o7 avH IR 3, foige # omd €] < afdd aeR
A § SR o7 fa ot oo 75 U 8 oo 31t & Ay foraesT aw 9 foban § forme & ofrd § SIR forve &t erar gt €1 ot 3| 9 oo & 91
FIfoRr? R forge &1 AfruTia foar S epar § (ifead efar ¥ SR 3R SW) |

92 kg

92 f&ur
B 100 kg



100 f&ur

184 kg
C
184 feur
84 kg
D
84 fm

Correct Ans : B

Subject : General Maths

Q.No: 69 A, B and C individually can do a certain piece of work in 21 days, 28 days and 24 days respectively. They started working together
2781224 1t after 4 days A and B left the job and the remaining work is completed by C alone. In how many days the entire work is
completed?

A, B 3R C b0 Th 1 &I HHRE: 21 27, 28 R 3R 24 T & 9% T §| 3 9 # 31 1 Y& IR & R 4 7 918 A 3R B &1 Bl 3
2 R A9 HH B C St AN TR o] fHa o B g Hrf A g g2

18 days
A

18 fa

16 days
B

16 fa=

14 days
c

14 fa=

12 days
D

12 T

Correct Ans : B

Subject : General Maths

Q.No: 70 The average weight of five students is 58 kg and weight of one student was 66 kg but was misread as 46 kg. Calculate the new
2781238 average.

g BT T 3id aor 58 i B 3R U ©F &1 a9 66 53T 41 R 98 7ot § 46 5 ug forar mmam u1) ar 3ia 31d &

59 kg
A

59 f&um

62 kg
B

62 f&m



64 kg

C
64 feu
65 kg
D
65 fur

Correct Ans : B

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426644
36 +6+2-16x3=26

fou T wfienRur B gEt s & oY fo < Tearaelt Bt ooy | dger o e

36+6+2-16x%x3=26

2and 3
A

23R 3

6 and 16
B

6 3R 16

36 and 16
C

36 3R 16

3 and 16
D

3 3R 16

Correct Ans : B

Subject : Mental Ability

Q.No: 72

2429649 Which of the following cubes can be formed by folding the given figure?

M| P

R
0]Q
N




& 75 T F Az T F ¥ FiF T 99 IIR—T ST Fehat 87

M|P

R
0]Q
N

M

o |
A
i
o |
M
M E
B
M
5 [N
R
N 1P
C
E
< |®
0
x |IP
)
3]
N I8

Correct Ans : B

Subject : Mental Ability



Q.No: 73

In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements

2430231 (4 pe true even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if

any, follow from the given statements. Indicate your answer.

Statements: Although we have rating agencies like NASA WADA, there is demand to have a separate rating agency for IT and
nuclear companies to protect investors.

Conclusions:
I. Assessment of financial worth of IT and nuclear companies calls for a separate set of skills, insight and competencies.

II. Now, the investors investing in IT and nuclear companies will get protection of their investment.

fafifad g 7 < HYF 3R 39S a1c &l ey (1) iR (I1) T 7 §1 Ut Syt &1 T JFAT 8, Y &) 3 JHga: 91 e ¥ i uedid g gt
AU T8 T H1 ¢ {5 fau T el & I B @1, Al H |, T 7T HU &7 Ura HRa1 g1 T IR BT 99 BN

HY: gIaih SAR TR AT areT St X waifyai ¥, AfteT ot Bt TqRem $ g 3t 3R wemy) dhufl 3 forw uep e e ol @t A R
e

1. SISt 3R WA el & oo gea &1 side divid, Siaed ok gardrsif & Ud SieT e &I AT &l g

I1. 39 3MSS) 3R WA} Hufar § fa &7 aral ! &Y oo Fawr ot e fanf

Only conclusion I follows

Fad ey I TR0 Ha1 8

Only conclusion II follows

Fad frepd 1T 3R ST @

Either conclusion I or II follows

a1t s I 9T IT SRR T @

Neither conclusion I nor II follows

T frepd 1 iR 7 € 11 3R HRar @

Correct Ans : A

Subject : Mental Ability

Q.No: 74

In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements

2430240 (4 pe true even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if

any, follow from the given statements. Indicate your answer.

Statements: The best way to finish a problems is to solve them.
Conclusions:
I. Your life will be poor if you do face a big problem.

I1. To finish the problems, you always have some solutions with you.



fufafad oy # 3 By SR & a1g o Py (1) 3R (I1) faT MU §1 3HTue! Hu=T B ¥ A1 €, Ha 8§ 3 Iaa: 1d a9 frg udid g g
YD Jg T HAT ¢ 6 G T et & @ o w1, afe HE |, faT M0 HY=t &7 916 FRAT B U IWR BT I B

FY: B TR B GAG PR BT TG ST AWPHT 34U g BT 5
Ao

1. afe 3y fordt It THWT &7 AT ARG ¢ dl 3MUDT Sitgd BRI BT
I1. THErelt & T A P A, 3P U SO $B FAH 8 g

Only conclusion I follows

A
Faq e 1 3R Har @
Only conclusion II follows
B
Faa Frepd 11 SRR Ha &
Either conclusion I or II follows
C
a1 &t fAspd 1 AT 11 SR Fear @
Neither conclusion I nor II follows
D

T dt frspd 1 3R T € 11 R Bear @
Correct Ans : D

Subject : Mental Ability

Q.No: 75 TIn a certain code language, “+ represents “+°, “+° represents “+°, “*° represents °-° and °-° represents “x’.
2436534 gt is the answer to the following question?

108 +27+18-3x12="7

v fafgad E!e_c.r AT &+, = & gid@Afdca &dr 8, =, <+ @1 0, < &I d>T <, o0 &l
ufafafca #tar &1 9 & & &l9 @1 ued 1 Il goem
108 +27+18-3x12=7

38

38
62

62

46

46
49



49
Correct Ans : C

Subject : Mental Ability

Q.No: 76 Thursday falls on 16 April 1671, what will be the day on 16 April 1675?
2437412

16 38T 1671 P! TSR US 6T 7, 16 MW 1675 &I B A7 &7 grm?

Monday
A

HHaR

Tuesday
B

HITCAR

Wednesday
C

qJYIR

Friday
D

RIEIN

Correct Ans : B

Subject : Mental Ability

Q.No: 77 If the 23 of a month is a Sunday, what day it would have been two weeks and four more days earlier?
2437433

gfe fradt 7eR 31 23 R &I fFAR B, O 3 ITE 8RR & usd & W1 fe gar?

Monday
A

HHaR

Tuesday
B

HITCAR

Wednesday
C

EUEIN

Thursday
D

AR

Correct Ans : C
Subject : Mental Ability



Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller
2438456 (pes have no painted face?

T T %Y Ue a7 I1dT B 3R 64 BIe R TAF g1 & PTcT Tl 7, TR wel Bt gaad THa T2 811 fba B o1 315 3 gafl o -l 82

4
A

4

6
B

6

8
C

8

10
D

10

Correct Ans : C

Subject : Mental Ability

Q.No: 79 Complete the following series
2438776

125, 375, 377, 1131, 1133, ?

frafaRad sRae &1 Q1 A
125, 375, 377, 1131, 1133, ?
3399

3399
1136

1136

1135

1135
1234

1234
Correct Ans : A

Subject : Mental Ability

Q.No: 80 Introducing Rimi, Moulik said “Her father is the only son of my father”. How is Rimi related to Moulik?
2439343



forft &1 ufer 33 gu, Mfdie 3 a1, "SuF foar R UG & gedld 1@ 81 9 faft fifve 3 defia g2

Daughter
A

I&

Sister
B

CIE)

Aunt
C

Tt

Mother
D

Hi

Correct Ans : A

Subject : Mental Ability

Q.No: 81 The distance between two cities is 30 km. A man goes at a speed of 30 km per hour and returns at 20 km per hour. What is his
2442248 4yerage speed?

3 TRl & o9 31 g 30 [ B1 v wfaa 30 St/ wver o5t wfa [ o € iR 20 fEH/ger @t fa  aroRy e 81 Suet o Tifd @ 22

25 km/hr
A

25 Tt/ der

24 km/hr
B

24 Tt/ der

10 km/hr
C

10 f&eft/der

26 km/hr
D

26 Tt/ der

Correct Ans : B

Subject : Mental Ability

Q.No: 82 Which one word can be formed from the following letters ?
2442847

emI| i |l so ul uf

fafafad sieRt ¥ o9 91 U g 1T S Jhdl B2

eml!l i |l so ul uf

A mackling



mackling

mellifluous

B
mellifluous
magnetic
C
magnetic
matricuation
D

matricuation
Correct Ans : B

Subject : Mental Ability

Q.No: 83 1In a class, Alan's rank was 20 from the top and 58 from the bottom. How many total students are there in class, if each student
2727630 (ot a different rank?

TP Bl U, TAT &1 3% WS I 20 af 3R 19 I 58 af T 3 udw el &1 srert-oren Y firen &1, d wean & a o faenff &2

85
A

85

77
B

77

38
C

38

65
D

65

Correct Ans : B

Subject : Mental Ability

Q.No: 84 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
2782063

RA, JF, BK, TP, LU, ?

T 3pH foar man B, o 9 U ug g g1 fu M fawedt # 9 a8 w6 fawed g, ot owmd & I B
RA, JF, BK, TP, LU, ?
QY

QY



RX

B
RX
Dz
C
Dz
TZ
D
TZ

Correct Ans : C

Subject : Mental Ability

Q.No: 85 Find out the odd word/letters/number/number pair from the given alternatives.
2782067

fau v foeel O fawn Meg / &R / TBT / TAT & Sils! &I I HY?

Hours
A

et

Decibels
B

EUICKE

Minutes
C

fime

Seconds
D

GE

Correct Ans : B

Subject : Mental Ability

Q.No: 86 511 7 11,
2427244 Which of the following is the largest 12’18’ H

ﬁﬁIFﬁ?ﬁﬁE?E#i?ﬁﬁﬁTiTa??EEHE 11 7 llaﬂ

6"12’ 18 21

[« W T



11
12

11
12

18

11
21

11
21
Correct Ans : B

Subject : General Aptitude

Q.No: 87 HCF and LCM of the two numbers are 7 and 210 respectively. If one number is 35 find out the other number.
2427262

31 et HT HCF SR LCM %1 7 3R 210 B fE T T 35 § A G G&A1 J1d Hifore |

42
A

42

23
B

23

16
C

16

21
D

21

Correct Ans : A

Subject : General Aptitude

Q.No: 88 If the car’s speed is 27 km/hr. Calculate distance travelled by the car in 7 hours.
2427283

I TP PR P! Tq 27 fpifi/der 8, @t 7 98 & ®R gRI a9 3T TS 2 71 B
A 150 km



150 feft

242 km
B

242 fit

175 km
C

175 feeht

189 km
D

189 fotft

Correct Ans : D

Subject : General Aptitude

Q.No: 89 1If the length of a train is 200 m and it crosses a tunnel which is 250 m. If the train’s speed is 30 m/s, then calculate the time by
2427341 \hich the train crosses the tunnel.

Ife; frelt 27 Y daE 200 HieR § 3R T8 TH & HY UR FHedl g S 250 HieR 7
TR 3 1 Wi 30 Hiex § @ 5 7T &% 6 2 59 IHg a% JIT UR =l B

15s

A
15 9Fs
10s

B
10 ¥
35s

C
35 AFs
12s

D
12 dFs

Correct Ans : A

Subject : General Aptitude

Q.No: 90 A train consists of 45 carriages with it, each having length of 40 m. When an engine of length 120 m is running at the speed of 54
2427376 km/hr. Calculate the time by which the train passes the bridge which is 1200 m long.

TP o W 3P 91y 45 TSt gt 8, o ¥ Ud® B dars 40 Her gkl 81 99 @ 120 Hiex &7 $5H 54 ffl/der & IR ¥ 9 @1 |
1200 Hier T 9d ¥ ¢ {59 THg ToRd! 7, S9! 70T Hi |

205 s

205 YHs



270 s

B
270 JHs
320s

C
320 AHs
208 s

D
208 JHs

Correct Ans : D

Subject : General Aptitude

Q.No: 91 Find the smallest fraction of the following fractions?

2432023
fafafea el & 9 999 81K g 31 S
20
31
A
20
21
3
8
B
3
8
43
C
43
1
4
D
1
4

Correct Ans : C

Subject : General Aptitude

Q.No: 92 18 persons working 8 hours a day can complete 3 units of works in 10 days. How many persons are required to complete 5 units
2436091 f that work in 16 days working 15 hours a day?



18 Ifaa wfafe 8 H¢ T Fvd §U 10 37 T 3 P18 & T &R Iahd g | W T &Y 16 o F WAl 15 9 &M &R §U 5 SHR BT QT
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9

20

20
25

25

15

15
Correct Ans : C

Subject : General Aptitude

Q.No: 93 If the six digit number 6x2904 is divisible by 88, then the value of x is:

2436205
e BE-3iP! B! T 6x2904, TAT 88 J U § Y x FT A T
5
A
5
6
B
6
7
C
7
8
D
8

Correct Ans : B

Subject : General Aptitude

Q.No: 94 7Men or 8Women can finish a work in 10 days. How many days 14Men and 16Women will take to finish this job?
2438239
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B
lﬁ:[
2_
5
2_days
C
1&7_[
2_
3
1,
2 _days
2
D

Correct Ans : D

Subject : General Aptitude

Q.No: 95 40 men can catch 200 sharks in 20 days working 6 hours a day. In how many days 25 men can catch 300 sharks working 4 hours
2438324 day?

40 9¥Y 20 37 § 200 U UHS Goba & O 6 T S B &1 25 T UfY 3 4 €6 B db 300 WS Y b AT & ubs Fepal B2

30
A

30

34
B

34

24
c

24

72
D

72

Correct Ans : D

Subject : General Aptitude

Q.No: 96 In how many ways can 10 true-false questions be replied:
2444384
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20
A

20

100
B

100

512
C

512

1024
D

1024

Correct Ans : D

Subject